

MANGALORE REFINERY AND PETROCHEMICALS LIMITED

(A Govt of India Enterprise and Subsidiary of Oil & Natural Gas Corporation Limited)

Notice for Appointment for Regular and Rural Retail Outlet Dealerships in Tamil Nadu



DETAILED ADVERTISEMENT FOR RETAIL OUTLET DEALERSHIP

MRPL proposes to appoint retail outlets dealers for its HiQ outlets in the state of Tamil Nadu as per the following details:

SI No	Name of the Location	District	Type of RO	Estimated monthly sales potential #	Category	Type of site	Rent per month in Rs. Per Sq.m	in Minimum Dimension (in M.)/Area of the site (in Sq. N			Finance to be a	0 ,	Mode of Select ion	Fixed Fee / Minimu m Bid amoun t	Secur ity Depo sit
1	2	3	4	5	6	7	7a		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in Kls	SC, SC CC-1, SC PH, ST, ST CC-1, ST PH, OBC, OBC CC-1, OBC PH, OPEN, OPEN CC-1, OPEN CC-2, OPEN PH	DODO / CFS	Only for CFS sites	Frontage (m)	Depth (m)	Area (Sq M)	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots	Rs.In Lakhs	Rs.In Lakhs
1	On SH94, between Swamy Vivekanada medical college hospital and research institute, Thiruchengodu and SH94-SH86 Junction.	Namakkal	Regular	110	Open	DODO	-	35	35	1225	30	80	DOL	15	5
2	On MDR597, between NH179B-MDR597 Junction at Urapakkam and IIITDM, Kancheepuram.	Chengalpattu	Regular	110	OBC	DODO	-	30	30	900	30	80	DOL	15	4
3	On Erode Outer Ring road, between SH83A road junction and SH96 road Junction.	Erode	Regular	120	SC	CFS	53.00	30	30	900	-	-	DOL	-	3
4	On SH23, between Junction NH83 & SH23 to Maavoor Bridge.	Tiruvarur	Regular	80	Open	DODO	-	30	30	900	30	80	DOL	15	5
5	On LHS of NH38, from MDR513(Ulundurpet Road) – NH38 Junction to SSV Matric school Ulundurpet.	Kallakurichi	Regular	160	Open	DODO	-	35	35	1225	30	110	DOL	15	5
6	On SH7, Between E.S Matric Hr Sec School and V.E.T College of Education – Kanai, Viluppuram.	Villupuram	Regular	170	OBC	DODO	-	30	30	900	30	80	DOL	15	4
7	On SH157, Between Police station – Perambalur and NH136-SH157 Junction.	Perambalur	Regular	160	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
8	On NH44, between Vetri Vikas Boys Higher Sec school and Govt Higher Secondary School, Dasanaickenpatty, Salem	Salem	Regular	120	Open	DODO	-	35	35	1225	30	110	DOL	15	5
9	On LHS of NH48, from Ambur Police Station to B.S Matriculation School, Pachakuppam.	Tirupathur	Regular	150	Open	DODO	-	35	35	1225	30	110	DOL	15	5
10	On MDR979, between Arulmigu Ranganatha Swamy temple, Karamadai and MDR979 - SH80 Junction.	Coimbatore	Regular	110	OBC	DODO	-	35	35	1225	30	80	DOL	15	4
11	On SH52, between Kavarapettai-NH16 Junction and Govt high school, Guruvaraja kandigai, Gummudipoondi.	Tiruvallur	Regular	160	Open	DODO	-	30	30	900	30	80	DOL	15	5
12	On SH217, between Govt Hr Sec School, Maruthur and Govt Hr Sec School, Elaiyurvariyankaval.	Ariyalur	Regular	100	SC	CFS	23.80	30	30	900	-	-	DOL	-	3
13	On MDR342, Pattukotai Railway Station to Prime Public School CBSE, Adirampattinam.	Thanjavur	Regular	80	OBC	DODO	-	35	35	1225	30	80	DOL	15	4
14	On NH716, between Tiruvallur Taluk office and Indra Medical College and Hospitals.	Tiruvallur	Regular	150	Open CC-1	DODO	-	35	35	1225	30	110	DOL	15	5
15	On NH179A, between Annai Arts and Science College, Nambipatti, Harur and P.D.R.V Matric Hr sec school, Harur.	Dharmapuri	Regular	120	Open	DODO	-	35	35	1225	30	110	DOL	15	5
16	On SH275, within 3 Kms from NH948-SH275 Junction at Punjai Puliyampatti towards Bhavani Sagar.	Erode	Regular	110	SC	CFS	23.80	30	30	900	-	-	DOL	-	3
17	On SH210, between SH210-NH32 Junction and Vivekanada Matriculation Hr Sec School, Sirkali.	Mayiladuthurai	Regular	100	OBC	DODO	-	30	30	900	30	80	DOL	15	4
18	On Ariyalur – Sendurai road, between NH136-Sendurai road Junction and Panchayat Union Primary School, Thamaraikulam.	Ariyalur	Regular	200	Open	DODO	-	30	30	900	30	80	DOL	15	5
19	On SH12, within 5 Kms from Gudalur Tea Board Regional Office towards Pandalur.	The Nilgiris	Regular	120	Open	DODO	-	30	30	900	30	80	DOL	15	5
20	On SH71, between St. Mary's Hr. Secondary School, Manapparai to Servite College of Education for Women, Manapparai.	Tiruchirappalli	Regular	148	SC	CFS	23.80	30	30	900	-	-	DOL	-	3
21	On SH 124A between, SH124A-NH40 Junction and Govt Primary health centre, Ranipet.	Ranipet	Regular	180	OBC	DODO	-	30	30	900	30	80	DOL	15	4
22	On SH57, between Smt. Indira Gandhi statue, Manvalanagar and SH57 – SH 50B junction.	Tiruvallur	Regular	150	Open	DODO		30	30	900	30	80	DOL	15	5
23 24	On Erode OUTER Ring road, between SH83A road junction and NH381A road Junction. On SH68, between Govt Hr Sec school, Panruti and Govt Hospital, Manamthavizhaputhur, paruti.	Erode	Regular	120 160	Open CC-2 OBC CC-1	DODO	-	30	30	900	30	80	DOL	15 15	5 4
25	On LHS of NH48, 3 Kms from Seventh day Adventest Matric Hr Sec School, Ambur towards	Cuddalore Tirupathur	Regular Regular	150	SC CC-1	CFS	23.80	30	30	900	30	-	DOL	-	3
	Vinnamangalam. On SH86, between Sengunthar College of Education, Tharamangalam and Wisdom gates Matric Hr Sec						23.00	35	35	1225	20	-			
26	School, Omalur.	Salem	Regular	110	Open	DODO	-	35	35	1225	30	80	DOL	15	5
27	On SH208, between ESI Hospital and Urban primary health centre, Hosur.	Krishnagiri	Regular	150	Open	DODO		30	30	900	30	80	DOL	15	5
28	On LHS of NH79, from Veterinary college and research institute to Tagore college of education, Deviyakurichi.	Salem	Regular	180	OBC	DODO	-	35	35	1225	30	110	DOL	15	4

29	On NH42, between District Institute of Education and Training, Krishnagiri and MTV Matric Hr Sec School, Mallinayanapalli.	Krishnagiri	Regular	120	SC	CFS	23.80	35	35	1225	-	-	DOL	- 3
30	On SH71 between St.Joseph Hr Sec School, Pothamettupatti and Govt dist headquarters hospital, Manapparai.	Tiruchirappalli	Regular	110	Open	DODO	-	30	30	900	30	80	DOL	15 5
31	On SH2, between Madavaram Roundabout junction and Padi flyover junction.	Chennai	Regular	200	Open	DODO	-	20	20	400	30	80	DOL	15 5
32	On SH29, between S.E.T Vidhyadevi Hr Sec School, Pattukkottai and Agni River bridge, Kurichi.	Thanjavur	Regular	100	OBC	DODO	-	30	30	900	30	80	DOL	15 4
33	On SH79, between Elachipalayam Police Station to Govt Hr Sec School, Vaiyappamalai.	Namakkal	Regular	100	Open	DODO	-	30	30	900	30	80	DOL	15 5
34	On SH221, between Konganapuram Bus Stand and Panchayat Union Primary School, Sundamettur.	Salem	Regular	80	SC	CFS	23.80	30	30	900	-	-	DOL	- 3
35	On LHS of Villupuram-Trichy trunk road, from Theivanaiammal college for women and TNSTC Bus Depot office - Villupuram.	Villupuram	Regular	180	Open	DODO	-	30	30	900	30	80	DOL	15 5
36	On LHS of NH44 from MDR 851-NH44 Junction to Salem Airport road – NH44 Junction.	Salem	Regular	145	OBC	DODO	-	35	35	1225	30	110	DOL	15 4
37	On SH165, between SH165-SH163 Junction at Karadivavi and SH19-SH165 Junction at Kamanaikanpalayam	Tiruppur	Regular	100	Open CC-1	DODO	-	30	30	900	30	80	DOL	15 5
38	On SHU89, between Adaikala Matha College, Vallam and SHU89-MDR532 Junction.	Thanjavur	Regular	90	SC	CFS	23.80	30	30	900	-	-	DOL	- 3
39	On SH121, between Cresent college and Tagore medical college and hospital.	Chengalpattu	Regular	180	OBC	DODO	-	30	30	900	30	80	DOL	15 4
40	On Kalapatti main road, between Avinashi road Junction and Dr.NGP group of institutions.	Coimbatore	Regular	150	Open	DODO	-	35	35	1225	30	80	DOL	15 5
41	On SH130A (Pernambut main road), between Mathinampalli bus stop and Dr.B.R Ambedkar Statue at NH75-SH130A Junction, Peranambut.	Vellore	Regular	120	Open	DODO	-	30	30	900	30	80	DOL	15 5
42	On SH167, between SH167-SH164 Junction (Edayarpalayam Junction) and Bharathiar university Main entrance.	Coimbatore	Regular	180	OBC	DODO	-	30	30	900	30	80	DOL	15 4
43	On LHS of NH48, from Regional transport office Kancheepuram to L&T Engineering workshop.	Kancheepuram	Regular	200	SC	CFS	23.80	35	35	1225	-	-	DOL	- 3
44	On Perundurai road, betweenPerundurai SIPCOT industrial estate and Perundurai New bus stand.	Erode	Regular	150	Open	DODO	_	25	25	1225	30	80	DOL	15 5
ΛE			,	150	Onon	DODO		35	35	1225	30	80	DOL	15 5
45	On SH22, between kavery Matriculation school, Kumbakonam and Swamimalai Police staion. On SH5, between Wisdom College of Arts and Science for women, Cheyyar and Govt Polytechnic College -	Thanjavur	Regular	150	Open	טטטט	-	35	35	1225			DOL	
46	On SH5, between Wisdom College of Arts and Science for Women, Cheyyar and Govt Polytechnic College - Cheyyar.	Thiruvannamalai	Regular	100	OBC	DODO	-	35	35	1225	30	80	DOL	15 4
47	On SH 189, between SH189 - NH81 Junction and Karuppannan Mariappan College, Muthur	Tiruppur	Regular	100	ST	CFS	23.80	30	30	900	-	-	DOL	- 3
	On SH207 (Golden temple road) between Govt student Hostel-Anaicut and Vellore Sri Lakshmi Narayani						25.00	30	30	300				
48	Golden temple main entrance.	Vellore	Regular	160	Open	DODO	-	30	30	900	30	80	DOL	15 5
49	On SH141, between Annai Madha polytechnic college, Edacheruvi and Govt Hr sec school, Avinangudi, Thittakudi.	Cuddalore	Regular	100	Open	DODO	-	30	30	900	30	80	DOL	15 5
50	On SH94, between Municipality office - Namakkal and District collector office – Namakkal.	Namakkal	Regular	170	OBC PH	DODO	-	30	30	900	30	80	DOL	15 4
51	On Vellanaipatti Main Road, between Kathir College of Arts and Science and MDR678 – Vellanaipatti Juncion.	Coimbatore	Regular	80	SC PH	CFS	29.20	30	30	900	-	-	DOL	- 3
52	On RHS of SH58, between whitegate bus stop and Sooriyan Matriculation school.	Kancheepuram	Regular	100	Open	DODO	-	30	30	900	30	80	DOL	15 5
			ŭ		-1									
53	On MDR 985 (Pappampatti road) between Kalaignar Karunanidhi Institute Of Technology, Kannampalayam and MDR985-NH81 Junction.	Coimbatore	Regular	150	Open	DODO	-	35	35	1225	30	80	DOL	15 5
		Coimbatore Erode	Regular Regular		·	DODO	-	35 35	35 35	1225 1225	30 30	80 80	DOL	15 5 15 4
53 54	and MDR985-NH81 Junction. On SH190, from District Munisf Court Kodumudi, Salaipudur to SH84-Sh190 Junction at			150	Open			35 30		1225 900				
53 54 55 56	and MDR985-NH81 Junction. On SH190, from District Munisf Court Kodumudi, Salaipudur to SH84-Sh190 Junction at Karumandampalayam. On SH83A, bewteen TNSTC Bus Depot, Kangeyam and Buliders Engineering College. On NH81, between Petavaithalai Railway station to Perugamani Railway Station.	Erode Tiruppur Tiruchirappalli	Regular Regular Regular	150 100 80 120	Open OBC Open SC	DODO DODO CFS	- 23.80	35 30 35	35 30 35	1225 900 1225	30 30 -	80 80 -	DOL DOL	15 4 15 5 - 3
53 54 55 56 57	and MDR985-NH81 Junction. On SH190, from District Munisf Court Kodumudi, Salaipudur to SH84-Sh190 Junction at Karumandampalayam. On SH83A, bewteen TNSTC Bus Depot, Kangeyam and Buliders Engineering College. On NH81, between Petavaithalai Railway station to Perugamani Railway Station. On SH116, between Govt Hr Sec School, Mamandur and Mahindra Proving Track, cheyyar.	Erode Tiruppur Tiruchirappalli Thiruvannamalai	Regular Regular Regular Regular	150 100 80 120 100	Open OBC Open SC Open	DODO DODO CFS DODO	- - 23.80	35 30 35 35	35 30 35 35	1225 900 1225 1225	30 30 - 30	80 80 - 80	DOL DOL DOL	15 4 15 5 - 3 15 5
53 54 55 56 57 58	and MDR985-NH81 Junction. On SH190, from District Munisf Court Kodumudi, Salaipudur to SH84-Sh190 Junction at Karumandampalayam. On SH83A, bewteen TNSTC Bus Depot, Kangeyam and Buliders Engineering College. On NH81, between Petavaithalai Railway station to Perugamani Railway Station. On SH116, between Govt Hr Sec School, Mamandur and Mahindra Proving Track, cheyyar. On SH166, within 5 Kms from Govt Hospital - Avinashi towards Sevur.	Erode Tiruppur Tiruchirappalli Thiruvannamalai Tiruppur	Regular Regular Regular Regular Regular	150 100 80 120 100 80	Open OBC Open SC Open OBC	DODO DODO CFS DODO DODO	- 23.80	35 30 35 35 35	35 30 35 35 35	1225 900 1225 1225 1225	30 30 - 30 30	80 - 80 80 80	DOL DOL DOL DOL	15 4 15 5 - 3 15 5 15 4
53 54 55 56 57 58 59	and MDR985-NH81 Junction. On SH190, from District Munisf Court Kodumudi, Salaipudur to SH84-Sh190 Junction at Karumandampalayam. On SH83A, bewteen TNSTC Bus Depot, Kangeyam and Buliders Engineering College. On NH81, between Petavaithalai Railway station to Perugamani Railway Station. On SH116, between Govt Hr Sec School, Mamandur and Mahindra Proving Track, cheyyar. On SH166, within 5 Kms from Govt Hospital - Avinashi towards Sevur. On MDR 461, between Head post office Tiruchirappalli and Bishop Heber higher sec school.	Erode Tiruppur Tiruchirappalli Thiruvannamalai Tiruppur Tiruchirappalli	Regular Regular Regular Regular Regular Regular Regular	150 100 80 120 100 80 200	Open OBC Open SC Open OBC Open	DODO DODO CFS DODO DODO DODO DODO		35 30 35 35	35 30 35 35	1225 900 1225 1225	30 30 - 30	80 80 - 80	DOL DOL DOL DOL DOL DOL	15 4 15 5 - 3 15 5 15 4 15 5
53 54 55 56 57 58	and MDR985-NH81 Junction. On SH190, from District Munisf Court Kodumudi, Salaipudur to SH84-Sh190 Junction at Karumandampalayam. On SH83A, bewteen TNSTC Bus Depot, Kangeyam and Buliders Engineering College. On NH81, between Petavaithalai Railway station to Perugamani Railway Station. On SH116, between Govt Hr Sec School, Mamandur and Mahindra Proving Track, cheyyar. On SH166, within 5 Kms from Govt Hospital - Avinashi towards Sevur.	Erode Tiruppur Tiruchirappalli Thiruvannamalai Tiruppur	Regular Regular Regular Regular Regular	150 100 80 120 100 80	Open OBC Open SC Open OBC	DODO DODO CFS DODO DODO	- - 23.80 - - - 23.80	35 30 35 35 35	35 30 35 35 35	1225 900 1225 1225 1225	30 30 - 30 30	80 - 80 80 80	DOL DOL DOL DOL	15 4 15 5 - 3 15 5 15 4
53 54 55 56 57 58 59 60	and MDR985-NH81 Junction. On SH190, from District Munisf Court Kodumudi, Salaipudur to SH84-Sh190 Junction at Karumandampalayam. On SH83A, bewteen TNSTC Bus Depot, Kangeyam and Buliders Engineering College. On NH81, between Petavaithalai Railway station to Perugamani Railway Station. On SH116, between Govt Hr Sec School, Mamandur and Mahindra Proving Track, cheyyar. On SH166, within 5 Kms from Govt Hospital - Avinashi towards Sevur. On MDR 461, between Head post office Tiruchirappalli and Bishop Heber higher sec school. On SH60, between Govt Hr Sec School, kunichi and Sri Vijay Shanthi Jain Matric Hr Sec School, Tirupatur. On SH15, Between Bus stand Gopichettypalayam and Shree Venkateshwara Hi-Tech Engineering College.	Erode Tiruppur Tiruchirappalli Thiruvannamalai Tiruppur Tiruchirappalli Tirupathur Erode	Regular Regular Regular Regular Regular Regular Regular Regular	150 100 80 120 100 80 200 120 100	Open OBC Open SC Open OBC Open SC Open OBC Open	DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO		35 30 35 35 35 30 35	35 30 35 35 35 30 35	1225 900 1225 1225 1225 900 1225 900	30 30 - 30 30 30 - 30	80 - 80 80 80 - 80	DOL DOL DOL DOL DOL DOL DOL DOL DOL	15 4 15 5 - 3 15 5 15 4 15 5 - 3
53 54 55 56 57 58 59 60 61 62	and MDR985-NH81 Junction. On SH190, from District Munisf Court Kodumudi, Salaipudur to SH84-Sh190 Junction at Karumandampalayam. On SH83A, bewteen TNSTC Bus Depot, Kangeyam and Buliders Engineering College. On NH81, between Petavaithalai Railway station to Perugamani Railway Station. On SH116, between Govt Hr Sec School, Mamandur and Mahindra Proving Track, cheyyar. On SH166, within 5 Kms from Govt Hospital - Avinashi towards Sevur. On MDR 461, between Head post office Tiruchirappalli and Bishop Heber higher sec school. On SH60, between Govt Hr Sec School, kunichi and Sri Vijay Shanthi Jain Matric Hr Sec School, Tirupatur. On SH15, Between Bus stand Gopichettypalayam and Shree Venkateshwara Hi-Tech Engineering College. On NH181, between Mettupalayam Bus Stand and Panchayat Union office, karamadai.	Erode Tiruppur Tiruchirappalli Thiruvannamalai Tiruppur Tiruchirappalli Tirupathur	Regular Regular Regular Regular Regular Regular Regular Regular	150 100 80 120 100 80 200 120 100 150	Open OBC Open SC Open OBC Open SC Open	DODO DODO CFS DODO DODO DODO CFS		35 30 35 35 35 30	35 30 35 35 35 30	1225 900 1225 1225 1225 900	30 30 - 30 30 30 - 30 30 30	80 80 - 80 80 80 - 80 110	DOL DOL DOL DOL DOL DOL DOL DOL	15 4 15 5 - 3 15 5 15 4 15 5 - 3 15 5 15 4 15 5
53 54 55 56 57 58 59 60	and MDR985-NH81 Junction. On SH190, from District Munisf Court Kodumudi, Salaipudur to SH84-Sh190 Junction at Karumandampalayam. On SH83A, bewteen TNSTC Bus Depot, Kangeyam and Buliders Engineering College. On NH81, between Petavaithalai Railway station to Perugamani Railway Station. On SH116, between Govt Hr Sec School, Mamandur and Mahindra Proving Track, cheyyar. On SH166, within 5 Kms from Govt Hospital - Avinashi towards Sevur. On MDR 461, between Head post office Tiruchirappalli and Bishop Heber higher sec school. On SH60, between Govt Hr Sec School, kunichi and Sri Vijay Shanthi Jain Matric Hr Sec School, Tirupatur. On SH15, Between Bus stand Gopichettypalayam and Shree Venkateshwara Hi-Tech Engineering College.	Erode Tiruppur Tiruchirappalli Thiruvannamalai Tiruppur Tiruchirappalli Tirupathur Erode	Regular Regular Regular Regular Regular Regular Regular Regular	150 100 80 120 100 80 200 120 100	Open OBC Open SC Open OBC Open SC Open OBC Open	DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO		35 30 35 35 35 30 35	35 30 35 35 35 30 35	1225 900 1225 1225 1225 900 1225 900	30 30 - 30 30 30 - 30	80 - 80 80 80 - 80	DOL DOL DOL DOL DOL DOL DOL DOL DOL	15 4 15 5 - 3 15 5 15 4 15 5 - 3
53 54 55 56 57 58 59 60 61 62	and MDR985-NH81 Junction. On SH190, from District Munisf Court Kodumudi, Salaipudur to SH84-Sh190 Junction at Karumandampalayam. On SH83A, bewteen TNSTC Bus Depot, Kangeyam and Buliders Engineering College. On NH81, between Petavaithalai Railway station to Perugamani Railway Station. On SH116, between Govt Hr Sec School, Mamandur and Mahindra Proving Track, cheyyar. On SH166, within 5 Kms from Govt Hospital - Avinashi towards Sevur. On MDR 461, between Head post office Tiruchirappalli and Bishop Heber higher sec school. On SH60, between Govt Hr Sec School, kunichi and Sri Vijay Shanthi Jain Matric Hr Sec School, Tirupatur. On SH15, Between Bus stand Gopichettypalayam and Shree Venkateshwara Hi-Tech Engineering College. On NH181, between Mettupalayam Bus Stand and Panchayat Union office, karamadai. On MDR824, between Government Primary Health Centre Navalpattu and MDR824 & NH83 Junction at	Erode Tiruppur Tiruchirappalli Thiruvannamalai Tiruppur Tiruchirappalli Tirupathur Erode Coimbatore	Regular	150 100 80 120 100 80 200 120 100 150	Open OBC Open SC Open OBC Open SC Open ODen ODen ODen ODen	DODO CFS DODO DODO DODO CFS DODO DODO DODO DODO DODO DODO DODO DODO		35 30 35 35 35 30 35 30	35 30 35 35 35 30 35 30	1225 900 1225 1225 1225 900 1225 900 1225	30 30 - 30 30 30 - 30 30 30	80 80 - 80 80 80 - 80 110	DOL	15 4 15 5 - 3 15 5 15 4 15 5 - 3 15 5 15 4 15 5
53 54 55 56 57 58 59 60 61 62 63	and MDR985-NH81 Junction. On SH190, from District Munisf Court Kodumudi, Salaipudur to SH84-Sh190 Junction at Karumandampalayam. On SH83A, bewteen TNSTC Bus Depot, Kangeyam and Buliders Engineering College. On NH81, between Petavaithalai Railway station to Perugamani Railway Station. On SH116, between Govt Hr Sec School, Mamandur and Mahindra Proving Track, cheyyar. On SH166, within 5 Kms from Govt Hospital - Avinashi towards Sevur. On MDR 461, between Head post office Tiruchirappalli and Bishop Heber higher sec school. On SH60, between Govt Hr Sec School, kunichi and Sri Vijay Shanthi Jain Matric Hr Sec School, Tirupatur. On SH15, Between Bus stand Gopichettypalayam and Shree Venkateshwara Hi-Tech Engineering College. On NH181, between Mettupalayam Bus Stand and Panchayat Union office, karamadai. On MDR824, between Government Primary Health Centre Navalpattu and MDR824 & NH83 Junction at Thiruverambur.	Erode Tiruppur Tiruchirappalli Thiruvannamalai Tiruppur Tiruchirappalli Tirupathur Erode Coimbatore Tiruchirappalli	Regular	150 100 80 120 100 80 200 120 100 150 80	Open OBC Open SC Open OBC Open SC Open OBC Open SC OBC OBC Open	DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO DODO DODO DODO DODO DODO		35 30 35 35 35 30 35 30 35	35 30 35 35 35 30 35 30 35	1225 900 1225 1225 1225 900 1225 900 1225	30 30 - 30 30 30 - 30 30 30 30 30 30 30 30 30 30	80 80 80 80 80 80 - 80 110	DOL	15 4 15 5 - 3 15 5 15 4 15 5 - 3 15 5 15 5 5 5 5 5 5 5
53 54 55 56 57 58 59 60 61 62 63 64	and MDR985-NH81 Junction. On SH190, from District Munisf Court Kodumudi, Salaipudur to SH84-Sh190 Junction at Karumandampalayam. On SH83A, bewteen TNSTC Bus Depot, Kangeyam and Buliders Engineering College. On NH81, between Petavaithalai Railway station to Perugamani Railway Station. On SH116, between Govt Hr Sec School, Mamandur and Mahindra Proving Track, cheyyar. On SH166, within 5 Kms from Govt Hospital - Avinashi towards Sevur. On MDR 461, between Head post office Tiruchirappalli and Bishop Heber higher sec school. On SH60, between Govt Hr Sec School, kunichi and Sri Vijay Shanthi Jain Matric Hr Sec School, Tirupatur. On SH15, Between Bus stand Gopichettypalayam and Shree Venkateshwara Hi-Tech Engineering College. On NH181, between Mettupalayam Bus Stand and Panchayat Union office, karamadai. On MDR824, between Government Primary Health Centre Navalpattu and MDR824 & NH83 Junction at Thiruverambur. On NH381B, between Govt Higher Sec School, Namakkal and NH381B-NH44 Junction. On NH38, between Thiruvannamalai - Govt medical college main entrance and NH38-SH133A Junction. On SH63 between, Keelapalam bridge Junction and Arunamalai College of Education.	Erode Tiruppur Tiruchirappalli Thiruvannamalai Tiruppur Tiruchirappalli Tirupathur Erode Coimbatore Tiruchirappalli Namakkal	Regular	150 100 80 120 100 80 200 120 100 150 80 240	Open OBC Open SC Open OBC Open SC Open OPen SC OBC OPEN OBC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DODO DODO CFS DODO DODO CFS DODO	23.80	35 30 35 35 35 30 35 30 35 30	35 30 35 35 35 30 35 30 35 30	1225 900 1225 1225 1225 900 1225 900 1225 1225 900	30 30 - 30 30 30 - 30 30 30 30 30 30 30 30 30 30	80 80 80 80 80 80 - 80 110	DOL	15 4 15 5 - 3 15 5 15 4 15 5 - 3 15 5 15 5 15 4
53 54 55 56 57 58 59 60 61 62 63 64 65	and MDR985-NH81 Junction. On SH190, from District Munisf Court Kodumudi, Salaipudur to SH84-Sh190 Junction at Karumandampalayam. On SH83A, bewteen TNSTC Bus Depot, Kangeyam and Buliders Engineering College. On NH81, between Petavaithalai Railway station to Perugamani Railway Station. On SH116, between Govt Hr Sec School, Mamandur and Mahindra Proving Track, cheyyar. On SH166, within 5 Kms from Govt Hospital - Avinashi towards Sevur. On MDR 461, between Head post office Tiruchirappalli and Bishop Heber higher sec school. On SH60, between Govt Hr Sec School, kunichi and Sri Vijay Shanthi Jain Matric Hr Sec School, Tirupatur. On SH15, Between Bus stand Gopichettypalayam and Shree Venkateshwara Hi-Tech Engineering College. On NH181, between Mettupalayam Bus Stand and Panchayat Union office, karamadai. On MDR824, between Government Primary Health Centre Navalpattu and MDR824 & NH83 Junction at Thiruverambur. On NH381B, between Govt Higher Sec School, Namakkal and NH381B-NH44 Junction. On NH38, between Thiruvannamalai - Govt medical college main entrance and NH38-SH133A Junction.	Erode Tiruppur Tiruchirappalli Thiruvannamalai Tiruppur Tiruchirappalli Tirupathur Erode Coimbatore Tiruchirappalli Namakkal Thiruvannamalai	Regular	150 100 80 120 100 80 200 120 100 150 80 240 120	Open OBC Open SC Open OBC Open SC Open SC OBC Open OBC Open SC OBC Open Open SC Open Open Open Open SC Open	DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO DODO DODO CFS CFS	23.80	35 30 35 35 35 30 35 30 35 30 35	35 30 35 35 35 30 35 30 35 30 35	1225 900 1225 1225 1225 900 1225 900 1225 1225 900 1225	30 30 - 30 30 30 - 30 30 30 30 -	80 80 80 80 80 80 - 80 110 80	DOL	15 4 15 5 - 3 15 5 15 4 15 5 - 3 15 5 15 4 15 5 15 4 15 5 15 5
53 54 55 56 57 58 59 60 61 62 63 64 65 66	and MDR985-NH81 Junction. On SH190, from District Munisf Court Kodumudi, Salaipudur to SH84-Sh190 Junction at Karumandampalayam. On SH83A, bewteen TNSTC Bus Depot, Kangeyam and Buliders Engineering College. On NH81, between Petavaithalai Railway station to Perugamani Railway Station. On SH116, between Govt Hr Sec School, Mamandur and Mahindra Proving Track, cheyyar. On SH166, within 5 Kms from Govt Hospital - Avinashi towards Sevur. On MDR 461, between Head post office Tiruchirappalli and Bishop Heber higher sec school. On SH60, between Govt Hr Sec School, kunichi and Sri Vijay Shanthi Jain Matric Hr Sec School, Tirupatur. On SH15, Between Bus stand Gopichettypalayam and Shree Venkateshwara Hi-Tech Engineering College. On NH181, between Mettupalayam Bus Stand and Panchayat Union office, karamadai. On MDR824, between Government Primary Health Centre Navalpattu and MDR824 & NH83 Junction at Thiruverambur. On NH381B, between Govt Higher Sec School, Namakkal and NH381B-NH44 Junction. On NH38, between Thiruvannamalai - Govt medical college main entrance and NH38-SH133A Junction. On SH63 between, Keelapalam bridge Junction and Arunamalai College of Education. On Avinasi road between GR Damodaran Academy of Management and Govt Polytechnic College,	Erode Tiruppur Tiruchirappalli Thiruvannamalai Tiruppur Tiruchirappalli Tirupathur Erode Coimbatore Tiruchirappalli Namakkal Thiruvannamalai	Regular	150 100 80 120 100 80 200 120 100 150 80 240 120 200	Open OBC Open SC Open OBC Open SC Open OBC Open SC OBC Open OBC Open Open Open Open Open Open Open Open	DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO	23.80	35 30 35 35 35 30 35 30 35 30 35 30 35 30 35	35 30 35 35 35 30 35 30 35 30 35 30	1225 900 1225 1225 1225 900 1225 900 1225 1225 900 1225 900	30 30 30 30 30 30 30 30 30 30	80 80 80 80 80 80 80 110 80 110 80	DOL	15 4 15 5 - 3 15 5 15 4 15 5 - 3 15 5 15 4 15 5 15 4 15 5 15 5
53 54 55 56 57 58 59 60 61 62 63 64 65 66 67 68 69	and MDR985-NH81 Junction. On SH190, from District Munisf Court Kodumudi, Salaipudur to SH84-Sh190 Junction at Karumandampalayam. On SH83A, bewteen TNSTC Bus Depot, Kangeyam and Buliders Engineering College. On NH81, between Petavaithalai Railway station to Perugamani Railway Station. On SH116, between Govt Hr Sec School, Mamandur and Mahindra Proving Track, cheyyar. On SH166, within 5 Kms from Govt Hospital - Avinashi towards Sevur. On MDR 461, between Head post office Tiruchirappalli and Bishop Heber higher sec school. On SH60, between Govt Hr Sec School, kunichi and Sri Vijay Shanthi Jain Matric Hr Sec School, Tirupatur. On SH15, Between Bus stand Gopichettypalayam and Shree Venkateshwara Hi-Tech Engineering College. On NH181, between Mettupalayam Bus Stand and Panchayat Union office, karamadai. On MDR824, between Government Primary Health Centre Navalpattu and MDR824 & NH83 Junction at Thiruverambur. On NH381B, between Govt Higher Sec School, Namakkal and NH381B-NH44 Junction. On NH38, between Thiruvannamalai - Govt medical college main entrance and NH38-SH133A Junction. On SH63 between, Keelapalam bridge Junction and Arunamalai College of Education. On Avinasi road between GR Damodaran Academy of Management and Govt Polytechnic College, Coimbatore. On NH179B, between P.V Polytechnic college and SH136-N179B Junction. On SH139, between Ariyalur district collector office and SH139-NH81 junction.	Erode Tiruppur Tiruchirappalli Thiruvannamalai Tiruppur Tiruchirappalli Tirupathur Erode Coimbatore Tiruchirappalli Namakkal Thiruvannamalai Tiruvarur Coimbatore	Regular	150 100 80 120 100 80 200 120 100 150 80 240 120 180 150	Open OBC Open SC Open OBC Open SC Open SC OBC Open OBC Open Open Open Open Open Open SC SC Open Open SC Open Open Open SC Open	DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO DODO DODO DODO CFS	23.80	35 30 35 35 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 30 30 30 30 30 30 30 30 30 30 30 30	35 30 35 35 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 30 30 30 30 30 30 30 30 30 30 30 30	1225 900 1225 1225 1225 900 1225 900 1225 900 1225 900 1225 900 1225 900	30 30 30 30 30 30 30 30 30 30	80 80 80 80 80 80 110 80 110 - 80 80 110	DOL	15 4 15 5 - 3 15 5 15 4 15 5 - 3 15 5 15 4 15 5 15 5 15 5 15 5 15 5 15 5
53 54 55 56 57 58 59 60 61 62 63 64 65 66 67 68 69 70	and MDR985-NH81 Junction. On SH190, from District Munisf Court Kodumudi, Salaipudur to SH84-Sh190 Junction at Karumandampalayam. On SH83A, bewteen TNSTC Bus Depot, Kangeyam and Buliders Engineering College. On NH81, between Petavaithalai Railway station to Perugamani Railway Station. On SH116, between Govt Hr Sec School, Mamandur and Mahindra Proving Track, cheyyar. On SH166, within 5 Kms from Govt Hospital - Avinashi towards Sevur. On MDR 461, between Head post office Tiruchirappalli and Bishop Heber higher sec school. On SH60, between Govt Hr Sec School, kunichi and Sri Vijay Shanthi Jain Matric Hr Sec School, Tirupatur. On SH15, Between Bus stand Gopichettypalayam and Shree Venkateshwara Hi-Tech Engineering College. On NH181, between Mettupalayam Bus Stand and Panchayat Union office, karamadai. On MDR824, between Government Primary Health Centre Navalpattu and MDR824 & NH83 Junction at Thiruverambur. On NH381B, between Govt Higher Sec School, Namakkal and NH381B-NH44 Junction. On NH38, between Thiruvannamalai - Govt medical college main entrance and NH38-SH133A Junction. On SH63 between, Keelapalam bridge Junction and Arunamalai College of Education. On Avinasi road between GR Damodaran Academy of Management and Govt Polytechnic College, Coimbatore. On NH179B, between P.V Polytechnic college and SH136-N179B Junction. On SH139, between Ariyalur district collector office and SH139-NH81 junction. On NH132B, Between White gate bus stop and NH132B-SH58A junction at Kancheepuram.	Erode Tiruppur Tiruchirappalli Thiruvannamalai Tiruppur Tiruchirappalli Tirupathur Erode Coimbatore Tiruchirappalli Namakkal Thiruvannamalai Tiruvarur Coimbatore Villupuram Ariyalur Kancheepuram	Regular	150 100 80 120 100 80 200 120 100 150 80 240 120 180 150 180	Open OBC Open SC Open OBC Open SC Open SC OBC Open OBC Open Open Open Open Open SC Open Open Open SC Open Open Open Open Open Open	DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO DODO DODO DODO CFS DODO CFS DODO CFS DODO DODO CFS DODO DODO CFS DODO CFS DODO	23.80 - - - 23.80 - - 23.80	35 30 35 35 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35	35 30 35 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 35 30 35 35 30 35 30 35 35 30 35 35 35 35 35 36 36 36 36 36 36 36 36 36 36 36 36 36	1225 900 1225 1225 1225 900 1225 900 1225 900 1225 900 1225 900 1225 900 1225	30 30 - 30 30 30 - 30 30 30 - 30 30 30 30 30 30 30 30 30 30	80 80 80 80 80 80 110 80 110 - 80 80 110 - 110	DOL	15 4 15 5 - 3 15 5 15 4 15 5 - 3 15 5 15 4 15 5 15 5 15 5 15 4 - 3 15 5 15 5 15 5
53 54 55 56 57 58 59 60 61 62 63 64 65 66 67 68 69	and MDR985-NH81 Junction. On SH190, from District Munisf Court Kodumudi, Salaipudur to SH84-Sh190 Junction at Karumandampalayam. On SH83A, bewteen TNSTC Bus Depot, Kangeyam and Buliders Engineering College. On NH81, between Petavaithalai Railway station to Perugamani Railway Station. On SH116, between Govt Hr Sec School, Mamandur and Mahindra Proving Track, cheyyar. On SH166, within 5 Kms from Govt Hospital - Avinashi towards Sevur. On MDR 461, between Head post office Tiruchirappalli and Bishop Heber higher sec school. On SH60, between Govt Hr Sec School, kunichi and Sri Vijay Shanthi Jain Matric Hr Sec School, Tirupatur. On SH15, Between Bus stand Gopichettypalayam and Shree Venkateshwara Hi-Tech Engineering College. On NH181, between Mettupalayam Bus Stand and Panchayat Union office, karamadai. On MDR824, between Government Primary Health Centre Navalpattu and MDR824 & NH83 Junction at Thiruverambur. On NH381B, between Govt Higher Sec School, Namakkal and NH381B-NH44 Junction. On NH381, between Thiruvannamalai - Govt medical college main entrance and NH38-SH133A Junction. On SH63 between, Keelapalam bridge Junction and Arunamalai College of Education. On Avinasi road between GR Damodaran Academy of Management and Govt Polytechnic College, Coimbatore. On NH179B, between P.V Polytechnic college and SH136-N179B Junction. On SH139, between Ariyalur district collector office and SH139-NH81 junction. On NH132B, Between White gate bus stop and NH132B-SH58A junction at Kancheepuram. On Trichy road, from Govt Hospital Coimbatore to E1 Police Station, Singanallur.	Erode Tiruppur Tiruchirappalli Thiruvannamalai Tiruppur Tiruchirappalli Tirupathur Erode Coimbatore Tiruchirappalli Namakkal Thiruvannamalai Tiruvarur Coimbatore Villupuram Ariyalur	Regular	150 100 80 120 100 80 200 120 100 150 80 240 120 180 150	Open OBC Open SC Open OBC Open SC Open SC OBC Open OBC Open Open Open Open Open Open SC SC Open Open SC Open Open Open SC Open	DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO DODO DODO DODO CFS	23.80 - - - 23.80 - - 23.80	35 30 35 35 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 30 30 30 30 30 30 30 30 30 30 30 30	35 30 35 35 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 30 30 30 30 30 30 30 30 30 30 30 30	1225 900 1225 1225 1225 900 1225 900 1225 900 1225 900 1225 900 1225 900	30 30 30 30 30 30 30 30 30 30	80 80 80 80 80 80 110 80 110 - 80 80 110	DOL	15 4 15 5 - 3 15 5 15 4 15 5 - 3 15 5 15 4 15 5 15 5 15 5 15 5 15 5 15 5
53 54 55 56 57 58 59 60 61 62 63 64 65 66 67 68 69 70	and MDR985-NH81 Junction. On SH190, from District Munisf Court Kodumudi, Salaipudur to SH84-Sh190 Junction at Karumandampalayam. On SH83A, bewteen TNSTC Bus Depot, Kangeyam and Buliders Engineering College. On NH81, between Petavaithalai Railway station to Perugamani Railway Station. On SH16b, between Govt Hr Sec School, Mamandur and Mahindra Proving Track, cheyyar. On SH166, within 5 Kms from Govt Hospital - Avinashi towards Sevur. On MDR 461, between Head post office Tiruchirappalli and Bishop Heber higher sec school. On SH60, between Govt Hr Sec School, kunichi and Sri Vijay Shanthi Jain Matric Hr Sec School, Tirupatur. On SH15, Between Bus stand Gopichettypalayam and Shree Venkateshwara Hi-Tech Engineering College. On NH181, between Mettupalayam Bus Stand and Panchayat Union office, karamadai. On MDR824, between Government Primary Health Centre Navalpattu and MDR824 & NH83 Junction at Thiruverambur. On NH381B, between Govt Higher Sec School, Namakkal and NH381B-NH44 Junction. On NH38, between Thiruvannamalai - Govt medical college main entrance and NH38-SH133A Junction. On SH63 between, Keelapalam bridge Junction and Arunamalai College of Education. On NH198, between GR Damodaran Academy of Management and Govt Polytechnic College, Coimbatore. On NH199b, between P.V Polytechnic college and SH136-N179B Junction. On SH139, between Ariyalur district collector office and SH139-NH81 junction. On NH192B, Between White gate bus stop and NH132B-SH58A junction at Kancheepuram. On Trichy road, from Govt Hospital Coimbatore to E1 Police Station, Singanallur. On Sivaprakasam Salai, between Tiruchirappalli Corporation open stadium and Hindu Mission Hospital, Trichy.	Erode Tiruppur Tiruchirappalli Thiruvannamalai Tiruppur Tiruchirappalli Tirupathur Erode Coimbatore Tiruchirappalli Namakkal Thiruvannamalai Tiruvarur Coimbatore Villupuram Ariyalur Kancheepuram	Regular	150 100 80 120 100 80 200 120 100 150 80 240 120 180 150 180	Open OBC Open SC Open OBC Open SC Open SC OBC Open OBC Open Open Open Open Open SC Open Open Open SC Open Open Open Open Open Open	DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO DODO DODO DODO CFS DODO CFS DODO CFS DODO DODO CFS DODO DODO CFS DODO CFS DODO	23.80 - - - 23.80 - - 23.80	35 30 35 35 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35	35 30 35 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 35 30 35 35 30 35 30 35 35 30 35 35 35 35 35 36 36 36 36 36 36 36 36 36 36 36 36 36	1225 900 1225 1225 1225 900 1225 900 1225 900 1225 900 1225 900 1225 900 1225	30 30 - 30 30 30 - 30 30 30 - 30 30 30 30 30 30 30 30 30 30	80 80 80 80 80 80 110 80 110 - 80 80 110 - 110	DOL	15 4 15 5 - 3 15 5 15 4 15 5 - 3 15 5 15 4 15 5 15 5 15 5 15 4 - 3 15 5 15 5 15 5
53 54 55 56 57 58 59 60 61 62 63 64 65 66 67 68 69 70 71 72	and MDR985-NH81 Junction. On SH190, from District Munisf Court Kodumudi, Salaipudur to SH84-Sh190 Junction at Karumandampalayam. On SH83A, bewteen TNSTC Bus Depot, Kangeyam and Buliders Engineering College. On NH81, between Petavaithalai Railway station to Perugamani Railway Station. On SH166, between Govt Hr Sec School, Mamandur and Mahindra Proving Track, cheyyar. On SH166, within 5 Kms from Govt Hospital - Avinashi towards Sevur. On MDR 461, between Head post office Tiruchirappalli and Bishop Heber higher sec school. On SH60, between Govt Hr Sec School, kunichi and Sri Vijay Shanthi Jain Matric Hr Sec School, Tirupatur. On SH15, Between Bus stand Gopichettypalayam and Shree Venkateshwara Hi-Tech Engineering College. On NH181, between Mettupalayam Bus Stand and Panchayat Union office, karamadai. On MDR824, between Government Primary Health Centre Navalpattu and MDR824 & NH83 Junction at Thiruverambur. On NH381B, between Govt Higher Sec School, Namakkal and NH381B-NH44 Junction. On NH381B, between Thiruvannamalai - Govt medical college main entrance and NH38-SH133A Junction. On SH63 between, Keelapalam bridge Junction and Arunamalai College of Education. On Avinasi road between GR Damodaran Academy of Management and Govt Polytechnic College, Coimbatore. On NH179B, between Ariyalur district collector office and SH136-N179B Junction. On SH139, between Ariyalur district collector office and SH139-NH81 junction. On SH139, between White gate bus stop and NH132B-SH58A junction at Kancheepuram. On Trichy road, from Govt Hospital Coimbatore to E1 Police Station, Singanallur. On SH271 (Siruvani main road), between Thavathiru Santhalinga Adigalar Arts, Science and Tamil college and Siruvani mainroad — MDR 586 Junction at Madhampatti.	Erode Tiruppur Tiruchirappalli Thiruvannamalai Tiruppur Tiruchirappalli Tirupathur Erode Coimbatore Tiruchirappalli Namakkal Thiruvannamalai Tiruvarur Coimbatore Villupuram Ariyalur Kancheepuram Coimbatore Tiruchirappalli Coimbatore	Regular	150 100 80 120 100 80 200 120 100 150 80 240 120 150 180 150 180 190 100	Open OBC Open SC Open OBC Open SC OPEN OBC OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DODO DODO CFS DODO DODO CFS DODO DODO DODO DODO CFS DODO DODO CFS DODO	23.80 - - 23.80 - - 23.80 - - -	35 30 35 35 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 30 30 30 30 30 30 30 30 30 30 30 30	35 30 35 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 30 30 30 30 30 30 30 30 30 30 30 30	1225 900 1225 1225 1225 900 1225 900 1225 900 1225 900 1225 900 1225 900 1225 900 1225 900	30 30 30 30 30 30 30 30 30 30	80 80 80 80 80 80 	DOL	15 4 15 5 - 3 15 5 15 4 15 5 - 3 15 5 15 4 15 5 15 5 15 5 15 5 15 5 15 5
53 54 55 56 57 58 59 60 61 62 63 64 65 66 67 68 69 70 71 72	and MDR985-NH81 Junction. On SH190, from District Munisf Court Kodumudi, Salaipudur to SH84-Sh190 Junction at Karumandampalayam. On SH83A, bewteen TNSTC Bus Depot, Kangeyam and Buliders Engineering College. On NH81, between Petavaithalai Railway station to Perugamani Railway Station. On SH166, within 5 Kms from Govt Hr Sec School, Mamandur and Mahindra Proving Track, cheyyar. On SH166, within 5 Kms from Govt Hospital - Avinashi towards Sevur. On MDR 461, between Head post office Tiruchirappalli and Bishop Heber higher sec school. On SH60, between Govt Hr Sec School, kunichi and Sri Vijay Shanthi Jain Matric Hr Sec School, Tirupatur. On SH15, Between Bus stand Gopichettypalayam and Shree Venkateshwara Hi-Tech Engineering College. On NH181, between Mettupalayam Bus Stand and Panchayat Union office, karamadai. On MDR824, between Government Primary Health Centre Navalpattu and MDR824 & NH83 Junction at Thiruverambur. On NH381B, between Govt Higher Sec School, Namakkal and NH381B-NH44 Junction. On NH38, between Thiruvannamalai - Govt medical college main entrance and NH38-SH133A Junction. On SH63 between, Keelapalam bridge Junction and Arunamalai College of Education. On Avinasi road between GR Damodaran Academy of Management and Govt Polytechnic College, Coimbatore. On NH179B, between Ariyalur district college and SH136-N179B Junction. On SH132B, Between White gate bus stop and NH132B-SH58A junction at Kancheepuram. On Trichy road, from Govt Hospital Coimbatore to E1 Police Station, Singanallur. On SH271 (Siruvani main road), between Thavathiru Santhalinga Adigalar Arts, Science and Tamil college	Erode Tiruppur Tiruchirappalli Thiruvannamalai Tiruppur Tiruchirappalli Tirupathur Erode Coimbatore Tiruchirappalli Namakkal Thiruvannamalai Tiruvarur Coimbatore Villupuram Ariyalur Kancheepuram Coimbatore Tiruchirappalli	Regular	150 100 80 120 100 80 200 120 100 150 80 240 120 150 180 150 180 190	Open OBC Open SC Open OBC Open SC Open SC OBC Open OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DODO DODO CFS DODO DODO CFS DODO DODO DODO DODO DODO CFS DODO DODO CFS DODO	23.80 - - - 23.80 - - 23.80	35 30 35 35 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 30 30 30 30 30 30 30 30 30 30 30 30	35 30 35 35 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 30 30 30 30 30 30 30 30 30 30 30 30	1225 900 1225 1225 1225 900 1225 900 1225 900 1225 900 1225 900 1225 900 1225 900 900 1225 900	30 30 30 30 30 30 30 30 30 30	80 80 80 80 80 80 80 110 80 110 - 80 80 110 - 80 80 80 80 80 80 80 80 80 80	DOL	15 4 15 5 - 3 15 5 15 4 15 5 - 3 15 5 15 4 15 5 15 5 15 4 - 3 15 5 15 5 15 5 15 5 15 5 15 5 15 5 15
53 54 55 56 57 58 59 60 61 62 63 64 65 66 67 68 69 70 71 72 73 74 75	and MDR985-NH81 Junction. On SH190, from District Munisf Court Kodumudi, Salaipudur to SH84-Sh190 Junction at Karumandampalayam. On SH83A, bewteen TNSTC Bus Depot, Kangeyam and Buliders Engineering College. On NH81, between Petavaithalai Railway station to Perugamani Railway Station. On SH116, between Govt Hr Sec School, Mamandur and Mahindra Proving Track, cheyyar. On SH166, within 5 Kms from Govt Hospital - Avinashi towards Sevur. On MDR 461, between Head post office Tiruchirappalli and Bishop Heber higher sec school. On SH60, between Govt Hr Sec School, kunichi and Sri Vijay Shanthi Jain Matric Hr Sec School, Tirupatur. On SH15, Between Bus stand Gopichettypalayam and Shree Venkateshwara Hi-Tech Engineering College. On NH181, between Mettupalayam Bus Stand and Panchayat Union office, karamadai. On MDR824, between Government Primary Health Centre Navalpattu and MDR824 & NH83 Junction at Thiruverambur. On NH381B, between Government Primary Health Centre Navalpattu and MDR824 & NH83 Junction at Thiruverambur. On NH381B, between Thiruvannamalai - Govt medical college main entrance and NH38-SH133A Junction. On SH63 between, Keelapalam bridge Junction and Arunamalai College of Education. On Avinasi road between GR Damodaran Academy of Management and Govt Polytechnic College, Coimbatore. On NH179B, between P.V Polytechnic college and SH136-N179B Junction. On SH132B, Between Mylair district collector office and SH139-NH81 junction. On SH132B, Between Ariyalur district collector office and SH39-NH81 junction. On SH191B, Between Ariyalur district collector office and SH39-NH81 junction and Kancheepuram. On Trichy road, from Govt Hospital Coimbatore to E1 Police Station, Singanallur. On Sivaprakasam Salai, between Tiruchirappalli Corporation open stadium and Hindu Mission Hospital, Trichy. On SH271 (Siruvani main road), between Thavathiru Santhalinga Adigalar Arts, Science and Tamil college and SH270, 4 Kms from Pennagaram Judicial magistrate court towards Hogenakkal. On NH81, between Perarignar A	Erode Tiruppur Tiruchirappalli Thiruvannamalai Tiruppur Tiruchirappalli Tirupathur Erode Coimbatore Tiruchirappalli Namakkal Thiruvannamalai Tiruvarur Coimbatore Villupuram Ariyalur Kancheepuram Coimbatore Tiruchirappalli Coimbatore Tiruchirappalli	Regular	150 100 80 120 100 80 200 120 100 150 80 240 120 150 180 150 150 180 190 100 110	Open OBC Open SC Open OBC Open SC Open OBC Open OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DODO DODO CFS DODO DODO CFS DODO DODO DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO CFS DODO CFS DODO CFS DODO DODO CFS DODO DODO CFS DODO DODO DODO DODO DODO DODO DODO	23.80 - - 23.80 - - 23.80 - - -	35 30 35 35 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 30 30 30 30 30 30 30 30 30 30 30 30	35 30 35 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 30 30 30 30 30 30 30 30 30 30 30 30	1225 900 1225 1225 1225 900 1225 900 1225 900 1225 900 1225 900 1225 900 1225 900 1225 900 1225 900 1225 1225 900	30 30 30 30 30 30 30 30 30 30	80 80 80 80 80 80 80 110 80 110 - 110 80 80 80 80 80 80 110	DOL	15 4 15 5 - 3 15 5 15 4 15 5 - 3 15 5 15 4 15 5 15 5 15 4 - 3 15 5 15 5 15 5 15 5 15 4 - 3 15 5 15 5 15 4 - 3 15 5 15 5
53 54 55 56 57 58 59 60 61 62 63 64 65 66 67 68 69 70 71 72 73 74	and MDR985-NH81 Junction. On SH190, from District Munisf Court Kodumudi, Salaipudur to SH84-Sh190 Junction at Karumandampalayam. On SH83A, bewteen TNSTC Bus Depot, Kangeyam and Buliders Engineering College. On NH81, between Petavaithalai Railway station to Perugamani Railway Station. On SH116, between Govt Hr Sec School, Mamandur and Mahindra Proving Track, cheyyar. On SH166, within 5 Kms from Govt Hospital - Avinashi towards Sevur. On MDR 461, between Head post office Tiruchirappalli and Bishop Heber higher sec school. On SH60, between Govt Hr Sec School, kunichi and Sri Vijay Shanthi Jain Matric Hr Sec School, Tirupatur. On SH15, Between Bus stand Gopichettypalayam and Shree Venkateshwara Hi-Tech Engineering College. On NH181, between Mettupalayam Bus Stand and Panchayat Union office, karamadai. On MDR824, between Government Primary Health Centre Navalpattu and MDR824 & NH83 Junction at Thiruverambur. On NH381B, between Govt Higher Sec School, Namakkal and NH381B-NH44 Junction. On NH381B, between Thiruvannamalai - Govt medical college main entrance and NH38-SH133A Junction. On SH63 between, Keelapalam bridge Junction and Arunamalai College of Education. On Avinasi road between GR Damodaran Academy of Management and Govt Polytechnic College, Coimbatore. On NH179B, between P.V Polytechnic college and SH136-N179B Junction. On SH139, between Ariyalur district collector office and SH139-NH81 junction. On SH139, between White gate bus stop and NH132B-SH58A junction at Kancheepuram. On Trichy road, from Govt Hospital Coimbatore to E1 Police Station, Singanallur. On Singarakasam Salai, between Tiruchirappalli Corporation open stadium and Hindu Mission Hospital, Trichy. On SH271 (Siruvani main road), between Thavathiru Santhalinga Adigalar Arts, Science and Tamil college and Siruvani mainroad – MDR 586 Junction at Madhampatti. On SH60, 4 Kms from Pennagaram Judicial magistrate court towards Hogenakkal. On NH81, between VSB Engineering College and The Indian Public School (TIPS), Karur.	Erode Tiruppur Tiruchirappalli Thiruvannamalai Tiruppur Tiruchirappalli Tirupathur Erode Coimbatore Tiruchirappalli Namakkal Thiruvannamalai Tiruvarur Coimbatore Villupuram Ariyalur Kancheepuram Coimbatore Tiruchirappalli Coimbatore Tiruchirappalli	Regular	150 100 80 120 100 80 200 120 100 150 80 240 120 150 180 150 180 190 110	Open OBC Open SC Open OBC Open SC Open SC OBC Open OPEN OPEN OPEN OPEN OPEN OPEN OPEN OPEN	DODO DODO CFS DODO DODO CFS DODO DODO DODO DODO CFS DODO DODO CFS DODO DODO DODO CFS CFS CFS CFS DODO DODO DODO CFS CFS CFS	23.80 - - 23.80 - - 23.80 - - -	35 30 35 35 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 30 30 30 30 30 30 30 30 30 30 30 30	35 30 35 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 35 30 30 30 30 30 30 30 30 30 30 30 30 30	1225 900 1225 1225 1225 900 1225 900 1225 900 1225 900 1225 900 1225 900 1225 900 1225 900 1225	30 30 30 30 30 30 30 30 30 30	80 80 80 80 80 80 80 110 80 80 80 110 - 110 80 80 80 80 110 -	DOL	15 4 15 5 - 3 15 5 15 4 15 5 - 3 15 5 15 4 15 5 15 5 15 5 15 5 15 5 15 5

Part	70			Post la		66	656	20.20						DOI		Τ,
Part	78	On MDR461, between Kerala Ayurveda Hospital, Lingam Nagar to Government High School Kulmani.	Tiruchirappalli	Regular	80	SC	CFS	29.20	35	35	1225	-	-	DOL		3
1. Section Published Standard Sta	79	, , , , , , , , , , , , , , , , , , , ,	Ranipet	Regular	150	Open	DODO	-	35	35	1225	30	80	DOL	15	5
March Control Contro	80	On SH56, between SH2-SH56 junction and Kosasthalai River Bridge.	Chennai	Regular	200	OBC	DODO	-	20	20	400	30	80	DOL	15	4
1.	81	On SH4, 3 Kms from D2. Valathi Police station towards Chepet.	Villupuram	Regular	80	Open	DODO	-	35	35	1225	30	80	DOL	15	5
18 10 10 10 10 10 10 10	82	On SH164, between SH164-SH167 Junction (Edayarpalayam Jn) and Keratiman Matric Hr Sec school.	Coimbatore	Regular	130	Open	DODO	-	35	35	1225	30	80	DOL	15	5
Part	83	On NH32, 8 Kms from Dr.M.G.R Statue, Chitambatam towatds Kollidam River.	Cuddalore	Regular	170	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
March Marc	84	On SH70, between Sub collector office, Musiri and SB Matric Hr Sec School.	Tiruchirappalli	Regular	120	OBC	DODO	-	35	35	1225	30	80	DOL	15	4
March Marc	85		Tiruppur	Regular	120	Open	DODO	-	35	35	1225	30	80	DOL	15	5
18 10 10 11 12 13 13 15 15 15 15 15 15	86	On SH125 (Pallathur road), between Latteri Police Station (SH125-NH75 Junction) and K4 panamadangi police station.	Vellore	Regular	80	Open CC-1	DODO	-	35	35	1225	30	80	DOL	15	5
March Marc	87	On SH86, between Taluk office, Sankagiri and Sri Shanmuga Educational institutions.	Salem	Regular	130	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
Constitution Cons	88	On SH118A, Govt Boys School, Somanathapuram and Magaral police station	Kancheepuram	Regular	88	OBC	DODO	-						DOL	15	4
Page	89	On SH2, 4 kms from Puzhal-Manjambakkam Roundabout junction towards Manali.	Chennai	Regular	210	Open	DODO	-	20	20	400	30	80	DOL	15	5
Machine Mach	90	On LHS of NH132, from Govt Agricultural office Vikravandi to NH132-SH136 junction at Kooteripattu.	Villupuram	Regular	200	Open	DODO	-	35	35	1225	30	110	DOL	15	5
	91		Coimbatore	Regular	110	OBC	DODO	-	35	35	1225	30	80	DOL	15	4
Page 1987 Description	92		Dharmapuri	Regular	100	SC	CFS	29.20	30	30	900	-	-	DOL	-	3
Post	93		Cuddalore	Regular	140	Open	DODO	-				30	110	DOL	15	5
March Proceedings 10 10 10 10 10 10 10 1	0.4		\/-!!		420		0000					20	440	DO!	45	_
Section Personal Authors and Microsophic Register 100		'		_		·		-								
O. Sale, between St. Bias Villips Manor Matric in Sec. School, Ann and State A MORES Increase. Triviagonamania Segular 150 Open DOCO 20 2	95	On SH81, between NRKN High school, Kunnathur and Kunnathur municipality office.	Tiruppur	Regular	100	OBC	DODO	-	35	35	1225	30	80	DOL	15	4
20 On MORE, between SAYG Microscopic SayG Microscopic SayG and	96	On SH175, between Govt hospital Anthiyur and MDR28-SH175 Junction at Annamaduvu Roundana.	Erode	Regular	110	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
Projection Pro	97	On SH4, between Sri Bala Vidhya Mandir Matric Hr Sec School, Arni and SH4 - MDR505 Junction.	Thiruvannamalai	Regular	150	Open	DODO	-	30	30	900	30	80	DOL	15	5
No. 1.00 1	98	· · ·	Erode	Regular	120	Open	DODO	-	20	20	400	30	80	DOL	15	5
NHMA Instrument Confuger for Engineering College of Fraginary Confuger for Engineering College of Fraginary College of Engineering Coll	99	On SH79, between K.S Rangasamy college of arts and science, Thiruchengodu and SH79-SH86 Junction.	Namakkal	Regular	130	OBC	DODO	-	35	35	1225	30	80	DOL	15	4
Comparison Proceedings Procedure P	100	On SH4, between Arcot Police station and Sri Mahalakshmi Women's college of education, Arcot.	Ranipet	Regular	180	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
103 On Pallipet Rood, Deleveen Dr. Jill Ambedian Status at Metiupalayam, Vaaniyambadi and Thumberi Koot Regular 100 Open DODO - 35 35 1275 30 80 DOL 25 5 5 5 5 5 5 5 5	101		Tiruchirappalli	Regular	180	Open	DODO	-	35	35	1225	30	110	DOL	15	5
Trugsthur Negular 100 Open 1000 35 38 1225 30 80 DOL 15 5	102	On SH86, 4 Kms from Govt girls Hr sec school, Thiruchengodu towards Sankagiri	Namakkal	Regular	160	OBC	DODO	-	35	35	1225	30	80	DOL	15	4
104	103		Tirupathur	Regular	100	Open	DODO	-	35	35	1225	30	80	DOL	15	5
105 00 MBR72, between AS-plain College of Engineering & Technology NH36-MDR72 Junction at Thurjavur Regular 80 SC CTS 29.20 35 33 1225 30 80 DOL 1.5 4.5 1	104	·	Coimbatore	Regular	98	Open	DODO	-			4005	30	80	DOL	15	5
Intriparandal. Intr	105		Thanjavur	Regular	80	SC	CFS	29.20				-	-	DOL		3
107 On Us of SH13DA, From Palar river bridge to Panchayar Lution Middle School, Chinnavarigam. Triuphatur Regular 110 Open ODOD - 35 35 1225 30 80 ODU 15 5	100				200	ODC	DODO					20	00	DOL		+_
On SH30, between E4 Police Station, Thurayur to Mahatma School of Excellence, Thurayur. Truchirappalli Regular 80 Open DODO . 35 35 1225 30 80 DOL 15 5 5 5 5 5 5 5 5							1	-			+					
100 OS-ST15 (Corty, Nichtagiri Road), from Charing Cross Junction at Adam's fountain to Highland Accord Hotel at 200 OBC ODDO						·	+	-		 				1		
100 December 100 St.						-			33	33	1225	30				
111 On LHS of NH132, from NH132 - SH 136 Junction at Kooteripattu to Surya group of Institutions, Villupuram Regular 180 Open DDDO - 35 35 35 1225 30 110 DDL 15 5 112 On SH212, between Ponnapuram Panchayat union office and Ochamadam TNEB Substation. Tiruppur Regular 120 Open CC-1 DDDO - 35 35 35 1225 30 80 DDL 15 5 113 On NH77, 5 kms from Adhlyaman Public School, Uthangarai towards Singarapettal. Krishnagiri Regular 130 DBC DDDO - 30 30 30 900 30 110 DDL 15 4 114 On NH871 (Karaphudur main road) between Park's College Chinnikarai and SH166-MDR871 Junction at Velampalayam. Tiruppur Regular 80 SC CFS 29.20 35 35 1225 30 80 DDL 15 5 110 On SH108 between KV Patshala - CBSE School and TN-AP border at Krishnamarajapuram. Tiruvallur Regular 120 Open DDDO - 35 35 35 1225 30 80 DDL 15 5 110 On SH108 between Park's Cudadore and Krishnawaray College of Engineering and Technology. Cuddalore Regular 150 Open DDDO - 30 30 30 900 30 80 DDL 15 5 110 On SH101-NH3818 junction towards Erumapatti. Namakkal Regular 110 DBC DDDO - 35 35 35 1225 30 80 DDL 15 5 110 On SH217, between Panchayat Union office, Sendurai and Panchayat Union Middle School, Maruvathoor. Ariyalur Regular 160 Open DDDO - 35 35 35 1225 30 80 DDL 15 5 110 On SH101-NH3818 junction towards Erumapatti. Regular 160 Open DDDO - 35 35 35 1225 30 80 DDL 15 5 110 On SH217, between Panchayat Union office, Sendurai and Panchayat Union towards Puthiragoundampalayam via Valappadi main road, 4 Kms from NH79-Valapaddi main road Junction towards Puthiragoundampalayam via Valappadi Police station. Krishnagiri Regular 110 Open DDDO - 35 35 35 1225 30 80 DDL 15 5 110 On SH101, between Bargur Taluk office and SH131, het Ween Barg		at Doddabetta Junction.						23.80							-	
Vikravandi. Vikravandi. Vikravandi. Villupuran Regular 180 Open 0000 - 35 35 1225 30 110 0000 15 5	110		Krishnagiri	Kegular	200	ORC	роро	-	35	35	1225	30	110	DOL	15	4
113 On NH77, 5 Kms from Adhiyaman Public School, Uthangaral towards Singarapettal. 114 On MDR871 (Karaipudur main road) between Park's College Chinnikarai and SH166-MDR871 Junction at Velampalayam. 115 On SH108 between Park's College Chinnikarai and SH166-MDR871 Junction at Velampalayam. 116 On SH9, between Passport office Cuddalore and Krishnaswamy College of Engineering and Technology. 117 On SH161, 4 Kms from SH161-NH381B junction towards Erumapatti. 118 On SH217, between Panchayat Union office, Sendurai and Panchayat Union Middle School, Maruvathoor. 119 On SH217, between Panchayat Union office, Sendurai and Panchayat Union Middle School, Maruvathoor. 119 On SH217, between Panchayat Union office, Sendurai and Panchayat Union Middle School, Maruvathoor. 120 On SH38, between Ragurar Taluk office and SH131-NH48 Junction. 121 On SH38, between Ragurar Taluk office and SH131-NH48 Junction. 122 On SH189, between Ragurar Taluk office and SH131-NH48 Junction. 123 On SH189, between Fire Station Kodumudi Baliway Station. 124 On SH189, between Fire Station Kodumudi Baliway Station. 125 On SH189, between Fire Station Kodumudi Baliway Station. 126 On SH189, between Fire Station Kodumudi Baliway Station. 127 On SH189, between Fire Station Kodumudi Baliway Station. 128 On SH189, between Fire Station Kodumudi Baliway Station. 129 On SH189, between Fire Station Kodumudi Baliway Station. 120 On SH189, between Fire Station Kodumudi Baliway Station. 120 On SH189, between Fire Station Kodumudi Baliway Station. 120 On SH189, between Fire Station Kodumudi Baliway Station. 120 On SH189, between Fire Station Kodumudi Baliway Station. 120 On SH189, between Fire Station Kodumudi Baliway Station. 122 On SH189, between Fire Station Kodumudi Baliway Station. 123 On SH189, between Fire Station Kodumudi Baliway Station. 124 On SH189, between Fire Station Kodumudi Baliway Station. 125 On SH189, between Fire Station Kodumudi Baliway Station. 126 On SH189, between Fire Station Kodumudi Baliway Station. 127 On SH189	111		Villupuram	Regular	180	Open	DODO	-	35	35	1225	30	110	DOL	15	5
114 On MDR871 (Karaipudur main road) between Park's College Chinnikarai and SH166-MDR871 Junction at Velampalayam. 115 On SH9, between KV Patshala — CBSE School and TN-AP border at Krishnamarajapuram. 116 On SH9, between Park Park Park Park Park Park Park Park	112	On SH21, between Ponnapuram Panchayat union office and Oothamadam TNEB Substation.	Tiruppur	Regular	120	Open CC-1	DODO	-	35	35	1225	30	80	DOL	15	5
114 Velampalayam.	113	On NH77, 5 Kms from Adhiyaman Public School, Uthangarai towards Singarapettai.	Krishnagiri	Regular	130	OBC	DODO	-	30	30	900	30	110	DOL	15	4
116 On SH9, between Passport office Cuddalore and Krishnaswamy College of Engineering and Technology. Cuddalore Regular 150 Open DODO 30 30 900 30 80 DOL 15 5 17 On SH161, 4 Kms from SH161-NH381B junction towards Erumapatti. Namakkal Regular 110 OBC DODO 30 30 900 30 80 DOL 15 4 118 On SH217, between Panchayat Union office, Sendurai and Panchayat Union Middle School, Maruvathoor. Ariyalur Regular 100 SC CFS 23.80 35 35 1225 - DOL 3 00 Valappadi main road, 4 Kms from NH79-Valapaddi main road Junction towards Puthiragoundampalayam via Valappadi Police station. 100 On SH131, between Bargur Taluk office and SH131-NH48 Junction. Krishnagiri Regular 110 Open DODO 35 35 35 1225 30 80 DOL 15 5 120 On SH131, between Bargur Taluk office and SH131-NH48 Junction. Krishnagiri Regular 110 Open DODO 35 35 35 1225 30 80 DOL 15 5 120 On SH159, between Arakkonam Railway Sub way and Kal Aaru Bridge, Takkolam. Vellore Regular 110 Open DODO 30 30 900 30 80 DOL 15 5 122 On SH169, between Tiruppur municipal corporation office and Little flower convent matric Hr Sec School. Tiruppur Regular 110 Open DODO 30 30 900 30 80 DOL 15 5	114		Tiruppur	Regular	80	SC	CFS	29.20	35	35	1225	-	-	DOL	-	3
117 On SH161, 4 Kms from SH161-NH381B junction towards Erumapatti. Namakkal Regular 110 OBC DODO 35 35 1225 30 80 DOL 15 4 18 On SH217, between Panchayat Union office, Sendural and Panchayat Union Middle School, Maruvathoor. Ariyalur Regular 100 SC CFS 23.80 35 35 1225 DOL - 35 30 80 DOL 15 4 17 On SH181, between Panchayat Union office, Sendural and Panchayat Union Middle School, Maruvathoor. Ariyalur Regular 100 SC CFS 23.80 35 35 1225 DOL - 35 36 DOL 15 5 17 DOL - 35 37 DOL - 35 38 DOL - 36 - DOL - 37 - DOL - 38	115	On SH108 between KV Patshala – CBSE School and TN-AP border at Krishnamarajapuram.	Tiruvallur	Regular	120	Open	DODO	-	35	35	1225	30	80	DOL	15	5
117 On SH161, 4 Kms from SH161-NH381B junction towards Erumapatti. Namakkal Regular 110 OBC DDDD - 35 35 1225 30 80 DDL 15 4 118 On SH217, between Panchayat Union office, Sendurai and Panchayat Union Middle School, Maruvathoor. Ariyalur Regular 100 SC CFS 23.80 35 35 1225 DDL - 38 119 On Valappadi main road, 4 Kms from NH79-Valapaddi main road Junction towards Puthiragoundampalayam via Valappadi Police station. Salem Regular 160 Open DDDD - 35 35 1225 30 80 DDL 15 5 120 On SH131, between Bargur Taluk office and SH131-NH48 Junction. Krishnagiri Regular 110 Open DDDD - 35 35 1225 30 80 DDL 15 5 121 On SH58, between Arakkonam Railway Sub way and Kal Aaru Bridge, Takkolam. Vellore Regular 100 Open DDDD - 35 35 1225 30 80 DDL 15 5 1226 0n SH169, between Tiruppur municipal corporation office and Little flower convent matric Hr Sec School. Tiruppur Regular 100 SC CC1 CFS 23.80 35 1225 30 80 DDL 15 4 CFS 23.80 35 1225 30 80 DDL 15 5 CFS 23.80 35 1225 30 80 DDL 15 5 CFS 23.80 35 CFS 23.80 CFS	116	On SH9, between Passport office Cuddalore and Krishnaswamy College of Engineering and Technology.	Cuddalore	Regular	150	Open	DODO	-	30	30	900	30	80	DOL	15	5
On SH217, between Panchayat Union office, Sendurai and Panchayat Union Middle School, Maruvathoor. Ariyalur Regular 100 SC CFS 23.80 35 1225 DOL - 33 119 On Valappadi main road, 4 Kms from NH79-Valapaddi main road Junction towards Puthiragoundampalayam via Valappadi Police station. Salem Regular 160 Open DODO - 35 35 1225 30 80 DOL 15 5 120 On SH131, between Bargur Taluk office and SH131-NH48 Junction. Negular 110 Open DODO - 35 35 1225 30 80 DOL 15 5 On SH158, between Arakkonam Railway Sub way and Kal Aaru Bridge, Takkolam. Vellore Regular 100 SC CFS 23.80 35 1225 30 80 DOL 15 5 121 On SH158, between Arakkonam Railway Sub way and Kal Aaru Bridge, Takkolam. Vellore Regular 100 SC CFS 23.80 35 1225 30 80 DOL 15 5 122 On SH169, between Tiruppur municipal corporation office and Little flower convent matric Hr Sec School. Tiruppur Regular 100 SC CFS 23.80 35 1225 30 80 DOL 15 5 17 17 18 18 18 18 18 18 18 18	117	On SH161, 4 Kms from SH161-NH381B junction towards Frumanatti	Namakkal	Regular	110	OBC	חחחח	-				30	80	DOI	15	4
Regular 160 Open DODO - 35 35 1225 30 80 DOL 15 5 120 On SH131, between Bargur Taluk office and SH131-NH48 Junction. Krishnagiri Regular 110 Open DODO - 35 35 35 1225 30 80 DOL 15 5 121 On SH58, between Arakkonam Railway Sub way and Kal Aaru Bridge, Takkolam. Vellore Regular 10 Open DODO - 35 35 35 1225 30 80 DOL 15 5 121 On SH169, between Tiruppur municipal corporation office and Little flower convent matric Hr Sec School. Tiruppur Regular 110 Open DODO - 35 35 35 1225 30 80 DOL 15 5 121 Open DODO - 35 35 35 1225 30 80 DOL 15 4 122 On SH169, between Tiruppur municipal corporation office and Little flower convent matric Hr Sec School. Tiruppur Regular 110 Open DODO - 30 30 900 30 80 DOL 15 5 123 Open DODO - 30 30 900 900 900 900 900 900 900 900 9								23.80				-			-	
120 On SH131, between Bargur Taluk office and SH131-NH48 Junction. Krishnagiri Regular 110 Open DDDO - 35 35 1225 30 80 DOL 15 5 121 On SH58, between Arakkonam Railway Sub way and Kal Aaru Bridge, Takkolam. Vellore Regular 100 Open DDDO - 35 35 1225 30 80 DOL 15 4 122 On SH169, between Tiruppur municipal corporation office and Little flower convent matric Hr Sec School. Tiruppur Regular 110 Open DDDO - 35 35 1225 30 80 DOL 15 4 123 Open SH169, between Tiruppur municipal corporation office and Little flower convent matric Hr Sec School. Tiruppur Regular 110 Open DDDO - 30 30 900 30 80 DOL 15 5 123 Open SH189 between Fire Station Kodumudi and SH84-SH189 Junction near Kodumudi Railway Station Frode	119		Salem	Regular	160	Open	DODO	-				30	80	DOL	15	5
121 On SH58, between Arakkonam Railway Sub way and Kal Aaru Bridge, Takkolam. Vellore Regular 90 OBC DDDD - 35 35 1225 30 80 DDL 15 4 122 On SH169, between Tiruppur municipal corporation office and Little flower convent matric Hr Sec School. Tiruppur Regular 110 Open DDDD - 30 30 900 30 80 DDL 15 5 123 On SH189 between Fire Station, Kodumudi and SH84-SH189 Junction near Kodumudi Railway Station Frode Regular 100 SC CC-1 CFS 23 80 DDL - 3	120		Krishnagiri	Regular	110	Onen	DODO	 _				30	80	DOI	15	- 5
122 On SH169, between Tiruppur municipal corporation office and Little flower convent matric Hr Sec School. Tiruppur Regular 110 Open DODO - 30 30 900 30 80 DOL 15 5 123 On SH189 between Fire Station, Kodumudi and SH84-SH189 Junction near Kodumudi Railway Station Frode Regular 100 SC CC-1 CFS 23 80 - DOL - 33							+	+ -						1		4
123 On SH189 between Fire Station Kodumudi and SH84-SH189 Junction pear Kodumudi Railway Station Frode Regular 100 SC CC-1 CFS 23.80								-								
	123	On SH189, between Fire Station, Kodumudi and SH84-SH189 Junction near Kodumudi Railway Station.	Erode	Regular	100	SC CC-1	CFS	23.80	35	35	1225	-	-	DOL	-	3

				T .			1								
124	On Sarada Mill Road, between All Women Police station, Podanur and NH948-Sarada Mill Road Juncation.	Coimbatore	Regula	150	Open CC-2	DODO	-	20	20	400	30	80	DOL	15	5
125	On SH96, Between Commercial tax office Erode and Vellalar college for women.	Erode	Regula	100	OBC CC-1	DODO	-	30	30	900	30	80	DOL	15	4
126	On MDR1041 (Minjur Pulicat Rd), Govt School Thiruvellivoyal and Isral Mission Matric Sec. School.	Tiruvallur	Regula	90	Open	DODO	-	35	35	1225	30	80	DOL	15	5
127	On SH86A, between Thiruchengodu New bus stand and Sengundar arts and Science College.	Namakkal	Regula	100	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
	On Thuraiyur byepass road, between SH62-Thuraiyur byepass Junction roundabout and SH142- Thuraiyur		Ĭ		OBC						30	80		15	4
128	byepass Junction.	Tiruchirappalli	Regula			DODO	-	35	35	1225	30	80	DOL	15	
129	On NH179A, between Don Bosco School of Excellence, CBSE and Tirupathur Bus stand.	Tirupathur	Regula	_	Open	DODO	-	30	30	900	30	110	DOL	15	5
130	On SH78A, from Ramanathapuram Govt High School to TN Border limits.	Coimbatore	Regula	90	Open OBC	DODO	-	35	35	1225	30	80 80	DOL	15	5 4
131	On SH63, 2 Km from Thiruthuraipoondi railway crossing gate towards Mannargudi. On SH65, between Kudamurti river bridge at Kudavasal and St. Joshep Matriculation school, Moolangudi-	Tiruvarur	Regula	90	OBC	DODO	-	35	35	1225	30	80	DOL	15	
132	Kudavasal.	Tiruvarur	Regula	140	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
133	On SH66, between Kudamurti River Bridge at velangaiman and Govt. Polytechnic College, Valangaiman.	Tiruvarur	Regula	140	Open	DODO	-	35			30	80	DOL	15	5
134	On SH19, 5 Kms from Taluk office, Palladam towards KamanaickenPalayam.	Tiruppur	Regula	100	Open	DODO	<u> </u>	35	35 35	1225 1225	30	80	DOL	15	5
135	On MDR678, between Sub Registrar office, Gandhipuram and Govt Hr Sec School, Kalapatti.	Coimbatore	Regula		OBC	DODO	-	20	20	400	30	80	DOL	15	4
126	On SH97, between NH83-SH97 Junction at Kamarajar Statue, Udumalaipettai and Govt Union Middle	T:	Dogulo			CEC	22.00						DOL		2
136	School, Thanthoni.	Tiruppur	Regula	120	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
137	On Thiruneermalai main road, between Thiruneermalai main road and SH-48 junction and Thiruneermalai Town Panchayat office.	Chengalpattu	Regula	110	Open	DODO	-	30	30	900	30	80	DOL	15	5
138	On NH716, between GRD College of education and GRT institute of Engineering and technology.	Tiruvallur	Regula	250	Open CC-1	DODO	-	35	35	1225	30	110	DOL	15	5
139	On SH19, Between Assistant executive engineer office – (Agri Engineering dept), pollachi and	Coimbat	Dagula	180	OBC	DODO					30	80	DOL	15	4
	Ambarampalayam bridge.	Coimbatore	Regula					35	35	1225	50	00		13	
140	On SH66, between SH66-SH147 Junction and St.Xavier college of Nurusing, Kumbakonam.	Thanjavur	Regula	160	SC	CFS	23.80	30	30	900	-	-	DOL	-	3
141	On SH60, between T.N special Police VII Battalion, Pochampalli and Notre Dame Academy – ICSE.	Krishnagiri	Regula	150	Open	DODO	-	25	25	1225	30	80	DOL	15	5
142	On Perur byepass road, between NH Road Junction at Ukkadam to Roundana at Selvapuram.	Coimbatore	Regula	150	Open	DODO	-	35 20	35 20	1225 400	30	80	DOL	15	5
					· ·			20	20	400					
143	On Sangakiri main road, between Nandi circle, kondalampatti and Uthamasolapuram Thirumuthar river.	Salem	Regula	200	OBC	DODO		35	35	1225	30	80	DOL	15	4
144	On MDR607, between Jothis College of Art and Science and railway crossing, Pallikkuppam.	Vellore	Regula		Open	DODO	-	35	35	1225	30	80	DOL	15	5
145	On SH57 between Sriperambudur Sub Registerar office and Thodukadu Branch post office.	Kancheepuram	Regula		ST	CFS	23.80	35	35	1225	-	-	DOL	-	3
146	On NH716, Between Thirunindravur bus stand and Govt hr sec School – Kakkalur, Thiruvallur.	Tiruvallur	Regula	190	Open	DODO	-	30	30	900	30	110	DOL	15	5
147	On SH111 (Madavarm-Red Hills Rd), between Govt ADW Boys High School, Vadagarai and Puzhal- Manjambakkam Roundana.	Chennai	Regula	200	OBC	DODO	-	20	20	400	30	80	DOL	15	4
148	On SH4, between Fire station Gingee and TNEB electrical substation – Sittampundi.	Villupuram	Regula	160	Open	DODO	-	35	35	1225	30	80	DOL	15	5
149	On SH172, between Kangeyam bus stand and Jaycees Matric Hr Sec School, Sivanmalai.	Tiruppur	Regula		SC PH	CFS	23.80	35	35	1225	-	-	DOL	-	3
150	On Poonamallee high road, between Koyabedu flyover junction and Maduravoyal flyover junction.	Chennai	Regula	200	OBC PH	DODO	-	20	20	400	30	80	DOL	15	4
151	On SH 15, between Erode west regional transport office and Sree Amman arts & science college, Chitode.	Erode	Regula	110	Open	DODO	-	35	35	1225	30	80	DOL	15	5
152	On SH96, between Fire station kangeyam and Panchayat Union Primary School, Alambadi.	Tiruppur	Regula	80	Open	DODO	-	35	35	1225	30	80	DOL	15	5
153	On SH80, between, Revenue inspector office (Annur north div), Annur and SH80-NH948 Junction.	Coimbatore	Regula	140	ОВС	DODO	_				30	80	DOL	15	4
								35	35	1225	30			13	
154	On SH50B between NH48 – SH50B Junction and SH57 – SH50B Junction.	Kancheepuram	Regula		SC	CFS	23.80	35	35	1225	-	-	DOL	- 45	3
155 156	On Vellalore road, between CSI Union Church, Podanur and Vellalore Railway bridge. On SH58A between Anna Maaligai – TANGEDCO SE office and NH48-SH54A Junction.	Coimbatore Kancheepuram	Regula Regula		Open Open	DODO DODO	-	30 35	30 35	900 1225	30 30	80 80	DOL	15 15	5 5
		·			·		 	33	33	1223					
157	On SH19, between District Collector Office, Tiruppur and Kannamal National School, Palladam.	Tiruppur	Regula	150	OBC	DODO	-	30	30	900	30	80	DOL	15	4
158	On SH30, 4 Kms from Thammampatti Bus stand towards Malliakarai.	Salem	Regula	110	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
159	On SH198, between Regional transport office and Sri Sathiyanarayana Hospital, Kumarapalayam.	Erode	Regula	110	Open	DODO	-	35	35	1225	30	80	DOL	15	5
160	On SH222, between SH86-SH222 Junction and Sri Balamurugab Arts and Science College, Sathappadi.	Salem	Regula	120	Open	DODO	-	35	35	1225	30	80	DOL	15	5
161	On SH117, between SH117-NH32 Junction at Maduranthakam and RTO Unit office Maduranthakam.	Chengalpattu	Regula	220	Open	DODO	-	35	35	1225	30	80	DOL	15	5
162	On Chengalpattu main road, between District police office and Rajeshwari Vedhachalam Govt Arts College.	Chengalpattu	Regula	220	OBC	DODO	-	30	30	900	30	80	DOL	15	4
163	On SH273, between Town Panchayat office Kolappalur to Panchayat Union Primary School, Poosariyur.	Erode	Regula	80	SC	CFS	23.80	35			-	-	DOL	-	3
164	On MDR522, between MDR522-SH163 Junction and Karpagam Medical College - Rural Health centre,	Coimbatore	Regula	90	Open CC-1	DODO	-		35	1225	30	80	DOL	15	5
165	Thekani. On SH197, between NH81-SH197 junnction between Vellakoil and Munisipality middle school	Tiruppur	Regula		OBC	DODO	_	35	35	1225	30	80	DOL	15	4
	Theeethampalayam, Vellakoil.						_	35	35	1225			1		
166	On SH220, between Govt Hr Sec School, Vanavasi and Sri Periyamariamman Temple, Kattinaichenpatti. On SH 78, between SH78-Railway crossing junction and Tanmilnadu Govt sub health care centre,	Salem	Regula		Open	DODO		35	35	1225	30	80	DOL	15	5
167	Pilchinnampalayam.	Coimbatore	Regula		SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
168 169	On Thiruvottiyur High Road, from Tondiarpet Metro station to Mint Flyover. On SH163, between TNEB substation, Karadivavi and SH163-NH81 junction at Palladam.	Chennai Tiruppur	Regula		Open OBC	DODO DODO	 -	20 35	20 35	400 1225	30 30	80 80	DOL	15 15	5 4
170	On SH163, between TNEB substation, Karadivavi and SH163-NH81 junction at Palladam. On SH68, 5 kms from Joint sub Registrar office, Cuddalore towards Panruti.	Cuddalore	Regula Regula		Open	DODO	 -	35	35	1225	30	80	DOL	15	5
1/0	on silve, s kins it on i sonit sub negistrar office, cudualore towards Falliuti.	Cuuuaitil	Legula	1 100	I Open	1 0000		رد	رد	1663	30	00	DOL	1.0	ر

171	On LHS of NH38, 2 Kms from TNEB Substation Ulundurpet, towards Asanur.	Kallakurichi	Regular	170	Open	DODO	-	35	35	1225	30	110	DOL	15	5
172	On SH15, from Sathyamangalam Bus Stand to Govt School, Pudukothukadu.	Erode	Regular	110	SC CC-1	CFS	23.80	35	35	1225	-	-	DOL	-	3
173	On Keeranatham main road between PPG College of Nursing and Keeranatham Panchayat office.	Coimbatore	Regular	100	OBC CC-1	DODO	-	35	35	1225	30	80	DOL	15	4
174	On NH81, between Govt high school – Thalakudi and Govt Higher Secondary school – Lalgudi.	Tiruchirappalli	Regular	200	Open	DODO	-	35	35	1225	30	110	DOL	15	5
175	ON SH 131, between Sri Amritha hr sec School, Periakasinaikanpatti, Tirupathur and IVN Govt Boys High school, Gajalnayackanpatti Tirupathur.	Tirupathur	Regular	100	Open PH	DODO	-	35	35	1225	30	80	DOL	15	5
176	On NH77 between, Gandhinagar matric Hr sec school (main entrance) to Vidhyalaya college of education (main entrance) – Koatukulam	Thiruvannamalai	Regular	200	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
177	On SH81, between Uthukuli Sarvodhaya sangam and Govt Primary school, Chengappalli.	Tiruppur	Regular	130	OBC	DODO	-	35	35	1225	30	80	DOL	15	4
178	On SH126, between SH126-Ochalan Road Junction and Govt Boys High School, Arakkonam.	Ranipet	Regular	80	Open	DODO	-	35	35	1225	30	80	DOL	15	5
179	On NH38, between Govt Medical College Hospital – Vellore and Madras Matriculation Higher Sec School.	Vellore	Regular	160	OBC	DODO	-	35	35	1225	30	110	DOL	15	4
180	On NH83, between Tamil University and St. Josheph's Matric Hr Sec School, Thanjavur.	Thanjavur	Regular	150	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
181	On MDR877, between MDR877-NH948 Junction at Saravavanampatti and Dr.SNS Rajalakshmi College Of Arts and Science.	Coimbatore	Regular	150	Open	DODO	-	35	35	1225	30	80	DOL	15	5
182	On SH21, between Revenue divisional office Dharapuram and Prakruthi Public School, Panjapatty.	Tiruppur	Regular	110	Open	DODO	-	35	35	1225	30	80	DOL	15	5
183	On Salem main road at Rasipuram, between Rasipuram post office and Rasipuram TNSTC depot.	Namakkal	Regular	160	Open	DODO	-	30	30	900	30	80	DOL	15	5
184	On NH381A, between Govt Higher Secondary School, Lakkapuram and Sri Vethathri Vidhyalaya Matriculation School, Modakkurichi.	Erode	Regular	120	OBC	DODO	-	35	35	1225	30	110	DOL	15	4
185	On NH948, between Prozone mall and Sellandi Amman Temple, Kurumbapalayam.	Coimbatore	 Regular	190	SC	CFS	23.80	30	30	900	-	-	DOL	-	3
186	On LHS of NH81, from SH37-NH81 Junction to Pongalur EB substation.	Tiruppur	Regular	160	Open	DODO	-	35	35	1225	30	110	DOL	15	5
187	On NH32, 10 Kms from University College of Enginerring, pattukottai towards Muthupet.	Thanjavur	Regular	120	Open CC-1	DODO	-	35	35	1225	30	110	DOL	15	5
188	On MDR1016 (Beach Road), between NH32 Junction and Fire Station, Cuddalore.	Cuddalore	Regular	80	OBC	DODO	-	30	30	900	30	80	DOL	15	4
189	On SH161, 4 Kms from E6 Police Station, Thathiengarpet towards Urakkarai.	Tiruchirappalli	Regular	80	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
190	On SH222, between Mecheri Badrakali amman temple and Meenampark Vidhyalaya School, Mecheri.	Salem	Regular	100	Open	DODO	-	35	35	1225	30	80	DOL	15	5
191	On SH165, between PSG Hospitals Karadivavi and NH81-SH165 Junction at Karanampettai.	Tiruppur	Regular	120	OBC	DODO	-	35	35	1225	30	80	DOL	15	4
192	On SH130, between Oomerabad Police station and Dr. MG Ramachandran Statue, Venkatasamuthiram.	Tirupathur	Regular	90	Open	DODO	-	35	35	1225	30	80	DOL	15	5
193	On NH544H, between JSW Steel, Salem works and Sri Ragavendra Matric Hr Sec School, Mecheri.	Salem	Regular	120	Open	DODO	-	35	35	1225	30	110	DOL	15	5
194	On SH82, between Bannariamman Institute of Technology and SH82-NH948 Junction (Tippu sulthan road circle)	Erode	Regular	180	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
		T:							ו אר	1 1 1 1	20			1 7	4
195	On NH81, 10 Kms from NH381-NH81 Junction at Avinashipalayam to Kangeyam.	Tiruppur	Regular	120	OBC	DODO	-	35	35	1225	30	110	DOL	15	
195 196	On MDR598, between SRM Public School and Govt. Primary Health Centre, Othivakkam.	Chengalpattu	Regular Regular	125	Open	DODO	-	35 35	35	1225	30	80	DOL	15	5
-		·					-						-		
196	On MDR598, between SRM Public School and Govt. Primary Health Centre, Othivakkam. On NH136B, 10 Kms from Moovalur Moothati Ramamirtha Ammaiyar Govt Hr Sec School, Mayiladuthurai	Chengalpattu	Regular	125	Open	DODO	29.20	35	35	1225	30	80	DOL	15	5
196 197	On MDR598, between SRM Public School and Govt. Primary Health Centre, Othivakkam. On NH136B, 10 Kms from Moovalur Moothati Ramamirtha Ammaiyar Govt Hr Sec School, Mayiladuthurai towards Vaitheeswarankoil.	Chengalpattu Mayiladuthurai	Regular Regular	125 120	Open Open	DODO DODO	29.20	35 35	35 35	1225 1225	30	80	DOL	15	5
196 197 198	On MDR598, between SRM Public School and Govt. Primary Health Centre, Othivakkam. On NH136B, 10 Kms from Moovalur Moothati Ramamirtha Ammaiyar Govt Hr Sec School, Mayiladuthurai towards Vaitheeswarankoil. On MDR1073, between SH15-MDR1073 Junction at Kattabettu and MDR1073-NH181 Junction at Coonoor.	Chengalpattu Mayiladuthurai The Nilgiris	Regular Regular Regular	125 120 100	Open Open SC	DODO DODO CFS	29.20	35 35 30	35 35 30	1225 1225 900	30 30 -	80 110	DOL DOL	15 15 -	5
196 197 198 199	On MDR598, between SRM Public School and Govt. Primary Health Centre, Othivakkam. On NH136B, 10 Kms from Moovalur Moothati Ramamirtha Ammaiyar Govt Hr Sec School, Mayiladuthurai towards Vaitheeswarankoil. On MDR1073, between SH15-MDR1073 Junction at Kattabettu and MDR1073-NH181 Junction at Coonoor. On SH163, between SH163-NH83 Junction at Okkilipalayam and Luker Electric Technologies Private Ltd.	Chengalpattu Mayiladuthurai The Nilgiris Coimbatore	Regular Regular Regular Regular	125 120 100 85	Open Open SC OBC	DODO DODO CFS DODO	29.20	35 35 30 35	35 35 30 35	1225 1225 900 1225	30 30 - 30	80 110 - 80	DOL DOL DOL	15 15 - 15	5 5 3 4
196 197 198 199 200 201	On MDR598, between SRM Public School and Govt. Primary Health Centre, Othivakkam. On NH136B, 10 Kms from Moovalur Moothati Ramamirtha Ammaiyar Govt Hr Sec School, Mayiladuthurai towards Vaitheeswarankoil. On MDR1073, between SH15-MDR1073 Junction at Kattabettu and MDR1073-NH181 Junction at Coonoor. On SH163, between SH163-NH83 Junction at Okkilipalayam and Luker Electric Technologies Private Ltd. On MDR489, between Govt High School, Narasimhanaickenpalayam and Govt High School, Idigarai. On SH163, between Govt Hr Sec School, Kallapalayam and Selakarachal bus stop near MDR437 Junction. On NH36, 5 Kms from Thanthai Periyar statue at Vadalur NH road Junction towards Sethaiathoppu.	Chengalpattu Mayiladuthurai The Nilgiris Coimbatore Coimbatore Coimbatore Coimbatore	Regular Regular Regular Regular Regular Regular Regular	125 120 100 85 100 110	Open Open SC OBC Open Open Open OBC	DODO DODO CFS DODO DODO DODO DODO DODO	-	35 35 30 35 35 35	35 35 30 35 35 35	1225 1225 900 1225 1225 1225 1225	30 30 - 30 30	80 110 - 80 80	DOL DOL DOL DOL DOL DOL DOL	15 15 - 15 15	5 5 3 4 5 5
196 197 198 199 200 201 202 203	On MDR598, between SRM Public School and Govt. Primary Health Centre, Othivakkam. On NH136B, 10 Kms from Moovalur Moothati Ramamirtha Ammaiyar Govt Hr Sec School, Mayiladuthurai towards Vaitheeswarankoil. On MDR1073, between SH15-MDR1073 Junction at Kattabettu and MDR1073-NH181 Junction at Coonoor. On SH163, between SH163-NH83 Junction at Okkilipalayam and Luker Electric Technologies Private Ltd. On MDR489, between Govt High School, Narasimhanaickenpalayam and Govt High School, Idigarai. On SH163, between Govt Hr Sec School, Kallapalayam and Selakarachal bus stop near MDR437 Junction. On NH36, 5 Kms from Thanthai Periyar statue at Vadalur NH road Junction towards Sethaiathoppu. On SH22, between Govt. college of Fine Arts, Kumbakonam to Old Palakarai Bridge	Chengalpattu Mayiladuthurai The Nilgiris Coimbatore Coimbatore Coimbatore Cuddalore Thanjavur	Regular Regular Regular Regular Regular Regular Regular Regular	125 120 100 85 100 110 120 140	Open Open SC OBC Open Open Open SC SC	DODO DODO CFS DODO DODO DODO DODO CFS	23.80	35 35 30 35 35 35 35 35	35 35 30 35 35 35 35 35	1225 900 1225 1225 1225 1225 1225 900	30 30 - 30 30 30 30	80 110 - 80 80 80 110	DOL DOL DOL DOL DOL DOL DOL DOL	15 15 - 15 15 15 15	5 5 3 4 5 5 4 3
196 197 198 199 200 201	On MDR598, between SRM Public School and Govt. Primary Health Centre, Othivakkam. On NH136B, 10 Kms from Moovalur Moothati Ramamirtha Ammaiyar Govt Hr Sec School, Mayiladuthurai towards Vaitheeswarankoil. On MDR1073, between SH15-MDR1073 Junction at Kattabettu and MDR1073-NH181 Junction at Coonoor. On SH163, between SH163-NH83 Junction at Okkilipalayam and Luker Electric Technologies Private Ltd. On MDR489, between Govt High School, Narasimhanaickenpalayam and Govt High School, Idigarai. On SH163, between Govt Hr Sec School, Kallapalayam and Selakarachal bus stop near MDR437 Junction. On NH36, 5 Kms from Thanthai Periyar statue at Vadalur NH road Junction towards Sethaiathoppu.	Chengalpattu Mayiladuthurai The Nilgiris Coimbatore Coimbatore Coimbatore Coimbatore	Regular Regular Regular Regular Regular Regular Regular	125 120 100 85 100 110	Open Open SC OBC Open Open Open OBC	DODO DODO CFS DODO DODO DODO DODO DODO	-	35 30 35 35 35 35 35 30 35	35 35 30 35 35 35 35 30 35	1225 900 1225 1225 1225 1225 1225 900 1225	30 30 - 30 30 30 30	80 110 - 80 80 80 110	DOL DOL DOL DOL DOL DOL DOL	15 15 - 15 15 15	5 5 3 4 5 5
196 197 198 199 200 201 202 203 204 205	On MDR598, between SRM Public School and Govt. Primary Health Centre, Othivakkam. On NH136B, 10 Kms from Moovalur Moothati Ramamirtha Ammaiyar Govt Hr Sec School, Mayiladuthurai towards Vaitheeswarankoil. On MDR1073, between SH15-MDR1073 Junction at Kattabettu and MDR1073-NH181 Junction at Coonoor. On SH163, between SH163-NH83 Junction at Okkilipalayam and Luker Electric Technologies Private Ltd. On MDR489, between Govt High School, Narasimhanaickenpalayam and Govt High School, Idigarai. On SH163, between Govt Hr Sec School, Kallapalayam and Selakarachal bus stop near MDR437 Junction. On NH36, 5 Kms from Thanthai Periyar statue at Vadalur NH road Junction towards Sethaiathoppu. On SH22, between Govt. college of Fine Arts, Kumbakonam to Old Palakarai Bridge On SH 168, 3 Kms from SH168 – NH181 Junction at Karamadai towards Kariampalayam On NH716, between Murugappa Polytechnic College, Avadi and T9 – Pattabiram Police station.	Chengalpattu Mayiladuthurai The Nilgiris Coimbatore Coimbatore Coimbatore Cuddalore Thanjavur Coimbatore Tiruvallur	Regular	125 120 100 85 100 110 120 140 110 130	Open Open SC OBC Open Open Open Open OBC SC Open Open Open	DODO DODO CFS DODO DODO DODO CFS DODO DODO DODO DODO DODO DODO	23.80	35 30 35 35 35 35 35 30 35	35 35 30 35 35 35 35 30 35	1225 900 1225 1225 1225 1225 1225 900 1225 900	30 30 - 30 30 30 30 - 30 30	80 110 - 80 80 80 110 - 80 110	DOL	15 15 - 15 15 15 15 - 15 15	5 5 3 4 5 5 4 3 5 5
196 197 198 199 200 201 202 203 204 205 206	On MDR598, between SRM Public School and Govt. Primary Health Centre, Othivakkam. On NH136B, 10 Kms from Moovalur Moothati Ramamirtha Ammaiyar Govt Hr Sec School, Mayiladuthurai towards Vaitheeswarankoil. On MDR1073, between SH15-MDR1073 Junction at Kattabettu and MDR1073-NH181 Junction at Coonoor. On SH163, between SH163-NH83 Junction at Okkilipalayam and Luker Electric Technologies Private Ltd. On MDR489, between Govt High School, Narasimhanaickenpalayam and Govt High School, Idigarai. On SH163, between Govt Hr Sec School, Kallapalayam and Selakarachal bus stop near MDR437 Junction. On NH36, 5 Kms from Thanthai Periyar statue at Vadalur NH road Junction towards Sethaiathoppu. On SH22, between Govt. college of Fine Arts, Kumbakonam to Old Palakarai Bridge On SH 168, 3 Kms from SH168 – NH181 Junction at Karamadai towards Kariampalayam On NH716, between Murugappa Polytechnic College, Avadi and T9 – Pattabiram Police station. On SH 23, between New bharath Matric Hr sec school and vettar Kangalancheri bridge.	Chengalpattu Mayiladuthurai The Nilgiris Coimbatore Coimbatore Coimbatore Thanjavur Coimbatore Tiruvallur Tiruvarur	Regular	125 120 100 85 100 110 120 140 110 130	Open Open SC OBC Open Open Open Open OBC SC Open Open Open Open	DODO DODO CFS DODO DODO DODO CFS DODO DODO DODO DODO DODO DODO	- 23.80	35 30 35 35 35 35 35 30 35	35 35 30 35 35 35 35 30 35 30 35	1225 900 1225 1225 1225 1225 1225 900 1225 900 1225	30 30 - 30 30 30 30 - 30	80 110 - 80 80 80 110 - 80 110 80	DOL	15 15 - 15 15 15 - 15 - 15	5 5 3 4 5 5 4 3 5 5 4
196 197 198 199 200 201 202 203 204 205 206 207	On MDR598, between SRM Public School and Govt. Primary Health Centre, Othivakkam. On NH136B, 10 Kms from Moovalur Moothati Ramamirtha Ammaiyar Govt Hr Sec School, Mayiladuthurai towards Vaitheeswarankoil. On MDR1073, between SH15-MDR1073 Junction at Kattabettu and MDR1073-NH181 Junction at Coonoor. On SH163, between SH163-NH83 Junction at Okkilipalayam and Luker Electric Technologies Private Ltd. On MDR489, between Govt High School, Narasimhanaickenpalayam and Govt High School, Idigarai. On SH163, between Govt Hr Sec School, Kallapalayam and Selakarachal bus stop near MDR437 Junction. On NH36, 5 Kms from Thanthai Periyar statue at Vadalur NH road Junction towards Sethaiathoppu. On SH22, between Govt. college of Fine Arts, Kumbakonam to Old Palakarai Bridge On SH 168, 3 Kms from SH168 – NH181 Junction at Karamadai towards Kariampalayam On NH716, between Murugappa Polytechnic College, Avadi and T9 – Pattabiram Police station. On SH 23, between New bharath Matric Hr sec school and vettar Kangalancheri bridge. On SHU129 (Salem main road), Dharmapuri between SHU129 (Salem main road) – NH44 Junction and Govt	Chengalpattu Mayiladuthurai The Nilgiris Coimbatore Coimbatore Coimbatore Thanjavur Coimbatore Tiruvallur Tiruvarur Dharmapuri	Regular	125 120 100 85 100 110 120 140 110 130 150 100	Open Open SC OBC Open Open Open OBC SC Open Open Open Open SC SC Open Open OBC SC	DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO CFS CFS	23.80	35 30 35 35 35 35 35 30 35 30 35 35	35 35 30 35 35 35 35 30 35 30 35 35	1225 900 1225 1225 1225 1225 1225 900 1225 900 1225 1225	30 30 - 30 30 30 30 - 30 30 30 30	80 110 - 80 80 80 110 - 80 110	DOL	15 15 15 15 15 15 15 15 15 15 15 15 15	5 5 3 4 5 5 4 3 5 5 4 3 5
196 197 198 199 200 201 202 203 204 205 206	On MDR598, between SRM Public School and Govt. Primary Health Centre, Othivakkam. On NH136B, 10 Kms from Moovalur Moothati Ramamirtha Ammaiyar Govt Hr Sec School, Mayiladuthurai towards Vaitheeswarankoil. On MDR1073, between SH15-MDR1073 Junction at Kattabettu and MDR1073-NH181 Junction at Coonoor. On SH163, between SH163-NH83 Junction at Okkilipalayam and Luker Electric Technologies Private Ltd. On MDR489, between Govt High School, Narasimhanaickenpalayam and Govt High School, Idigarai. On SH163, between Govt Hr Sec School, Kallapalayam and Selakarachal bus stop near MDR437 Junction. On NH36, 5 Kms from Thanthai Periyar statue at Vadalur NH road Junction towards Sethaiathoppu. On SH22, between Govt. college of Fine Arts, Kumbakonam to Old Palakarai Bridge On SH 168, 3 Kms from SH168 – NH181 Junction at Karamadai towards Kariampalayam On NH716, between Murugappa Polytechnic College, Avadi and T9 – Pattabiram Police station. On SH 23, between New bharath Matric Hr sec school and vettar Kangalancheri bridge. On SHU129 (Salem main road), Dharmapuri between SHU129 (Salem main road) – NH44 Junction and Govt On LHS of NH16, from Kavarapettai Junction to TamilNadu – AndraPradesh border.	Chengalpattu Mayiladuthurai The Nilgiris Coimbatore Coimbatore Coimbatore Cuddalore Thanjavur Coimbatore Tiruvallur Tiruvarur Dharmapuri Tiruvallur	Regular	125 120 100 85 100 110 120 140 110 130 150 100 180	Open Open SC OBC Open Open Open OBC SC Open Open OBC SC Open OBC SC Open	DODO DODO DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO	- 23.80	35 30 35 35 35 35 35 30 35	35 35 30 35 35 35 30 35 30 35 35 35 35	1225 900 1225 1225 1225 1225 1225 900 1225 900 1225	30 30 - 30 30 30 30 - 30 30	80 110 - 80 80 80 110 - 80 110 80	DOL	15 15 15 15 15 15 15 15 15 15 15 15 15	5 5 3 4 5 5 4 3 5 5 4 3 5
196 197 198 199 200 201 202 203 204 205 206 207 208	On MDR598, between SRM Public School and Govt. Primary Health Centre, Othivakkam. On NH136B, 10 Kms from Moovalur Moothati Ramamirtha Ammaiyar Govt Hr Sec School, Mayiladuthurai towards Vaitheeswarankoil. On MDR1073, between SH15-MDR1073 Junction at Kattabettu and MDR1073-NH181 Junction at Coonoor. On SH163, between SH163-NH83 Junction at Okkilipalayam and Luker Electric Technologies Private Ltd. On MDR489, between Govt High School, Narasimhanaickenpalayam and Govt High School, Idigarai. On SH163, between Govt Hr Sec School, Kallapalayam and Selakarachal bus stop near MDR437 Junction. On NH36, 5 Kms from Thanthai Periyar statue at Vadalur NH road Junction towards Sethaiathoppu. On SH22, between Govt. college of Fine Arts, Kumbakonam to Old Palakarai Bridge On SH 168, 3 Kms from SH168 – NH181 Junction at Karamadai towards Kariampalayam On NH716, between Murugappa Polytechnic College, Avadi and T9 – Pattabiram Police station. On SH 23, between New bharath Matric Hr sec school and vettar Kangalancheri bridge. On SHU129 (Salem main road), Dharmapuri between SHU129 (Salem main road) – NH44 Junction and Govt	Chengalpattu Mayiladuthurai The Nilgiris Coimbatore Coimbatore Coimbatore Thanjavur Coimbatore Tiruvallur Tiruvarur Dharmapuri	Regular	125 120 100 85 100 110 120 140 110 130 150 100	Open Open SC OBC Open Open Open OBC SC Open Open Open Open SC SC Open Open OBC SC	DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO CFS CFS	- - 23.80 - - 29.20	35 35 35 35 35 35 30 35 30 35 35 35 35 35	35 35 30 35 35 35 30 35 30 35 35 35 35 35	1225 900 1225 1225 1225 1225 1225 900 1225 900 1225 1225 1225 1225 1225	30 30 - 30 30 30 30 - 30 30 - 30	80 110 - 80 80 80 110 - 80 110 80 - 110	DOL	15 15 15 15 15 15 15 15 15 15 15 15 15	5 5 3 4 5 5 4 3 5 5 4 3 5
196 197 198 199 200 201 202 203 204 205 206 207 208 209	On MDR598, between SRM Public School and Govt. Primary Health Centre, Othivakkam. On NH136B, 10 Kms from Moovalur Moothati Ramamirtha Ammaiyar Govt Hr Sec School, Mayiladuthurai towards Vaitheeswarankoil. On MDR1073, between SH15-MDR1073 Junction at Kattabettu and MDR1073-NH181 Junction at Coonoor. On SH163, between SH163-NH83 Junction at Okkilipalayam and Luker Electric Technologies Private Ltd. On MDR489, between Govt High School, Narasimhanaickenpalayam and Govt High School, Idigarai. On SH163, between Govt Hr Sec School, Kallapalayam and Selakarachal bus stop near MDR437 Junction. On NH36, 5 Kms from Thanthai Periyar statue at Vadalur NH road Junction towards Sethaiathoppu. On SH22, between Govt. college of Fine Arts, Kumbakonam to Old Palakarai Bridge On SH 168, 3 Kms from SH168 – NH181 Junction at Karamadai towards Kariampalayam On NH716, between Murugappa Polytechnic College, Avadi and T9 – Pattabiram Police station. On SH 23, between New bharath Matric Hr sec school and vettar Kangalancheri bridge. On SHU129 (Salem main road), Dharmapuri between SHU129 (Salem main road) – NH44 Junction and Govt On LHS of NH16, from Kavarapettai Junction to TamilNadu – AndraPradesh border. On NH75, between Combined Court complex, Katpadi and SH125-NH75 Junction at Latteri. On Pudukottai road, between Sivaji Ganesan statue and Pudukottai road- NH36 junction at roundabout.	Chengalpattu Mayiladuthurai The Nilgiris Coimbatore Coimbatore Coimbatore Cuddalore Thanjavur Coimbatore Tiruvallur Tiruvarur Dharmapuri Tiruvallur Vellore Thanjavur	Regular	125 120 100 85 100 110 120 140 110 130 150 100 180 125	Open Open SC OBC Open Open Open OBC SC Open Open OBC SC Open OBC SC Open Open OBC ODen ODen ODen	DODO DODO DODO DODO CFS DODO DODO DODO CFS DODO DODO DODO DODO DODO DODO DODO DO	- - 23.80 - - 29.20	35 30 35 35 35 35 30 35 35 35 35 35 35 35	35 35 30 35 35 35 30 35 30 35 35 35 35 35 35	1225 1225 900 1225 1225 1225 1225 900 1225 1225 1225 1225 1225 1225 1225	30 30 - 30 30 30 30 - 30 30 - 30 30 30 30	80 110 - 80 80 80 110 - 80 110 80 - 110 110	DOL	15 15 15 15 15 15 15 15 15 15 15 15 15 1	5 5 3 4 5 5 4 3 5 5 4 3 5 5
196 197 198 199 200 201 202 203 204 205 206 207 208 209 210	On MDR598, between SRM Public School and Govt. Primary Health Centre, Othivakkam. On NH136B, 10 Kms from Moovalur Moothati Ramamirtha Ammaiyar Govt Hr Sec School, Mayiladuthurai towards Vaitheeswarankoil. On MDR1073, between SH15-MDR1073 Junction at Kattabettu and MDR1073-NH181 Junction at Coonoor. On SH163, between SH163-NH83 Junction at Okkilipalayam and Luker Electric Technologies Private Ltd. On MDR489, between Govt High School, Narasimhanaickenpalayam and Govt High School, Idigarai. On SH163, between Govt Hr Sec School, Kallapalayam and Selakarachal bus stop near MDR437 Junction. On NH36, 5 Kms from Thanthai Periyar statue at Vadalur NH road Junction towards Sethaiathoppu. On SH22, between Govt. college of Fine Arts, Kumbakonam to Old Palakarai Bridge On SH 168, 3 Kms from SH168 – NH181 Junction at Karamadai towards Kariampalayam On NH716, between Murugappa Polytechnic College, Avadi and T9 – Pattabiram Police station. On SH 23, between New bharath Matric Hr sec school and vettar Kangalancheri bridge. On SHU129 (Salem main road), Dharmapuri between SHU129 (Salem main road) – NH44 Junction and Govt On LHS of NH16, from Kavarapettai Junction to TamilNadu – AndraPradesh border. On NH75, between Combined Court complex, Katpadi and SH125-NH75 Junction at Latteri. On Pudukottai road, between Sivaji Ganesan statue and Pudukottai road- NH36 junction at roundabout. On SH6, between Govt Girls Hr sec school - Sankarapuram and TNEB sub-store Sankarapuram. On SHN2 (Tiruppur Ring Road), between SHN2-SH19 Junction and Shn2-NH381 Junction at	Chengalpattu Mayiladuthurai The Nilgiris Coimbatore Coimbatore Cuddalore Thanjavur Coimbatore Tiruvallur Tiruvarur Dharmapuri Tiruvallur Vellore	Regular	125 120 100 85 100 110 120 140 110 130 150 100 180 125	Open Open SC OBC Open Open Open OBC SC Open Open Open Open Open Open Open Open	DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO DODO DODO CFS DODO DODO	- - 23.80 - - 29.20	35 35 35 35 35 35 35 30 35 35 35 35 35 35 35 35 35 35	35 35 30 35 35 35 35 30 35 35 35 35 35 35 35 35 35	1225 1225 900 1225 1225 1225 1225 900 1225 1225 1225 1225 1225 1225 1225 12	30 30 - 30 30 30 30 - 30 30 - 30 30 30 30 30 30 30 30 30 30 30 30 30	80 110 - 80 80 110 - 80 110 - 80 110 80 - 110 110 80	DOL	15 15 15 15 15 15 15 15 15 15 15 15 15 1	5 5 3 4 5 5 4 3 5 5 4 3 5 4 4
196 197 198 199 200 201 202 203 204 205 206 207 208 209 210 211 212	On MDR598, between SRM Public School and Govt. Primary Health Centre, Othivakkam. On NH136B, 10 Kms from Moovalur Moothati Ramamirtha Ammaiyar Govt Hr Sec School, Mayiladuthurai towards Vaitheeswarankoil. On MDR1073, between SH15-MDR1073 Junction at Kattabettu and MDR1073-NH181 Junction at Coonoor. On SH163, between SH163-NH83 Junction at Okkilipalayam and Luker Electric Technologies Private Ltd. On MDR489, between Govt High School, Narasimhanaickenpalayam and Govt High School, Idigarai. On SH163, between Govt Hr Sec School, Kallapalayam and Selakarachal bus stop near MDR437 Junction. On NH36, 5 Kms from Thanthai Periyar statue at Vadalur NH road Junction towards Sethaiathoppu. On SH22, between Govt. college of Fine Arts, Kumbakonam to Old Palakarai Bridge On SH 168, 3 Kms from SH168 – NH181 Junction at Karamadai towards Kariampalayam On NH716, between Murugappa Polytechnic College, Avadi and T9 – Pattabiram Police station. On SH 23, between New bharath Matric Hr sec school and vettar Kangalancheri bridge. On SHU129 (Salem main road), Dharmapuri between SHU129 (Salem main road) – NH44 Junction and Govt On LHS of NH16, from Kavarapettai Junction to TamilNadu – AndraPradesh border. On NH75, between Combined Court complex, Katpadi and SH125-NH75 Junction at Latteri. On Pudukottai road, between Sivaji Ganesan statue and Pudukottai road- NH36 junction at roundabout. On SH6, between Govt Girls Hr sec school - Sankarapuram and TNEB sub-store Sankarapuram. On SHN2 (Tiruppur Ring Road), between SHN2-SH19 Junction and Shn2-NH381 Junction at	Chengalpattu Mayiladuthurai The Nilgiris Coimbatore Coimbatore Coimbatore Cuddalore Thanjavur Coimbatore Tiruvallur Tiruvarur Dharmapuri Tiruvallur Vellore Thanjavur Kallakurichi Tiruppur	Regular	125 120 100 85 100 110 120 140 110 130 150 100 180 125 150 180 100	Open Open SC OBC Open Open Open OBC SC Open Open OBC SC Open Open OBC SC Open Open Open OBC SC Open Open OSC SC Open Open OSC Open	DODO DODO CFS DODO DODO CFS DODO DODO DODO CFS DODO DODO CFS DODO DODO CFS CFS DODO DODO CFS CFS CFS DODO DODO CFS	- - 23.80 - - 29.20 - -	35 35 35 35 35 35 30 35 35 35 35 35 35 35 35 35 35 35 35 35	35 35 35 35 35 35 35 30 35 35 35 35 35 35 35 35 35 35 35 35 35	1225 900 1225 1225 1225 1225 1225 900 1225 1225 1225 1225 1225 900 1225 900 1225	30 30 30 30 30 30 30 30 30 30 30 30 30	80 110 - 80 80 80 110 - 80 110 - 80 110 80 - 110 110 80 - 80 -	DOL	15 15 15 15 15 15 15 15 15 15 15 15 15 1	5 5 3 4 5 5 5 4 3 5 5 4 3 5 5 4 3 5 5
196 197 198 199 200 201 202 203 204 205 206 207 208 209 210	On MDR598, between SRM Public School and Govt. Primary Health Centre, Othivakkam. On NH136B, 10 Kms from Moovalur Moothati Ramamirtha Ammaiyar Govt Hr Sec School, Mayiladuthurai towards Vaitheeswarankoil. On MDR1073, between SH15-MDR1073 Junction at Kattabettu and MDR1073-NH181 Junction at Coonoor. On SH163, between SH163-NH83 Junction at Okkilipalayam and Luker Electric Technologies Private Ltd. On MDR489, between Govt High School, Narasimhanaickenpalayam and Govt High School, Idigarai. On SH163, between Govt Hr Sec School, Kallapalayam and Selakarachal bus stop near MDR437 Junction. On NH36, 5 Kms from Thanthai Periyar statue at Vadalur NH road Junction towards Sethaiathoppu. On SH22, between Govt. college of Fine Arts, Kumbakonam to Old Palakarai Bridge On SH 168, 3 Kms from SH168 – NH181 Junction at Karamadai towards Kariampalayam On NH716, between Murugappa Polytechnic College, Avadi and T9 – Pattabiram Police station. On SH 23, between New bharath Matric Hr sec school and vettar Kangalancheri bridge. On SHU129 (Salem main road), Dharmapuri between SHU129 (Salem main road) – NH44 Junction and Govt On LHS of NH16, from Kavarapettai Junction to TamilNadu – AndraPradesh border. On NH75, between Combined Court complex, Katpadi and SH125-NH75 Junction at Latteri. On Pudukottai road, between Sivaji Ganesan statue and Pudukottai road- NH36 junction at roundabout. On SH6, between Govt Girls Hr sec school - Sankarapuram and TNEB sub-store Sankarapuram. On SHN2 (Tiruppur Ring Road), between SHN2-SH19 Junction and Shn2-NH381 Junction at	Chengalpattu Mayiladuthurai The Nilgiris Coimbatore Coimbatore Cuddalore Thanjavur Coimbatore Tiruvallur Tiruvarur Dharmapuri Tiruvallur Vellore Thanjavur Kallakurichi	Regular	125 120 100 85 100 110 120 140 110 130 150 100 180 125 150 180	Open Open SC OBC Open Open Open OBC SC Open Open Open OBC SC Open Open Open Open Open Open Open Open	DODO DODO CFS DODO DODO CFS DODO DODO DODO CFS DODO DODO DODO DODO DODO DODO DODO DO	- - 23.80 - - 29.20 - -	35 35 30 35 35 35 30 35 35 30 35 35 30 35 35 30 35 35 30 35 35 30 35 35 30 35 35 30 35 35 35 35 35 35 35 35 35 35	35 35 30 35 35 35 30 35 35 30 35 35 30 35 35 30 35 35 30 35 35 30 35 35 30 35 35 30 35 35 35 35 35 35 35 35 35 35	1225 1225 900 1225 1225 1225 1225 900 1225 1225 1225 1225 1225 1225 1225 900 1225	30 30 - 30 30 30 30 - 30 30 - 30 30 30 30	80 110 - 80 80 110 - 80 110 - 80 110 80 - 110 110 80	DOL	15 15 15 15 15 15 15 15 15 15 15 15 15 1	5 5 3 4 5 5 4 3 5 5 4 3 5 5 4 4 3 5 5
196 197 198 199 200 201 202 203 204 205 206 207 208 209 210 211 212 213	On MDR598, between SRM Public School and Govt. Primary Health Centre, Othivakkam. On NH136B, 10 kms from Moovalur Moothati Ramamirtha Ammaiyar Govt Hr Sec School, Mayiladuthurai towards Vaitheeswarankoil. On MDR1073, between SH15-MDR1073 Junction at Kattabettu and MDR1073-NH181 Junction at Coonoor. On SH163, between SH163-NH83 Junction at Okkilipalayam and Luker Electric Technologies Private Ltd. On MDR489, between Govt High School, Narasimhanaickenpalayam and Govt High School, Idigarai. On SH163, between Govt Hr Sec School, Kallapalayam and Selakarachal bus stop near MDR437 Junction. On NH36, 5 kms from Thanthai Periyar statue at Vadalur NH road Junction towards Sethaiathoppu. On SH22, between Govt. college of Fine Arts, Kumbakonam to Old Palakarai Bridge On SH 168, 3 kms from SH168 – NH181 Junction at Karamadai towards Kariampalayam On NH716, between Murugappa Polytechnic College, Avadi and T9 – Pattabiram Police station. On SH 23, between New bharath Matric Hr sec school and vettar Kangalancheri bridge. On SHU129 (Salem main road), Dharmapuri between SHU129 (Salem main road) – NH44 Junction and Govt On LHS of NH16, from Kavarapettai Junction to TamilNadu – AndraPradesh border. On NH75, between Combined Court complex, Katpadi and SH125-NH75 Junction at Latteri. On Pudukottai road, between Sivaji Ganesan statue and Pudukottai road- NH36 junction at roundabout. On SH6, between Govt Girls Hr sec school - Sankarapuram and TNEB sub-store Sankarapuram. On SH02 (Tiruppur Ring Road), between SHN2-SH19 Junction and Shn2-NH381 Junction at Palavanjipalayam Pirivu Bus Stop. On SH56, between Minjur Railway station and Jaigopal Garodia Girls Hr Sec School, Ponneri. On Cuddalore main road, between Periyar memorial Pillar and Holy cross international school, Ammapet. On Trichy main road, Between St. Theresa's girls Hr Sec School and Chettinad College of Engineering and	Chengalpattu Mayiladuthurai The Nilgiris Coimbatore Coimbatore Cuddalore Thanjavur Coimbatore Tiruvallur Tiruvarur Dharmapuri Tiruvallur Vellore Thanjavur Kallakurichi Tiruppur Tiruvallur	Regular	125 120 100 85 100 110 120 140 110 130 150 100 180 125 150 180 100 160	Open Open SC OBC Open Open Open OBC SC Open Open Open OBC SC Open Open Open Open OBC SC Open Open OBC Open ODen OBC ODen ODen OBC ODen	DODO DODO CFS DODO DODO DODO DODO DODO DODO DODO DO	- - 23.80 - - 29.20 - -	35 35 35 35 35 35 35 30 35 35 35 35 35 30 35 35 30 35 35 35 35 35 35 35 35 35 35 35 35 35	35 35 30 35 35 35 30 35 35 30 35 35 30 35 35 30 35 35 30 35 35 30 30 30 30 30 30 30 30 30 30	1225 1225 900 1225 1225 1225 1225 900 1225 1225 1225 1225 1225 1225 1225 900 1225 1225 900 1225	30 30 30 30 30 30 30 30 30 30 30 30 30 3	80 110 - 80 80 80 80 110 - 80 110 - 80 - 110 110 80 - 80 -	DOL	15 15 15 15 15 15 15 15 15 15 15 15 15 1	5 5 3 4 5 5 5 4 3 5 5 4 3 5 5 4 4 3 5 5 4 4 3 5 5 4 4 4 4
196 197 198 199 200 201 202 203 204 205 206 207 208 209 210 211 212 213 214	On MDR598, between SRM Public School and Govt. Primary Health Centre, Othivakkam. On NH136B, 10 kms from Moovalur Moothati Ramamirtha Ammaiyar Govt Hr Sec School, Mayiladuthurai towards Vaitheeswarankoil. On MDR1073, between SH15-MDR1073 Junction at Kattabettu and MDR1073-NH181 Junction at Coonoor. On SH163, between SH163-NH83 Junction at Okkilipalayam and Luker Electric Technologies Private Ltd. On MDR489, between Govt High School, Narasimhanaickenpalayam and Govt High School, Idigarai. On SH163, between Govt Hr Sec School, Kallapalayam and Selakarachal bus stop near MDR437 Junction. On NH36, 5 kms from Thanthai Periyar statue at Vadalur NH road Junction towards Sethaiathoppu. On SH22, between Govt. college of Fine Arts, Kumbakonam to Old Palakarai Bridge On SH 168, 3 kms from SH168 – NH181 Junction at Karamadai towards Kariampalayam On NH716, between Murugappa Polytechnic College, Avadi and T9 – Pattabiram Police station. On SH 23, between New bharath Matric Hr sec school and vettar Kangalancheri bridge. On SHU129 (Salem main road), Dharmapuri between SHU129 (Salem main road) – NH44 Junction and Govt On LHS of NH16, from Kavarapettai Junction to TamilNadu – AndraPradesh border. On NH75, between Combined Court complex, Katpadi and SH125-NH75 Junction at Latteri. On Pudukottai road, between Sivaji Ganesan statue and Pudukottai road- NH36 junction at roundabout. On SH6, between Govt Girls Hr sec school - Sankarapuram and TNEB sub-store Sankarapuram. On SHN2 (Tiruppur Ring Road), between SHN2-SH19 Junction and Shn2-NH381 Junction at Palavanjipalayam Pirivu Bus Stop. On SH56, between Minjur Railway station and Jaigopal Garodia Girls Hr Sec School, Ponneri. On Cuddalore main road, between Periyar memorial Pillar and Holy cross international school, Ammapet.	Chengalpattu Mayiladuthurai The Nilgiris Coimbatore Coimbatore Cuddalore Thanjavur Coimbatore Tiruvallur Tiruvarur Dharmapuri Tiruvallur Vellore Thanjavur Kallakurichi Tiruppur Tiruvallur	Regular	125 120 100 85 100 110 120 140 110 130 150 100 180 125 150 180 100 160 200	Open Open SC OBC Open Open Open OBC SC Open Open Open OBC SC Open Open Open Open OBC SC Open Open Open Open OBC Open Open Open OBC Open Open	DODO DODO CFS DODO DODO DODO DODO DODO DODO DODO DO	- - 23.80 - - 29.20 - -	35 36 37 38 38 38 38 38 39 30 35 35 36 37 38 38 38 38 38 38 38 38 38 38	35 35 30 35 35 35 30 35 35 35 35 35 35 35 35 35 35	1225 1225 900 1225 1225 1225 1225 900 1225 1225 1225 1225 1225 1225 1225 12	30 30 30 30 30 30 30 30 30 30 30 30 30 3	80 110 - 80 80 80 80 110 - 80 110 - 80 110 80 - 110 110 80 80 - 80 80 80	DOL	15 15 15 15 15 15 15 15 15 15 15 15 15 1	5 5 3 4 5 5 5 4 3 5 5 5 4 5 5 4 5 5 4 5 5 5 4 5 5 5 5
196 197 198 199 200 201 202 203 204 205 206 207 208 209 210 211 212 213 214 215	On MDR598, between SRM Public School and Govt. Primary Health Centre, Othivakkam. On NH136B, 10 Kms from Moovalur Moothati Ramamirtha Ammaiyar Govt Hr Sec School, Mayiladuthurai towards Vaitheeswarankoil. On MDR1073, between SH15-MDR1073 Junction at Kattabettu and MDR1073-NH181 Junction at Coonoor. On SH163, between SH163-NH83 Junction at Okkilipalayam and Luker Electric Technologies Private Ltd. On MDR489, between Govt High School, Narasimhanaickenpalayam and Govt High School, Idigarai. On SH163, between Govt Hr Sec School, Kallapalayam and Selakarachal bus stop near MDR437 Junction. On NH36, 5 Kms from Thanthai Periyar statue at Vadalur NH road Junction towards Sethaiathoppu. On SH22, between Govt. college of Fine Arts, Kumbakonam to Old Palakarai Bridge On SH 168, 3 Kms from SH168 – NH181 Junction at Karamadai towards Kariampalayam On NH716, between Murugappa Polytechnic College, Avadi and T9 – Pattabiram Police station. On SH 23, between New bharath Matric Hr sec school and vettar Kangalancheri bridge. On SHU129 (Salem main road), Dharmapuri between SHU129 (Salem main road) – NH44 Junction and Govt On LHS of NH16, from Kavarapettai Junction to TamilNadu – AndraPradesh border. On NH75, between Combined Court complex, Katpadi and SH125-NH75 Junction at Latteri. On Pudukottai road, between Sivaji Ganesan statue and Pudukottai road- NH36 junction at roundabout. On SH6, between Govt Girls Hr sec school - Sankarapuram and TNEB sub-store Sankarapuram. On SHN2 (Tiruppur Ring Road), between SHN2-SH19 Junction and Shn2-NH381 Junction at Palavanjipalayam Pirivu Bus Stop. On SH56, between Minjur Railway station and Jaigopal Garodia Girls Hr Sec School, Ponneri. On Cuddalore main road, between Periyar memorial Pillar and Holy cross international school, Ammapet. On Trichy main road, Between St.Theresa's girls Hr Sec School and Chettinad College of Engineering and Technology.	Chengalpattu Mayiladuthurai The Nilgiris Coimbatore Coimbatore Cuddalore Thanjavur Coimbatore Tiruvallur Tiruvarur Dharmapuri Tiruvallur Vellore Thanjavur Kallakurichi Tiruppur Tiruvallur Salem Karur	Regular	125 120 100 85 100 110 120 140 110 130 150 100 180 125 150 180 100 160 200 170	Open Open SC OBC Open Open Open OBC SC Open Open Open OBC SC Open Open Open Open OBC Open Open Open Open OBC Open Open Open Open Open Open Open Open	DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO DODO DODO DODO DODO DODO DODO DO	- - 23.80 - - 29.20 - - 23.80	35 35 35 35 35 35 35 30 35 35 35 35 35 30 35 35 30 35 35 35 35 35 35 35 35 35 35 35 35 35	35 35 35 35 35 35 35 30 35 35 35 35 35 30 35 35 30 35 35 35 35 35 35 35 35 35 35 35 35 35	1225 1225 900 1225 1225 1225 1225 900 1225 1225 1225 1225 1225 1225 1225 900 1225 1225 900 1225	30 30 30 30 30 30 30 30 30 30 30 30 30 3	80 110 - 80 80 80 80 110 - 80 110 - 80 110 80 - 110 110 80 80 - 80 80 80	DOL	15 15 15 15 15 15 15 15 15 15 15 15 15 1	5 5 3 4 5 5 4 3 5 5 4 3 5 5 4 5 5 4 5 5 5 4 5 5 5 5

219	On SH48, 5 KMS from General Electric T&E, Padappai towards Mannivakkam.	Kancheepuram	Regular	180	Open	DODO	-	35	35	1225	30	80	DOL	15	5
220	On SH84, between Kasipalayam Corporation higher sec school, Railwaycolony and SH84-NH381A junction.	Erode	Regular	100	SC	CFS	23.80	30	30	900	-	-	DOL	-	3
221	On SH54, between Sivaranjani Matriculation School and MDR580 (Mottur road)-SH54 Junction.	Tiruvallur	Regular	140	OBC	DODO	-	35	35	1225	30	80	DOL	15	4
222	On MDR1139, between Adithya Institute of technology and Panchayat Union Middle School, Pachapalayam.	Coimbatore	Regular	100	Open	DODO	-	35	35	1225	30	80	DOL	15	5
223	On NH48, between Christian Medical College and Hospital, Ranipet Campus and Global public school, CBSC.	Ranipet	Regular	170	Open CC-2	DODO	-	35	35	1225	30	110	DOL	15	5
224	On SH98, from Devarshola town Panchayat office upto TN border limits.	The Nilgiris	Regular	90	OBC CC-1	DODO	-	30	30	900	30	80	DOL	15	4
225	On RHS of SH -130A, from Thutipet Post office to SH130 – SH130A Junction	Tirupathur	Regular	110	SC CC-1	CFS	23.80	35	35	1225	-	-	DOL	-	3
226	On SH153, from SH153-NH381 Junction at Dharapuram to Alangiyam Police Station.	Tiruppur	Regular	100	Open	DODO	-	35	35	1225	30	80	DOL	15	5
227	On LHS of SH37, from Dharapuram bus stand to SH137-SH153 Junction	Tiruppur	Regular	160	Open	DODO	-	30	30	900	30	80	DOL	15	5
228	On MDR581 (Thiroporur Rd), between Dr.B.R.Ambedkar Statue, Thiroporur and MDR633-MDR581 Junction.	Chengalpattu	Regular	120	OBC	DODO	-	35	35	1225	30	80	DOL	15	4
229	On SH223, between Sri Kailasanathar Thirukoil, Tharamangalam and Upgraded Govt Primary Health centre, Nangavalli.	Salem	Regular	90	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
230	On LHS of NH179B, from Palar bridge, Mamandur to Paranur Toll plaza.	Chengalpattu	Regular	180	Open	DODO	-	35	35	1225	30	110	DOL	15	5
231	On SH113, between Chennai Institute of technology and Madha Engineering College.	Kancheepuram	Regular	190	Open	DODO	-	35	35	1225	30	80	DOL	15	5
232	On MDR32, between Arakkonam Police station and Mary's Vision Matric Hr Sec School.	Ranipet	Regular	100	OBC	DODO	-	35	35	1225	30	80	DOL	15	4
233	On SH54, between Goodlet Hr Sec school and Sri Bharathivelu Arts and Science college, Sholingur.	Ranipet	Regular	170	Open	DODO	-	35	35	1225	30	80	DOL	15	5
234	On SH21, 5 Kms from Mulanur Police Station towards Dharapuram.	Tiruppur	Regular	100	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
235	On SH88, between G.E.T B.Ed College to Kallapadi Govt Hospital, Gudiyattam. On MDR 1038, between MDR1038–SH196 Junction at Pookluvapatti and MDR1038-NH381 Junction at	Vellore Tiruppur	Regular Regular	130	Open OBC	DODO DODO	-	35	35	1225	30	80	DOL	15 15	5 4
	Thirumuruganpoondi, Tiruppur.						_	35	35	1225			1		
237	On SH114, between St. Mary's Matric Hr Sec School, Redhills and Govt Model Hr Sec School, Alamathi.	Tiruvallur	Regular	140	Open CC-1	DODO	-	35	35	1225	30	80	DOL	15	5
238	On NH48, between Government Medical College and Hospital, Krishnagiri and Krishnagiri Toll Plaza. On LHS of NH181, from Ondipudur railways crossing bridge to Coimbatote corporation East divisional	Krishnagiri	Regular	150	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
239	office.	Coimbatore	Regular	150	OBC	DODO	-	30	30	900	30	110	DOL	15	4
240	On Thirumazhisai to Tiruvallur high road, between Govt Primary health center, Thirumazhisai and International Maritime academy, Pudhuchatram.	Tiruvallur	Regular	170	Open	DODO	-	30	30	900	30	80	DOL	15	5
241	On SH129, between Govt Girls Hr Sec School, Arcot and Govt Union middle school, Ramanathapuram, Arcot.	Ranipet	Regular	115	Open	DODO	-	35	35	1225	30	80	DOL	15	5
242	On SH95, between Govt district head hospital, Namakkal and Trinity college for women.	Namakkal	Regular	150	OBC	DODO	-	30	30	900	30	80	DOL	15	4
243	On NH532, between Ponnagaram toll plaza and Thanthai Periyar statue at Vadalur NH road Junction.	Cuddalore	Regular	135	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
244	On NH 544, between Karpagam Academy of higher education, Coimbatore and L&T Toll plaza - 4.	Coimbatore	Regular	180	Open	DODO	-	35	35	1225	30	110	DOL	15	5
245	On SH78A, 4 Kms towards Ramanathapuram from Pollachi Bus stand.	Coimbatore	Regular	110	Open	DODO	-	30	30	900	30	80	DOL	15	5
246	On SH83A, between Deputy Superintendent of Police Office, Kangeyam and Govt Primary Health centre, Kullampalayam.	Tiruppur	Regular	100	OBC	DODO	-	35	35	1225	30	80	DOL	15	4
247	On SH6 (Thiruvannamalai Kallakurichi road), Between TNEB office Moongilthuraipattu and Vadaponparappi Police station.	Kallakurichi	Regular	140	ST	CFS	23.80	35	35	1225	-	-	DOL	-	3
248	On SH173, between Pethampalayam Govt High School and Thingalur Police station.	Erode	Regular	80	Open	DODO	-	35	35	1225	30	80	DOL	15	5
249	On SH54 between CM Annamalai Polytechnic college and Sh54-SH108 Junction at Ramakrishnaraja Pet.	Tiruvallur	Regular	120	Open	DODO	-	35	35	1225	30	80	DOL	15	5
250	On Eachanari – Chettipalayam Road between Larsen & Toubro Coimbatore Health Centre and road junction at SH162.	Coimbatore	Regular	90	OBC PH	DODO	-	35	35	1225	30	80	DOL	15	4
251	On SH29, between Pattukottai roundabout at SH29-SH146 Junction and Brindhavan Higher Secondary School, Sukkiranpatti.	Thanjavur	Regular	100	SC PH	CFS	23.80	35	35	1225	-	-	DOL	-	3
252	On NH181, 7 Kms from St. Stephen's church, Ooty towards Pykara.	The Nilgiris	Regular	170	Open	DODO	-	20	20	400	30	110	DOL	15	5
253	On SH30, 3 Kms from Attur Police station, towards Thandavarayapuram.	Salem	Regular	120	Open	DODO	-	35	35	1225	30	80	DOL	15	5
254	On SH 18A from Akash Vidhyalaya Matric school to Kurumberi Road Junction, Tirupathur.	Tirupathur	Regular	100	OBC	DODO	-	30	30	900	30	80	DOL	15	4
255	On SH69, between Dr. B.R. Ambedkar statue, Virudhachalam and Senthil Matric Hr Sec School, Periyavadavadi.	Cuddalore	Regular	120	Open	DODO	-	35	35	1225	30	80	DOL	15	5
256	On MDR623, between MDR623-NH83 Junction at Malumichampatti and MDR623-SH163 Junction at Chetipalayam.	Coimbatore	Regular	210	SC	CFS	53.00	35	35	1225	-	-	DOL	-	3
257	On NH48, between Shree Sastha institute of Engineering and Technology and Rajalakshmi Engineering college.	Kancheepuram	Regular	190	Open	DODO	-	35	35	1225	30	110	DOL	15	5
258	On SH142, 4 kms from Thuraiyur Municipal office towards Nagalapuram.	Tiruchirappalli	Regular	100	OBC	DODO	-	30	30	900	30	80	DOL	15	4
259	On MDR437, between Arulmigu Makaliamman Temple and Anugraha Mandhir CBSE Senior Secondary School, Sulur.	Coimbatore	Regular	120	Open	DODO	-	20	20	400	30	80	DOL	15	5
260	On MDR 675, 5 Kms from Govt High School, Vaikal Patrai towards Chinnanur.	Salem	Regular	120	SC	CFS	53.00	35	35	1225	-	-	DOL	-	3
261	On SH162, between Lakshmi Narayana Visalakshi College of Arts and Science and Chettipalayam Panchayat office.	Coimbatore	Regular	115	OBC	DODO	-	35	35	1225	30	80	DOL	15	4
262	On MDR 823, between MDR823-NH38 Junction and Manachanallur sub registrar office.	Tiruchirappalli	Regular	110	Open	DODO	-	35	35	1225	30	80	DOL	15	5
263	On SH166, between Puratchi Thalaivi Amma Government Arts and Science College, Palladam and TNEB substation, Naranapuram.	Tiruppur	Regular	105	Open CC-1	DODO	-	30	30	900	30	80	DOL	15	5
	Substation, italianaparam.	l			1		<u> </u>	30	30	300		ļ			

On SH127, between Dr.Krishnaswamy matriculation school and starting of River Palar bridge (connecting	<u> </u>	I	1	I	1		1				1			
Gudiyatham – Pallikonda).	Vellore	Regular	150	OBC	DODO	-	35	35	1225	30	80	DOL	15	4
On MDR 421, between Regional Transport Office, Salem west and Sivaraj Siddha Medical College and Research Institute, Salem.	Salem	Regular	110	SC	CFS	29.20	35	35	1225	-	-	DOL	-	3
On SH87, between Gudimangalam Police station and SH87-MDR884 Junction at Poolavadi Pirivu.	Tiruppur	Regular	80	Open	DODO	-	35	35	1225	30	80	DOL	15	5
On old Chennai road, Thiruthani, between Nandhi river bridge Junction and NH716 – Old Chennai road Junction.	Tiruvallur	Regular	110	Open	DODO	-	30	30	900	30	80	DOL	15	5
On SH80 between Govt Hr Sec school, Karuvalur and Govt union middle school Nariyampalli pudur.	Tiruppur	Regular	110	OBC	DODO	-	35	35	1225	30	80	DOL	15	4
On SH86, 4 Kms from Municipality office Thiruchengodu towards Chittalandur via Thiruchengodu rural police station.	Namakkal	Regular	150	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
270 On SH87, between NH83-SH87 Junction and Govt union middle school, Chinnaveerampatti (Udumalapet)	Tiruppur	Regular	170	Open	DODO	-	35	35	1225	30	80	DOL	15	5
271 On SH54 between KG Kandigai bus stand and Agoor bus stop.	Tiruvallur	Regular	130	Open	DODO	-	35	35	1225	30	80	DOL	15	5
On SH59 between VIT- University Main entrance and SH59 – NH40 junction.	Vellore	Regular	130	Open	DODO	-	35	35	1225	30	80	DOL	15	5
273 On Pagoda Point Road and MDR561, 4 Kms from Anna Park, Yercaud towards Sengadu.	Salem	Regular	100	OBC CC-1	DODO	-	30	30	900	30	80	DOL	15	4
On SH70, 4 Kms from Dr. B.R. Ambedkar statue, Virudhachalam towards Kumaramangalam.	Cuddalore	Regular	110	SC CC-1	CFS	23.80	35	35	1225	-	-	DOL	-	3
On NH948A, between TVS – two wheeler manufacturing plant, Hosur and Bommandapalli Circle.	Krishnagiri	Regular	120	Open PH	DODO	-	35	35	1225	30	110	DOL	15	5
276 On LHS of NH48, from NH48-MDR1110 Junction at Madhanur to Pachakuppam Railway station.	Tirupathur	Regular	150	OBC	DODO	-	35	35	1225	30	110	DOL	15	4
277 On MDR982, between Chinmaya Vidyalaya CBSC - Vadavalli and Delhi Public School, Onapalayam.	Coimbatore	Regular	90	Open	DODO	-	30	30	900	30	80	DOL	15	5
On SH202, between NH83-SH202 junction at thiruvarur and Government Primary Health Centre, Punavasal.	Tiruvarur	Regular	80	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
On MDR879, between Michael Job College of Arts & Science for Women and Panchayat Union Middle School, Thottipalayam.	Coimbatore	Regular	80	Open	DODO	-	30	30	900	30	80	DOL	15	5
On LHS of NH44, from Periyar University to St Joseph's Public School (CBSE), Omalur.	Salem	Regular	170	OBC	DODO	-	35	35	1225	30	110	DOL	15	4
On MDR306, between MDR306-NH83 Junction and Chellamal Matric Hr Sec School, Vengur.	Tiruchirappalli	Regular	100	Open	DODO	-	35	35	1225	30	80	DOL	15	5
On SH21, between CSI Boys Hr sec school and Amaravathi river bridge.	Tiruppur	Regular	180	Open	DODO	-	30	30	900	30	80	DOL	15	5
On SH15A, between Nambiyur Electrical power station and Govt elementary school Pudhusuripalayam, Nambiyur.	Erode	Regular	100	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
On SH61 – between Walajapet post office and Sh61-MDR401 Junction,	Ranipet	Regular	200	OBC	DODO	-	35	35	1225	30	80	DOL	15	4
On NH38, between SRM Medical college hospital research centre and St.Leonardi Martric Hr Sec School.	Tiruchirappalli	Regular	150	Open	DODO	-	35	35	1225	30	110	DOL	15	5
		Regular Regular	150 120	Open Open CC-1	DODO	-	35 35	35 35	1225 1225	30	110 80	DOL DOL	15 15	5
	Tiruchirappalli Erode Tirupathur			•		23.80								
286 On SH84, 7 Kms from Regional Transport office Erode East towards Ganapathipalayam.	Erode	Regular	120	Open CC-1	DODO	- 23.80	35	35	1225		80	DOL		5
286 On SH84, 7 Kms from Regional Transport office Erode East towards Ganapathipalayam. 287 On SH130A, between Rajiv Gandhi Statue at NH45-SH130A Junction and Palar River Bridge at Ambur. 288 On SH58, Between Regional transport office Thirukazhukundram and Fire Station Thirukazhukundram. 289 On MDR509, between Palani Andavar Mills Municipality Primary School and MDR509-MDR512 Junction.	Erode Tirupathur	Regular Regular	120	Open CC-1	DODO	23.80	35 30	35 30	900	30	80	DOL	15 -	5
On SH84, 7 Kms from Regional Transport office Erode East towards Ganapathipalayam. On SH130A, between Rajiv Gandhi Statue at NH45-SH130A Junction and Palar River Bridge at Ambur. On SH58, Between Regional transport office Thirukazhukundram and Fire Station Thirukazhukundram. On MDR509, between Palani Andavar Mills Municipality Primary School and MDR509-MDR512 Junction. On SH99A, between Regional Joint Registrar of Cooperative societies office and Periyar Maniyammai Institute of science and technology entrance.	Erode Tirupathur Chengalpattu	Regular Regular Regular	120 105 120 150	Open CC-1 SC OBC Open Open	DODO CFS DODO DODO DODO	23.80	35 30 35 30	35 30 35 30	900 1225 900 1225	30 - 30 30 30	80 - 80 80	DOL DOL	15 - 15 15 15	5 3 4
On SH84, 7 Kms from Regional Transport office Erode East towards Ganapathipalayam. On SH130A, between Rajiv Gandhi Statue at NH45-SH130A Junction and Palar River Bridge at Ambur. On SH58, Between Regional transport office Thirukazhukundram and Fire Station Thirukazhukundram. On MDR509, between Palani Andavar Mills Municipality Primary School and MDR509-MDR512 Junction. On SH99A, between Regional Joint Registrar of Cooperative societies office and Periyar Maniyammai Institute of science and technology entrance. On SH86, between Sankagiri Old bus stand and SH86-NH544 flyover junction.	Erode Tirupathur Chengalpattu Tiruppur	Regular Regular Regular Regular	120 105 120 150 100 160	Open CC-1 SC OBC Open Open Open OBC	DODO CFS DODO DODO	- - -	35 30 35 30	35 30 35 30	900 1225 900 1225 900 1225 1225	30 - 30 30	80 - 80 80	DOL DOL DOL	15 - 15 15	5 3 4 5
On SH84, 7 Kms from Regional Transport office Erode East towards Ganapathipalayam. On SH130A, between Rajiv Gandhi Statue at NH45-SH130A Junction and Palar River Bridge at Ambur. On SH58, Between Regional transport office Thirukazhukundram and Fire Station Thirukazhukundram. On MDR509, between Palani Andavar Mills Municipality Primary School and MDR509-MDR512 Junction. On SH99A, between Regional Joint Registrar of Cooperative societies office and Periyar Maniyammai Institute of science and technology entrance. On SH86, between Sankagiri Old bus stand and SH86-NH544 flyover junction. On SH193, 3 Km from Sub Regional transport office, Aravakurichi towards Pallapatti.	Erode Tirupathur Chengalpattu Tiruppur Thanjavur	Regular Regular Regular Regular Regular	120 105 120 150 100 160 100	Open CC-1 SC OBC Open Open Open SC SC	DODO CFS DODO DODO DODO DODO CFS	- 23.80 - - - - 23.80	35 30 35 30 35 35 35 35	35 30 35 30 35 35 35 35	900 1225 900 1225 900 1225 1225 1225	30 - 30 30 30 30 -	80 - 80 80 80 80	DOL DOL DOL DOL DOL DOL DOL	15 - 15 15 15 15 -	5 3 4 5 5 4 3
On SH84, 7 Kms from Regional Transport office Erode East towards Ganapathipalayam. On SH130A, between Rajiv Gandhi Statue at NH45-SH130A Junction and Palar River Bridge at Ambur. On SH58, Between Regional transport office Thirukazhukundram and Fire Station Thirukazhukundram. On MDR509, between Palani Andavar Mills Municipality Primary School and MDR509-MDR512 Junction. On SH99A, between Regional Joint Registrar of Cooperative societies office and Periyar Maniyammai Institute of science and technology entrance. On SH86, between Sankagiri Old bus stand and SH86-NH544 flyover junction.	Erode Tirupathur Chengalpattu Tiruppur Thanjavur Salem	Regular Regular Regular Regular Regular Regular	120 105 120 150 100 160	Open CC-1 SC OBC Open Open Open OBC	DODO CFS DODO DODO DODO DODO DODO	- - -	35 30 35 30 35 35 35	35 30 35 30 35 35 35	900 1225 900 1225 900 1225 1225	30 - 30 30 30	80 - 80 80	DOL DOL DOL DOL DOL DOL	15 - 15 15 15 15	5 3 4 5 5
On SH84, 7 Kms from Regional Transport office Erode East towards Ganapathipalayam. On SH130A, between Rajiv Gandhi Statue at NH45-SH130A Junction and Palar River Bridge at Ambur. On SH58, Between Regional transport office Thirukazhukundram and Fire Station Thirukazhukundram. On MDR509, between Palani Andavar Mills Municipality Primary School and MDR509-MDR512 Junction. On SH99A, between Regional Joint Registrar of Cooperative societies office and Periyar Maniyammai Institute of science and technology entrance. On SH86, between Sankagiri Old bus stand and SH86-NH544 flyover junction. On SH193, 3 Km from Sub Regional transport office, Aravakurichi towards Pallapatti.	Erode Tirupathur Chengalpattu Tiruppur Thanjavur Salem Karur	Regular Regular Regular Regular Regular Regular Regular Regular Regular	120 105 120 150 100 160 100	Open CC-1 SC OBC Open Open Open SC SC	DODO CFS DODO DODO DODO DODO CFS	- - -	35 30 35 30 35 35 35 35	35 30 35 30 35 35 35 35	900 1225 900 1225 900 1225 1225 1225	30 - 30 30 30 30 -	80 - 80 80 80 80	DOL DOL DOL DOL DOL DOL DOL	15 - 15 15 15 15 -	5 3 4 5 5 4 3
On SH84, 7 Kms from Regional Transport office Erode East towards Ganapathipalayam. On SH130A, between Rajiv Gandhi Statue at NH45-SH130A Junction and Palar River Bridge at Ambur. On SH58, Between Regional transport office Thirukazhukundram and Fire Station Thirukazhukundram. On MDR509, between Palani Andavar Mills Municipality Primary School and MDR509-MDR512 Junction. On SH99A, between Regional Joint Registrar of Cooperative societies office and Periyar Maniyammai Institute of science and technology entrance. On SH86, between Sankagiri Old bus stand and SH86-NH544 flyover junction. On SH193, 3 Km from Sub Regional transport office, Aravakurichi towards Pallapatti. On SH219, between SH219-NH44 junction and Govt Kumaramangalam medical college.	Erode Tirupathur Chengalpattu Tiruppur Thanjavur Salem Karur Salem	Regular	120 105 120 150 100 160 100 120	Open CC-1 SC OBC Open Open Open OBC SC Open	DODO CFS DODO DODO DODO DODO CFS DODO	- - -	35 30 35 30 35 35 35 30	35 30 35 30 35 35 35 30	900 1225 900 1225 900 1225 1225 1225 900	30 - 30 30 30 30 - 30	80 - 80 80 80 80 - 80	DOL DOL DOL DOL DOL DOL DOL DOL DOL	15 - 15 15 15 15 - 15	5 3 4 5 5 4 3 5
On SH84, 7 Kms from Regional Transport office Erode East towards Ganapathipalayam. On SH130A, between Rajiv Gandhi Statue at NH45-SH130A Junction and Palar River Bridge at Ambur. On SH58, Between Regional transport office Thirukazhukundram and Fire Station Thirukazhukundram. On MDR509, between Palani Andavar Mills Municipality Primary School and MDR509-MDR512 Junction. On SH99A, between Regional Joint Registrar of Cooperative societies office and Periyar Maniyammai Institute of science and technology entrance. On SH86, between Sankagiri Old bus stand and SH86-NH544 flyover junction. On SH193, 3 Km from Sub Regional transport office, Aravakurichi towards Pallapatti. On SH219, between SH219-NH44 junction and Govt Kumaramangalam medical college. On NH136, between Attur Railway crossing and Salem Institute of Agriculture Sciences, Attur. On SH274, between SH274-NH544 Junction at Perundurai and SH274-SH173 Junction at Karungaradu. On MDR872, between Gopalakrishna Mill to Athipalayam 4 Corner Junction via Chinnavedampatti.	Erode Tirupathur Chengalpattu Tiruppur Thanjavur Salem Karur Salem Salem	Regular	120 105 120 150 100 160 100 120 120	Open CC-1 SC OBC Open Open Open OBC SC Open Open Open	DODO CFS DODO DODO DODO CFS DODO DODO CFS DODO DODO	- - -	35 30 35 30 35 35 35 30	35 30 35 30 35 35 35 30	900 1225 900 1225 1225 1225 1225 900 1225	30 - 30 30 30 30 - 30 30	80 - 80 80 80 80 - 80 110	DOL	15 - 15 15 15 15 - 15 15	5 3 4 5 5 4 3 5 5
On SH84, 7 Kms from Regional Transport office Erode East towards Ganapathipalayam. On SH130A, between Rajiv Gandhi Statue at NH45-SH130A Junction and Palar River Bridge at Ambur. On SH58, Between Regional transport office Thirukazhukundram and Fire Station Thirukazhukundram. On MDR509, between Palani Andavar Mills Municipality Primary School and MDR509-MDR512 Junction. On SH99A, between Regional Joint Registrar of Cooperative societies office and Periyar Maniyammai Institute of science and technology entrance. On SH86, between Sankagiri Old bus stand and SH86-NH544 flyover junction. On SH193, 3 Km from Sub Regional transport office, Aravakurichi towards Pallapatti. On SH219, between SH219-NH44 junction and Govt Kumaramangalam medical college. On NH136, between Attur Railway crossing and Salem Institute of Agriculture Sciences, Attur. On SH274, between SH274-NH544 Junction at Perundurai and SH274-SH173 Junction at Karungaradu.	Erode Tirupathur Chengalpattu Tiruppur Thanjavur Salem Karur Salem Salem Salem Erode	Regular	120 105 120 150 100 160 100 120 120	Open CC-1 SC OBC Open Open Open OBC SC Open Open Open Open Open	DODO CFS DODO DODO DODO CFS DODO DODO DODO DODO DODO DODO DODO DODO	- - - 23.80 - -	35 30 35 30 35 35 30 35 35	35 30 35 30 35 35 30 35 35	900 1225 900 1225 1225 1225 1225 1225 1225 1225	30 - 30 30 30 30 - 30 30	80 - 80 80 80 80 - 80 110	DOL	15 - 15 15 15 15 - 15 15	5 3 4 5 5 4 3 5 5
286 On SH84, 7 Kms from Regional Transport office Erode East towards Ganapathipalayam. 287 On SH130A, between Rajiv Gandhi Statue at NH45-SH130A Junction and Palar River Bridge at Ambur. 288 On SH58, Between Regional transport office Thirukazhukundram and Fire Station Thirukazhukundram. 289 On MDR509, between Palani Andavar Mills Municipality Primary School and MDR509-MDR512 Junction. 290 On SH99A, between Regional Joint Registrar of Cooperative societies office and Periyar Maniyammai Institute of science and technology entrance. 291 On SH86, between Sankagiri Old bus stand and SH86-NH544 flyover junction. 292 On SH193, 3 Km from Sub Regional transport office, Aravakurichi towards Pallapatti. 293 On SH219, between SH219-NH44 junction and Govt Kumaramangalam medical college. 294 On NH136, between Attur Railway crossing and Salem Institute of Agriculture Sciences, Attur. 295 On SH274, between SH274-NH544 Junction at Perundurai and SH274-SH173 Junction at Karungaradu. 296 On MDR872, between Gopalakrishna Mill to Athipalayam 4 Corner Junction via Chinnavedampatti. 297 On SH220, between Govt Arts and Science College, Idappadi and Divisional Engineer Office - Highway Dept, Idappadi. 298 On SH49, between Thiruvanmaiyur bus termainal and VGP universal Kingdom entrance, Injambakkam.	Erode Tirupathur Chengalpattu Tiruppur Thanjavur Salem Karur Salem Salem Erode Coimbatore Salem Chennai	Regular	120 105 120 150 100 160 100 120 120 130 80	Open CC-1 SC OBC Open Open Open OBC SC Open Open OBC SC Open Open Open OBC SC Open Open	DODO CFS DODO DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO	- - - 23.80 - -	35 30 35 30 35 35 35 30 35 35 20	35 30 35 30 35 35 35 30 35 35 20	1225 900 1225 900 1225 1225 1225 900 1225 400 1225	30 - 30 30 30 30 - 30 30 - 30 30 30 30 30 30 30 30 30 30	80 - 80 80 80 - 80 110 80 - 80 80	DOL	15	5 3 4 5 5 4 3 5 4 3 5 5
On SH84, 7 Kms from Regional Transport office Erode East towards Ganapathipalayam. On SH130A, between Rajiv Gandhi Statue at NH45-SH130A Junction and Palar River Bridge at Ambur. On SH58, Between Regional transport office Thirukazhukundram and Fire Station Thirukazhukundram. On MDR509, between Palani Andavar Mills Municipality Primary School and MDR509-MDR512 Junction. On SH99A, between Regional Joint Registrar of Cooperative societies office and Periyar Maniyammal Institute of science and technology entrance. On SH99A, between Sankagiri Old bus stand and SH86-NH544 flyover junction. On SH193, 3 Km from Sub Regional transport office, Aravakurichi towards Pallapatti. On SH219, between SH219-NH44 junction and Govt Kumaramangalam medical college. On NH136, between Attur Railway crossing and Salem Institute of Agriculture Sciences, Attur. On SH274, between SH274-NH544 Junction at Perundurai and SH274-SH173 Junction at Karungaradu. On MDR872, between Gopalakrishna Mill to Athipalayam 4 Corner Junction via Chinnavedampatti. On SH220, between Govt Arts and Science College, Idappadi and Divisional Engineer Office - Highway Dept, Idappadi. On SH49, between Thiruvanmaiyur bus termainal and VGP universal Kingdom entrance, Injambakkam. On NH181, (Ooty-Gudalur road) between Naduvattam Police Station and Pykara bridge.	Erode Tirupathur Chengalpattu Tiruppur Thanjavur Salem Karur Salem Salem Erode Coimbatore Salem Chennai The Nilgiris	Regular	120 105 120 150 100 160 100 120 120 130 80 180	Open CC-1 SC OBC Open Open Open OBC SC Open Open OBC SC Open Open OBC SC Open OBC SC Open OBC	DODO CFS DODO DODO DODO CFS DODO DODO CFS DODO DODO DODO DODO CFS DODO DODO DODO DODO DODO DODO DODO DODO	- - - 23.80 - - - 53.00	35 30 35 30 35 35 35 30 35 35 20 20	35 30 35 30 35 35 35 30 35 35 20 20	1225 900 1225 900 1225 1225 1225 900 1225 400 400	30 - 30 30 30 30 - 30 30 30 - 30 30 30 30 30 30 30 30 30 30	80 - 80 80 80 80 - 80 110 80 - 80 110	DOL	15	5 3 4 5 5 4 3 5 5 4 3 5 5
On SH84, 7 Kms from Regional Transport office Erode East towards Ganapathipalayam. On SH130A, between Rajiv Gandhi Statue at NH45-SH130A Junction and Palar River Bridge at Ambur. On SH58, Between Regional transport office Thirukazhukundram and Fire Station Thirukazhukundram. On MDR509, between Palani Andavar Mills Municipality Primary School and MDR509-MDR512 Junction. On SH99A, between Regional Joint Registrar of Cooperative societies office and Periyar Maniyammai Institute of science and technology entrance. On SH99A, between Sankagiri Old bus stand and SH86-NH544 flyover junction. On SH193, 3 Km from Sub Regional transport office, Aravakurichi towards Pallapatti. On SH219, between SH219-NH44 junction and Govt Kumaramangalam medical college. On NH136, between Attur Railway crossing and Salem Institute of Agriculture Sciences, Attur. On SH274, between SH274-NH544 Junction at Perundurai and SH274-SH173 Junction at Karungaradu. On MDR872, between Gopalakrishna Mill to Athipalayam 4 Corner Junction via Chinnavedampatti. On SH220, between Govt Arts and Science College, Idappadi and Divisional Engineer Office - Highway Dept, Idappadi. On SH49, between Thiruvanmaiyur bus termainal and VGP universal Kingdom entrance, Injambakkam. On NH181, (Ooty-Gudalur road) between Naduvattam Police Station and Pykara bridge. On SH137, between AVNC Govt Higher Sec School, Ariyur and Thaluk Office – Thirukkoyilur.	Erode Tirupathur Chengalpattu Tiruppur Thanjavur Salem Karur Salem Salem Coimbatore Salem Chennai The Nilgiris Kallakurichi	Regular	120 105 120 150 100 160 100 120 120 120 120 120 120 120 130 80 180 120 110	Open CC-1 SC OBC Open Open Open OBC SC Open Open Open OBC SC Open OBC SC Open OBC SC Open Open OBC SC	DODO CFS DODO DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO CFS DODO CFS DODO CFS DODO CFS DODO CFS	- - - 23.80 - -	35 30 35 30 35 35 35 30 35 35 20 20 35	35 30 35 30 35 35 30 35 35 30 35 20 20 35	1225 900 1225 900 1225 1225 1225 900 1225 400 400 1225	30 - 30 30 30 30 - 30 30 - 30 30 - 30 30 30 - 30 30 30 - 30 30 - 30 30 - 30 30 - - 30 - - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - - 30 - - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 -	80 - 80 80 80 - 80 110 80 - 80 110 -	DOL	15	5 3 4 5 5 4 3 5 5 4 3 5 5 4 3 5
On SH84, 7 Kms from Regional Transport office Erode East towards Ganapathipalayam. On SH130A, between Rajiv Gandhi Statue at NH45-SH130A Junction and Palar River Bridge at Ambur. On SH58, Between Regional transport office Thirukazhukundram and Fire Station Thirukazhukundram. On MDR509, between Palani Andavar Mills Municipality Primary School and MDR509-MDR512 Junction. On SH99A, between Regional Joint Registrar of Cooperative societies office and Periyar Maniyammai Institute of science and technology entrance. On SH86, between Sankagiri Old bus stand and SH86-NH544 flyover junction. On SH193, 3 Km from Sub Regional transport office, Aravakurichi towards Pallapatti. On SH219, between SH219-NH44 junction and Govt Kumaramangalam medical college. On NH136, between Attur Railway crossing and Salem Institute of Agriculture Sciences, Attur. On SH274, between SH274-NH544 Junction at Perundurai and SH274-SH173 Junction at Karungaradu. On MDR872, between Gopalakrishna Mill to Athipalayam 4 Corner Junction via Chinnavedampatti. On SH220, between Govt Arts and Science College, Idappadi and Divisional Engineer Office - Highway Dept, Idappadi. On SH49, between Thiruvanmaiyur bus termainal and VGP universal Kingdom entrance, Injambakkam. On NH181, (Ooty-Gudalur road) between Naduvattam Police Station and Pykara bridge. On SH137, between AVNC Govt Higher Sec School, Ariyur and Thaluk Office – Thirukkoyilur. On SH165, 2 kms from Kousiha River bridge towards Annur.	Erode Tirupathur Chengalpattu Tiruppur Thanjavur Salem Karur Salem Salem Coimbatore Salem Chennai The Nilgiris Kallakurichi Coimbatore	Regular	120 105 120 150 100 160 100 120 120 120 120 120 120 1100 130 80 180 120 110 140	Open CC-1 SC OBC Open Open Open OBC SC Open Open OBC SC Open OBC SC Open OBC SC Open Open Open	DODO CFS DODO DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO CFS DODO DODO CFS DODO DODO CFS DODO	- - - 23.80 - - - 53.00	35 30 35 35 35 35 30 35 35 20 20 35 35	35 30 35 35 35 35 30 35 35 20 20 35 35	1225 900 1225 900 1225 1225 1225 900 1225 400 400 1225 1225	30 - 30 30 30 30 - 30 30 - 30 30 - 30 30 - 30 30 - 30 30 - 30 30 - 30 30 - - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - - 30 - - 30 - - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 -	80 - 80 80 80 80 80 - 80 - 80 - 80 - 80	DOL	15	5 3 4 5 5 4 3 5 5 4 3 5 5 4 3 5
286 On SH84, 7 Kms from Regional Transport office Erode East towards Ganapathipalayam. 287 On SH130A, between Rajiv Gandhi Statue at NH45-SH130A Junction and Palar River Bridge at Ambur. 288 On SH58, Between Regional transport office Thirukazhukundram and Fire Station Thirukazhukundram. 289 On MDR509, between Palani Andavar Mills Municipality Primary School and MDR509-MDR512 Junction. 290 On SH99A, between Regional Joint Registrar of Cooperative societies office and Periyar Maniyammai Institute of science and technology entrance. 291 On SH86, between Sankagiri Old bus stand and SH86-NH544 flyover junction. 292 On SH193, 3 Km from Sub Regional transport office, Aravakurichi towards Pallapatti. 293 On SH219, between SH219-NH44 junction and Govt Kumaramangalam medical college. 294 On NH136, between Attur Railway crossing and Salem Institute of Agriculture Sciences, Attur. 295 On SH274, between SH274-NH544 Junction at Perundurai and SH274-SH173 Junction at Karungaradu. 296 On MDR872, between Gopalakrishna Mill to Athipalayam 4 Corner Junction via Chinnavedampatti. 297 On SH220, between Govt Arts and Science College, Idappadi and Divisional Engineer Office - Highway Dept, Idappadi. 298 On SH49, between Thiruvanmaiyur bus termainal and VGP universal Kingdom entrance, Injambakkam. 299 On NH181, (Ooty-Gudalur road) between Naduvattam Police Station and Pykara bridge. 300 On SH137, between AVNC Govt Higher Sec School, Ariyur and Thaluk Office – Thirukkoyilur. 301 On SH165, 2 kms from Kousiha River bridge towards Annur. 302 On SH118, between Uthiramerur Taluk office and SH118-MDR789 Junction at Nelvoy.	Erode Tirupathur Chengalpattu Tiruppur Thanjavur Salem Karur Salem Salem Coimbatore Salem Chennai The Nilgiris Kallakurichi Coimbatore Kancheepuram	Regular	120 105 120 150 100 160 100 120 120 120 120 120 1100 130 80 180 120 110 140 120	Open CC-1 SC OBC Open Open Open OBC SC Open OPen OBC SC Open OBC SC Open Open Open Open OBC Open Open OBC Open OBC Open	DODO CFS DODO DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO	- - - 23.80 - - - 53.00	35 30 35 35 35 35 30 35 35 20 20 35 35 35	35 30 35 35 35 35 30 35 35 20 20 35 35 35	1225 900 1225 900 1225 1225 1225 900 1225 400 400 1225 1225 1225 1225	30 - 30 30 30 30 - 30 30 - 30 30 - 30 30 - 30 - 30 30 - 30 30 - - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - - 30 - - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - 30 - - 30 -	80 - 80 80 80 80 80 - 80 - 80 - 80 - 80	DOL	15	5 3 4 5 5 4 3 5 5 4 3 5 5 4 3 5 4 3 5
286 On SH84, 7 Kms from Regional Transport office Erode East towards Ganapathipalayam. 287 On SH130A, between Rajiv Gandhi Statue at NH45-SH130A Junction and Palar River Bridge at Ambur. 288 On SH58, Between Regional transport office Thirukazhukundram and Fire Station Thirukazhukundram. 289 On MDR509, between Palani Andavar Mills Municipality Primary School and MDR509-MDR512 Junction. 290 On SH99A, between Regional Joint Registrar of Cooperative societies office and Periyar Maniyammai Institute of science and technology entrance. 291 On SH86, between Sankagiri Old bus stand and SH86-NH544 flyover junction. 292 On SH193, 3 Km from Sub Regional transport office, Aravakurichi towards Pallapatti. 293 On SH219, between SH219-NH44 junction and Govt Kumaramangalam medical college. 294 On NH136, between Attur Railway crossing and Salem Institute of Agriculture Sciences, Attur. 295 On SH274, between SH274-NH544 Junction at Perundurai and SH274-SH173 Junction at Karungaradu. 296 On MDR872, between Gopalakrishna Mill to Athipalayam 4 Corner Junction via Chinnavedampatti. 297 On SH220, between Govt Arts and Science College, Idappadi and Divisional Engineer Office - Highway Dept, Idappadi. 298 On SH49, between Thiruvanmaiyur bus termainal and VGP universal Kingdom entrance, Injambakkam. 299 On SH49, between Thiruvanmaiyur bus termainal and VGP universal Kingdom entrance, Injambakkam. 299 On SH181, (Ooty-Gudalur road) between Naduvattam Police Station and Pykara bridge. 300 On SH137, between AVNC Govt Higher Sec School, Ariyur and Thaluk Office — Thirukkoyilur. 301 On SH165, 2 kms from Kousiha River bridge towards Annur. 302 On SH18, between Uthiramerur Taluk office and SH118-MDR789 Junction at Nelvoy. 303 On SH65, 5 Kms from NH79-SH9 Junction at Kallakurichi town towards Sankarapuram. 200 SH9A between Manalurnet Govt regulated agricultural market and Manalurnet Police station.	Erode Tirupathur Chengalpattu Tiruppur Thanjavur Salem Karur Salem Salem Coimbatore Salem Chennai The Nilgiris Kallakurichi Coimbatore Kancheepuram Kallakurichi	Regular	120 105 120 150 100 160 100 120 120 120 120 120 120 120 120 12	Open CC-1 SC OBC Open Open Open OBC SC Open Open Open OBC SC Open OBC SC Open Open Open Open Open Open Open Open	DODO CFS DODO DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO	- - - 23.80 - - - 53.00	35 30 35 35 35 35 30 35 35 20 20 35 35	35 30 35 35 35 35 30 35 35 20 20 35 35	1225 900 1225 900 1225 1225 1225 900 1225 400 400 1225 1225	30 - 30 30 30 30 30 30 30 30 30 30	80 - 80 80 80 80 - 80 110 80 80 110 - 80 80 80 80 80 80 80 80 80 80	DOL	15	5 3 4 5 5 4 3 5 5 4 3 5 5 4 3 5 5 4 3 5 4 5 5 4 5 5 6 7 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8 7 8
On SH84, 7 Kms from Regional Transport office Erode East towards Ganapathipalayam. On SH130A, between Rajiv Gandhi Statue at NH45-SH130A Junction and Palar River Bridge at Ambur. On SH58, Between Regional transport office Thirukazhukundram and Fire Station Thirukazhukundram. On MDR509, between Palani Andavar Mills Municipality Primary School and MDR509-MDR512 Junction. On SH99A, between Regional Joint Registrar of Cooperative societies office and Periyar Maniyammai Institute of science and technology entrance. On SH86, between Sankagiri Old bus stand and SH86-NH544 flyover junction. On SH193, 3 Km from Sub Regional transport office, Aravakurichi towards Pallapatti. On SH219, between SH219-NH44 junction and Govt Kumaramangalam medical college. On NH136, between Attur Railway crossing and Salem Institute of Agriculture Sciences, Attur. On SH274, between SH274-NH544 Junction at Perundurai and SH274-SH173 Junction at Karungaradu. On MDR872, between Gopalakrishna Mill to Athipalayam 4 Corner Junction via Chinnavedampatti. On SH220, between Govt Arts and Science College, Idappadi and Divisional Engineer Office - Highway Dept, Idappadi. On SH49, between Thiruvanmaiyur bus termainal and VGP universal Kingdom entrance, Injambakkam. On SH49, between AVNC Govt Higher Sec School, Ariyur and Thaluk Office - Thirukkoyilur. On SH137, between AVNC Govt Higher Sec School, Ariyur and Thaluk Office - Thirukkoyilur. On SH165, 2 kms from Kousiha River bridge towards Annur. On SH18, between Uthiramerur Taluk office and SH118-MDR789 Junction at Nelvoy. On SH6, 5 Kms from NH79-SH9 Junction at Kallakurichi town towards Sankarapuram. On SH9A, between Manalurpet Govt regulated agricultural market and Manalurpet Police station, Tirukkoyilur taluk.	Erode Tirupathur Chengalpattu Tiruppur Thanjavur Salem Karur Salem Salem Coimbatore Salem Chennai The Nilgiris Kallakurichi Coimbatore Kancheepuram Kallakurichi Kallakurichi	Regular	120 105 120 150 100 160 100 120 120 120 120 120 130 80 180 120 110 140 120 120 130	Open CC-1 SC OBC Open Open Open OBC SC Open OPen OBC SC Open OBC SC Open Open Open Open Open Open Open Open	DODO CFS DODO DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO	- - 23.80 - - 53.00 - - - 23.80 - -	35 30 35 35 35 35 30 35 35 20 20 35 35 35 35 35 35	35 30 35 30 35 35 30 35 35 30 35 20 20 35 35 35 35 35 35 35 35 35 35	1225 900 1225 900 1225 1225 1225 900 1225 400 400 1225 1225 1225 1225 1225 1225	30 - 30 30 30 30 30 30 30 30 30 30	80 - 80 80 80 80 80 80 - 80 110 80 80 110 - 80 80 80 80 80 80	DOL	15	5 3 4 5 5 4 3 5 5 4 3 5 5 4 3 5 5 5 4 3 5 5 5 5
286 On SH84, 7 Kms from Regional Transport office Erode East towards Ganapathipalayam. 287 On SH30A, between Rajiv Gandhi Statue at NH45-SH130A Junction and Palar River Bridge at Ambur. 288 On SH58, Between Regional transport office Thirukazhukundram and Fire Station Thirukazhukundram. 289 On MDR509, between Palani Andavar Mills Municipality Primary School and MDR509-MDR512 Junction. 290 On SH99A, between Regional Joint Registrar of Cooperative societies office and Periyar Maniyammai Institute of science and technology entrance. 291 On SH86, between Sankagiri Old bus stand and SH86-NH544 flyover junction. 292 On SH193, 3 Km from Sub Regional transport office, Aravakurichi towards Pallapatti. 293 On SH219, between SH219-NH44 junction and Govt Kumaramangalam medical college. 294 On NH136, between Attur Railway crossing and Salem Institute of Agriculture Sciences, Attur. 295 On SH274, between SH274-NH544 Junction at Perundural and SH274-SH173 Junction at Karungaradu. 296 On MDR872, between Gopalakrishna Mill to Athipalayam 4 Corner Junction via Chinnavedampatti. 297 On SH220, between Govt Arts and Science College, Idappadi and Divisional Engineer Office - Highway Dept, Idappadi. 298 On SH49, between Thiruvanmaiyur bus termainal and VGP universal Kingdom entrance, Injambakkam. 299 On NH181, (Ooty-Gudalur road) between Naduvattam Police Station and Pykara bridge. 300 On SH49, between AVNC Govt Higher Sec School, Ariyur and Thaluk Office – Thirukkoyilur. 301 On SH155, 2 kms from Kousiha River bridge towards Annur. 302 On SH118, between Uthiramerur Taluk office and SH118-MDR789 Junction at Nelvoy. 303 On SH6, 5 Kms from NH79-SH9 Junction at Kallakurichi town towards Sankarapuram. 304 On SH84, 2 Kms from new bus stand Kodumudi towards Vengam pudur.	Erode Tirupathur Chengalpattu Tiruppur Thanjavur Salem Karur Salem Salem Coimbatore Salem Chennai The Nilgiris Kallakurichi Coimbatore Kancheepuram Kallakurichi Kallakurichi Kallakurichi Erode	Regular	120 105 120 150 100 160 100 120 120 120 120 120 130 180 120 120 120 130 140 120 130 130	Open CC-1 SC OBC Open Open Open Open Open Open Open Open	DODO CFS DODO DODO DODO CFS CFS CFS CFS CFS CFS CFS CF	- - - 23.80 - - - 53.00	35 30 35 30 35 35 30 35 35 30 35 20 20 35 35 35 35 35 35 35 35 35 35	35 30 35 30 35 35 30 35 35 30 35 20 20 35 35 35 35 35 35 35 35 35 35	1225 900 1225 900 1225 1225 1225 900 1225 400 400 1225 1225 1225 1225 1225 1225 1225	30 - 30 30 30 30 30 30 30 30 30 30	80 - 80 80 80 80 80 - 80 - 80 110 80 80 110 - 80 80 80 80 80	DOL	15	5 3 4 5 5 4 3 5 4 3 5 4 3 5 4 3 5 5 3 5 4 3 5 3 5
286 On SH84, 7 Kms from Regional Transport office Erode East towards Ganapathipalayam. 287 On SH130A, between Rajiv Gandhi Statue at NH45-SH130A Junction and Palar River Bridge at Ambur. 288 On SH58, Between Regional transport office Thirukazhukundram and Fire Station Thirukazhukundram. 289 On MDR509, between Palani Andavar Mills Municipality Primary School and MDR509-MDR512 Junction. 290 On SH99A, between Regional Joint Registrar of Cooperative societies office and Periyar Maniyammai Institute of science and technology entrance. 291 On SH86, between Sankagiri Old bus stand and SH86-NH544 flyover junction. 292 On SH193, 3 Km from Sub Regional transport office, Aravakurichi towards Pallapatti. 293 On SH219, between SH219-NH44 junction and Govt Kumaramangalam medical college. 294 On NH136, between Attur Railway crossing and Salem Institute of Agriculture Sciences, Attur. 295 On SH274, between SH274-NH544 Junction at Perundurai and SH274-SH173 Junction at Karungaradu. 296 On MDR872, between Gopalakrishna Mill to Athipalayam 4 Corner Junction via Chinnavedampatti. 297 On SH220, between Govt Arts and Science College, Idappadi and Divisional Engineer Office - Highway Dept, Idappadi. 298 On SH49, between Thiruvanmaiyur bus termainal and VGP universal Kingdom entrance, Injambakkam. 299 On NH181, (Ooty-Gudalur road) between Naduvattam Police Station and Pykara bridge. 300 On SH137, between AVNC Govt Higher Sec School, Ariyur and Thaluk Office - Thirukkoyilur. 301 On SH158, 2 kms from Kousiha River bridge towards Annur. 302 On SH118, between Uthiramerur Taluk office and SH118-MDR789 Junction at Nelvoy. 303 On SH6, 5 Kms from NH79-SH9 Junction at Kallakurichi town towards Sankarapuram. 304 On SH84, 2 Kms from new bus stand Kodumudi towards Vengam pudur. 305 On SH84, 2 Kms from new bus stand Kodumudi towards Vengam pudur.	Erode Tirupathur Chengalpattu Tiruppur Thanjavur Salem Karur Salem Salem Coimbatore Salem Chennai The Nilgiris Kallakurichi Coimbatore Kancheepuram Kallakurichi Kallakurichi Erode Villupuram	Regular	120 105 120 150 100 160 100 120 120 120 120 120 130 180 120 120 130 140 120 120 130 100 80	Open CC-1 SC OBC Open Open Open Open Open Open Open Open	DODO CFS DODO DODO DODO CFS DODO CFS DODO CFS DODO CFS DODO CFS DODO CFS DODO DODO CFS DODO DODO	- - 23.80 - - 53.00 - - - 23.80 - - - 23.80	35 30 35 30 35 35 30 35 35 30 35 35 20 20 35 35 35 35 35 35 35 35 35 35	35 30 35 30 35 35 30 35 35 30 35 20 20 35 35 35 35 35 35 35 35 35 35	1225 900 1225 900 1225 1225 1225 900 1225 400 400 1225 1225 1225 1225 1225 1225 1225 1225	30 - 30 30 30 30 30 30 30 30 30 30	80 80 80 80 80 80 80 110 80 80 80 80 80 80 80 80 80 80	DOL	15	5 3 4 5 5 4 3 5 4 3 5 4 3 5 4 3 5 5 4 3 5 5 4 3 5 4 3 5 4 5 5 5 4 5 5 5 5
On SH84, 7 Kms from Regional Transport office Erode East towards Ganapathipalayam. On SH130A, between Rajiv Gandhi Statue at NH45-SH130A Junction and Palar River Bridge at Ambur. On SH58, Between Regional transport office Thirukazhukundram and Fire Station Thirukazhukundram. On MDR509, between Palani Andavar Mills Municipality Primary School and MDR509-MDR512 Junction. On SH99A, between Regional Joint Registrar of Cooperative societies office and Periyar Maniyammai Institute of science and technology entrance. On SH86, between Sankagiri Old bus stand and SH86-NH544 flyover junction. On SH193, 3 Km from Sub Regional transport office, Aravakurichi towards Pallapatti. On SH219, between SH219-NH44 junction and Govt Kumaramangalam medical college. On NH136, between Attur Railway crossing and Salem Institute of Agriculture Sciences, Attur. On SH274, between SH274-NH544 Junction at Perundurai and SH274-SH173 Junction at Karungaradu. On SH220, between Gopalakrishna Mill to Athipalayam 4 Corner Junction via Chinnavedampatti. On SH220, between Govt Arts and Science College, Idappadi and Divisional Engineer Office - Highway Dept, Idappadi. On SH49, between Thiruvanmaiyur bus termainal and VGP universal Kingdom entrance, Injambakkam. On SH49, between AVNC Govt Higher Sec School, Ariyur and Thaluk Office – Thirukkoyilur. On SH137, between AVNC Govt Higher Sec School, Ariyur and Thaluk Office – Thirukkoyilur. On SH165, 2 kms from Kousiha River bridge towards Annur. On SH165, between Uthiramerur Taluk office and SH118-MDR789 Junction at Nelvoy. On SH6, 5 Kms from NH79-SH9 Junction at Kallakurichi town towards Sankarapuram. On SH9A, between Manalurpet Govt regulated agricultural market and Manalurpet Police station, Tirukkoyilur taluk. On SH84, 2 Kms from new bus stand Kodumudi towards Vengam pudur. On SH86, 5 from NH16-SH56 Junction to Sridevi Educational Institutions, Ponneri.	Erode Tirupathur Chengalpattu Tiruppur Thanjavur Salem Karur Salem Salem Coimbatore Salem Chennai The Nilgiris Kallakurichi Coimbatore Kancheepuram Kallakurichi Kallakurichi Erode Villupuram Tiruvallur	Regular	120 105 120 150 100 160 100 120 120 120 120 120 130 80 130 80 130	Open CC-1 SC OBC Open Open Open Open Open Open Open Open	DODO CFS DODO DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO CFS DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO	- - 23.80 - - 53.00 - - - 23.80 - -	35 30 35 30 35 35 30 35 35 30 35 35 20 20 35 35 35 35 35 35 35 35 35 35	35 30 35 30 35 35 30 35 35 30 35 20 20 35 35 35 35 35 35 35 35 35 35	1225 900 1225 900 1225 1225 1225 900 1225 1225 400 400 1225 1225 1225 1225 1225 1225 1225 12	30 - 30 30 30 30 30 30 30 30 30 30	80 80 80 80 80 80 80 80 110 80 80 110 80 80 80 80 80 80 80	DOL	15	5 3 4 5 5 4 3 5 4 3 5 4 3 5 4 3 5 5 3 4 3 5 5 3 4 3 5 4 5 5 3 5 4 5 5 5 5
On SH84, 7 Kms from Regional Transport office Erode East towards Ganapathipalayam. On SH130A, between Rajiv Gandhi Statue at NH45-SH130A Junction and Palar River Bridge at Ambur. On SH58, Between Regional transport office Thirukazhukundram and Fire Station Thirukazhukundram. On MDR509, between Palani Andavar Mills Municipality Primary School and MDR509-MDR512 Junction. On SH99A, between Regional Joint Registrar of Cooperative societies office and Periyar Maniyammai Institute of science and technology entrance. On SH86, between Sankagiri Old bus stand and SH86-NH544 flyover junction. On SH193, 3 Km from Sub Regional transport office, Aravakurichi towards Pallapatti. On SH219, between SH219-NH44 junction and Govt Kumaramangalam medical college. On NH136, between Attur Railway crossing and Salem Institute of Agriculture Sciences, Attur. On SH274, between SH274-NH544 Junction at Perundurai and SH274-SH173 Junction at Karungaradu. On SH274, between Gopalakrishna Mill to Athipalayam 4 Corner Junction via Chinnavedampatti. On SH220, between Govt Arts and Science College, Idappadi and Divisional Engineer Office - Highway Dept, Idappadi. On SH49, between Thiruvanmaiyur bus termainal and VGP universal Kingdom entrance, Injambakkam. On SH49, between AVNC Govt Higher Sec School, Ariyur and Thaluk Office – Thirukkoyilur. On SH137, between AVNC Govt Higher Sec School, Ariyur and Thaluk Office – Thirukkoyilur. On SH155, 2 kms from Kousiha River bridge towards Annur. On SH165, 8 kms from NH79-SH9 Junction at Kallakurichi town towards Sankarapuram. On SH49, between Manalurpet Govt regulated agricultural market and Manalurpet Police station, Tirukkoyilur taluk. On SH84, between Manalurpet Govt regulated agricultural market and Manalurpet Police station, Tirukkoyilur taluk. On SH86, 5 Kms from NH79-SH9 Junction at Kallakurichi town towards Sankarapuram. On SH84, between Manalurpet Govt regulated agricultural market and Manalurpet Police station, Tirukkoyilur taluk. On SH84, between Manalurpet Arta Science Col	Erode Tirupathur Chengalpattu Tiruppur Thanjavur Salem Karur Salem Salem Coimbatore Salem Chennai The Nilgiris Kallakurichi Coimbatore Kancheepuram Kallakurichi Kallakurichi Erode Villupuram Tiruvallur Krishnagiri	Regular	120 105 120 150 100 150 100 160 100 120 120 120 120 130 80 130 100 80 130 170	Open CC-1 SC OBC Open Open	DODO CFS DODO DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO CFS DODO DODO CFS DODO DODO CFS DODO	- - 23.80 - - 53.00 - - - 23.80 - - - - 23.80	35 30 35 30 35 35 35 30 35 35 20 20 35 35 35 35 35 35 35 35 35 35	35 30 35 30 35 35 35 30 35 35 20 20 35 35 35 35 35 35 35 35 35 35	1225 900 1225 900 1225 1225 1225 1225 400 400 1225 1225 1225 1225 1225 1225 1225 12	30 - 30 30 30 30 30 30 30 30 30 30	80 80 80 80 80 80 80 110 80 80 80 80 80 80 80 80 80 80	DOL	15	5 3 4 5 5 4 3 5 4 3 5 4 3 5 5 4 3 5 5 5 4 3 5 5 5 4 3 5 5 5 5
286 On SH84, 7 Kms from Regional Transport office Erode East towards Ganapathipalayam. 287 On SH130A, between Rajiv Gandhi Statue at NH45-SH130A Junction and Palar River Bridge at Ambur. 288 On SH58, Between Regional transport office Thirukazhukundram and Fire Station Thirukazhukundram. 289 On MDR509, between Palani Andavar Mills Municipality Primary School and MDR509-MDR512 Junction. 290 On SH99A, between Regional Joint Registrar of Cooperative societies office and Periyar Maniyammai Institute of Science and technology entrance. 291 On SH86, between Sankagiri Old bus stand and SH86-NH544 flyover junction. 292 On SH193, 3 Km from Sub Regional transport office, Aravakurichi towards Pallapatti. 293 On SH219, between SH219-NH44 junction and Govt Kumaramangalam medical college. 294 On NH136, between Attur Railway crossing and Salem Institute of Agriculture Sciences, Attur. 295 On SH274, between SH274-NH544 Junction at Perundural and SH274-SH173 Junction at Karungaradu. 296 On MDR872, between Gopalakrishna Mill to Athipalayam 4 Corner Junction via Chinnavedampatti. 297 On SH220, between Gopalakrishna Mill to Athipalayam 4 Corner Junction via Chinnavedampatti. 298 On SH49, between Thiruvanmaiyur bus termainal and VGP universal Kingdom entrance, Injambakkam. 299 On NH181, (Ooty-Gudalur road) between Naduvattam Police Station and Pykara bridge. 300 On SH137, between AVNC Govt Higher Sec School, Ariyur and Thaluk Office – Thirukkoyilur. 301 On SH137, between Manalurpet Govt regulated agricultural market and Manalurpet Police station, Tirukkoyilu taluk. 305 On SH84, 2 Kms from Neusiha River bridge towards Vengam pudur. 306 SH4A, between Avalurpet Art& Science College and Govt Girls High School, Avalurpet 307 On HHS of SH56, from NH16-SH56 Junction to Sridevi Educational Institutions, Ponneri. 308 On SH88, 4 Kms from Salem central Jail towards Yercaud.	Erode Tirupathur Chengalpattu Tiruppur Thanjavur Salem Karur Salem Salem Coimbatore Salem Chennai The Nilgiris Kallakurichi Coimbatore Kancheepuram Kallakurichi Kallakurichi Erode Villupuram Tiruvallur Krishnagiri Salem	Regular	120 105 120 150 100 150 100 160 100 120 120 120 120 130 80 140 120 120 130 100 80 130 170 200	Open CC-1 SC OBC Open Open Open Open Open Open Open Open	DODO CFS DODO DODO DODO CFS DODO DODO DODO CFS DODO DODO CFS DODO DODO CFS CFS DODO CFS DODO CFS CFS DODO DODO CFS	- - 23.80 - - 53.00 - - - 23.80 - - - 23.80	35 30 35 30 35 35 35 35 35 20 20 35 35 35 35 35 35 35 35 35 35	35 30 35 30 35 35 35 35 35 20 20 35 35 35 35 35 35 35 35 35 35	1225 900 1225 900 1225 1225 1225 1225 400 400 1225 1225 1225 1225 1225 1225 1225 12	30 - 30 30 30 30 30 30 30 30 30 30	80 80 80 80 80 80 80 80 110 80 80 80 80 80 80 80 80 80 80 80 80 80 80 80	DOL	15	5 3 4 5 5 4 3 5 4 3 5 4 3 5 5 4 3 5 5 3 4 5 5 3 4 5 3 5 3
On SH84, 7 Kms from Regional Transport office Erode East towards Ganapathipalayam. On SH130A, between Rajiv Gandhi Statue at NH45-SH130A Junction and Palar River Bridge at Ambur. On SH58, Between Regional transport office Thirukazhukundram and Fire Station Thirukazhukundram. On MDR509, between Palani Andavar Mills Municipality Primary School and MDR509-MDR512 Junction. On SH99A, between Regional Joint Registrar of Cooperative societies office and Periyar Maniyammai Institute of science and technology entrance. On SH86, between Sankagiri Old bus stand and SH86-NH544 flyover junction. On SH193, 3 Km from Sub Regional transport office, Aravakurichi towards Pallapatti. On SH219, between SH219-NH44 junction and Govt Kumaramangalam medical college. On NH136, between Attur Railway crossing and Salem Institute of Agriculture Sciences, Attur. On SH274, between SH274-NH544 Junction at Perundurai and SH274-SH173 Junction at Karungaradu. On SH274, between Gopalakrishna Mill to Athipalayam 4 Corner Junction via Chinnavedampatti. On SH220, between Govt Arts and Science College, Idappadi and Divisional Engineer Office - Highway Dept, Idappadi. On SH49, between Thiruvanmaiyur bus termainal and VGP universal Kingdom entrance, Injambakkam. On SH49, between AVNC Govt Higher Sec School, Ariyur and Thaluk Office – Thirukkoyilur. On SH181, (Ooty-Gudalur road) between Naduvattam Police Station and Pykara bridge. On SH185, 2 kms from Kousiha River bridge towards Annur. On SH165, 5 kms from NH79-SH9 Junction at Kallakurichi town towards Sankarapuram. On SH9A, between Manalurpet Govt regulated agricultural market and Manalurpet Police station, Tirukkoyilur taluk. On SH9A, between Manalurpet Govt regulated agricultural market and Manalurpet Police station, Tirukkoyilur taluk. On SH9A, between Manalurpet Govt regulated agricultural market and Manalurpet Police station, SH4A, between Manalurpet Arta Science College and Govt Girls Hr Sec school, Avalurpet On LHS of SH56, from NH16-SH56 Junction to Sridevi Educational Ins	Erode Tirupathur Chengalpattu Tiruppur Thanjavur Salem Karur Salem Salem Coimbatore Salem Chennai The Nilgiris Kallakurichi Coimbatore Kancheepuram Kallakurichi Kallakurichi Erode Villupuram Tiruvallur Krishnagiri	Regular	120 105 120 150 100 150 100 160 100 120 120 120 120 130 80 130 100 80 130 170	Open CC-1 SC OBC Open Open	DODO CFS DODO DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO DODO CFS DODO CFS DODO DODO CFS DODO DODO CFS DODO	- - 23.80 - - 53.00 - - - 23.80 - - - - 23.80	35 30 35 30 35 35 35 30 35 35 20 20 35 35 35 35 35 35 35 35 35 35	35 30 35 30 35 35 35 30 35 35 20 20 35 35 35 35 35 35 35 35 35 35	1225 900 1225 900 1225 1225 1225 1225 400 400 1225 1225 1225 1225 1225 1225 1225 12	30 - 30 30 30 30 30 30 30 30 30 30	80 80 80 80 80 80 80 80 110 80 80 80 110 80 80 80 80 80 80 110	DOL	15	5 3 4 5 5 5 4 3 5 5 4 3 5 5 4 3 5 5 5 4 3 5 5 5 5

212	On SH140 hotsugan Sri Lakshmi College of Education and Madorn Crown of Institution Javankandan	Arivolus	Pogular	175	Open CC-1	DODO					30	80	DOL	15	5
312	On SH140, between Sri Lakshmi College of Education and Modern Group of Institution, Jayankondan. On Velachery road, between Selaiyur Govt Higher Sec School, Selaiyur and Medavakam koot road Govt	Ariyalur	Regular	1/3	Open cc-1	DODO	-	35	35	1225	50	80	DOL	15	-
313	Bus stand.	Chengalpattu	Regular	190	OBC	DODO	-	30	30	900	30	80	DOL	15	4
314	On SH140, 7 Kms from Govt I.T.I, Andimadam towards Virudhachalam.	Ariyalur	Regular	120	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
315	On NH532, 7 Kms from Thanthai Periyar statue at Vadalur NH road Junction towards Cuddalore via Kurinjipadi.	Cuddalore	Regular	130	Open	DODO	-	30	30	900	30	110	DOL	15	5
316	On NH336, 7 Kms from District Police office, Tiruchirappalli towards Kumaramangalam.	Tiruchirappalli	Regular	170	Open	DODO	-	35	35	1225	30	110	DOL	15	5
317	On NH181, between Dist Employment office, Koundampalayam and Ramakrishna Mission Vidhyalaya.	Coimbatore	Regular	160	OBC	DODO	-	30	30	900	30	110	DOL	15	4
318	On Nanjikottai road, between Sacred Heart cathedral entrance and Nanjikottai road – NH83 flyover	Thanjavur	Regular	180	SC	CFS	29.20	30	30	900	-	-	DOL	-	3
319	junction. On SH226, between Govt Hr Sec School, Berigai and Govt High school, Muduguriki.	Krishnagiri	Regular	100	Open	DODO	_	35	35	1225	30	80	DOL	15	5
320	On SH109, 200 ft Radial road pallavaram, between Saravana Selvarathinam ultimate store and Dr.	Chengalpattu	Regular	190	Open	DODO	-				30	80	DOL	15	5
321	Kamakshi Memorial Hospital, Pallikaranai. On SH196, between Govt Girls HR sec school, Perundurai and SH196-NH544 Flyover Junction service road.	Erode	Regular	100	OBC	DODO	_	30	30	900	30	80	DOL	15	4
								35	35	1225					+
322	On NH44, between St. Peter's Medical college, Hospital and Research Institute and TN-Karnataka border.	Krishnagiri	Regular	190	Open	DODO	-	30	30	900	30	110	DOL	15	5
323	On Patchur-Kothur Road, between NH48 Junction and Patchur Railway Station.	Tirupathur	Regular	80	SC CC-1	CFS	29.20	35	35	1225	-	-	DOL	-	3
324	On MDR13, between SH19-MDR13 Junction and Oxford Matric Hr Sec School, Anaimalai.	Coimbatore	Regular	80	Open CC-2	DODO	-	35	35	1225	30	80	DOL	15	5
325	On SH4 between Balaji Chokkalingam Engg College Arni and Arignar Anna Hr Sec School - Thamaraipakkam.	Thiruvannamalai	Regular	120	OBC CC-1	DODO	-	35	35	1225	30	80	DOL	15	4
326	On SH121, between Vellore institute of Technology, Chennai and Chettinad Hospital and research centre, vandalur gate Kelambakkam.	Chengalpattu	Regular	230	Open	DODO	-	35	35	1225	30	80	DOL	15	5
327	On SH20 Between VOC park and AN-Noor Matriculation school, Erode.	Erode	Regular	120	SC	CFS	23.80	30	30	900	-	-	DOL	-	3
328	On Palakkad road, (Kuniyamuthur) between Govt high school, Sugunapuram and Govt higher secondary school, Kuniyamuthur.	Coimbatore	Regular	180	ОВС	DODO	-	30	30	900	30	80	DOL	15	4
329	On NH75, between Govt Thirumagal Mill's College and Vidhyalakshmi Matric Hr Sec School, Gudiyatham.	Vellore	Regular	160	Open	DODO	-	35	35	1225	30	110	DOL	15	5
330	On SH60, 7 Kms from Auxilium Girls Matric Hr Sec School, Dharmapuri towards Semmandakuppam via	Dharmapuri	Regular	170	Open	DODO	-				30	80	DOL	15	5
331	Dharmapuri town.	Vollere		160	OBC	DODO		30 35	30 35	900 1225	30	110	DOL	15	4
331	On NH48, between Govt Boys Hr Sec School, Poigai and Pallikonda Toll plaza On SH165 between SH165-NH544 Junction flyover at Karumathampatti and Noyyal river bridge at	Vellore	Regular	100		DODO	-	35	35	1225	30	110	DOL	13	+
332	Somanur.	Coimbatore	Regular	150	SC	CFS	23.80	30	30	900	-	-	DOL	-	3
333	On MDR873, between Ramakrishna Mill water tank and Vilankurichi bus stop via LBR Mahal.	Coimbatore	Regular	150	Open	DODO	-	20	20	400	30	80	DOL	15	5
334	On MDR605, between Govt Hr Sec school, Bhujanganur and MDR605-NH181 Junction at Karamadai.	Coimbatore	Regular	110	Open	DODO	-	35	35	1225	30	80	DOL	15	5
335	On SH115, between Alfredo Cuomo Higher Sec School, Sendivakkam and Brakes India Private Ltd, Poolambakkam.	Chengalpattu	Regular	170	OBC	DODO	-	35	35	1225	30	80	DOL	15	4
336	On NH332, between Sacred heart Convent Anglo Indian Hr Sec School – Viluppuram and Govt Boys Higher Sec School, Vallavanur.	Villupuram	Regular	130	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
337	On SH58, between Arakkonam fire station and SH58-MDR792 Junction.	Ranipet	Regular	180	Open	DODO	-	35	35	1225	30	80	DOL	15	5
338	On SH84, between SH84-NH81 Junction and The Karur Polytechnic College.	Karur	Regular	120	Open CC-1	DODO	-	35	35	1225	30	80	DOL	15	5
339	On SH19, between SH19-NH83 junction and Swastik Matriculation school, Chinneripalayam, Pollachi.	Coimbatore	Regular	160	OBC	DODO	-	35	35	1225	30	80	DOL	15	4
340	On LHS of Erukkancheri High Road, from Madhavaram Round about to Moolakadai Junction.	Chennai	Regular	200	SC	CFS	70.40	20	20	400	-	-	DOL	-	3
341	On SH96, from Perundurai Old bus stand circle to Ingur railway bridge.	Erode	Regular	100	Open	DODO	-	35	35	1225	30	80	DOL	15	5
342	On SH196, between SH196-MDR1038 Junction and Govt high school Perumanallur.	Tiruppur	Regular	120	Open	DODO	-	35	35	1225	30	80	DOL	15	5
343	On SH99, between Govt. Hospital Thirukkatupalli and Four road junction roundana at Budalur.	Thanjavur	Regular	110	OBC	DODO	-	35	35	1225	30	80	DOL	15	4
344	Between intersection of NH-48 at Kandaneri, and Mooligate Junction on Golden temple road. (Not on SH and NH)	Vellore	Regular	110	Open	DODO	-	35	35	1225	30	80	DOL	15	5
345	On SH147, between SH147-SH66 Junction and Thirunageswaram Naganatha Swamy temple.	Thanjavur	Regular	170	ST	CFS	23.80	35	35	1225	-	-	DOL	-	3
346	On SH49A, between Dhanraj Baid Jain College and Sathyabhama Institute of Science and Technology,	Chennai	Regular	190	Open	DODO	-				30	80	DOL	15	5
347	Semmancheri. On SH57, 4 Kms from SH57-NH179B Junction at Singaperumalkoil towards Oragadam.	Chengalpattu	Regular	140	OBC	DODO		20 35	20 35	400 1225	30	80	DOL	15	4
348	On NH136, between District Police Office, Ariyalur to New Bus Stand, Keelapalur.	Ariyalur	Regular	150	Open	DODO	-	35	35	1225	30	110	DOL	15	5
349	On SH74, between Karur District Collector office and Periyar statue at Thirumanilaiyur Roundana.	Karur	Regular	200	SC PH	CFS	23.80	30	30	900	-	-	DOL	-	3
350	On Military road, between Orikai Junction and SH116-Military road junction.	Kancheepuram	Regular	150	OBC PH	DODO	_	30	30	900	30	80	DOL	15	4
351	On SH12, between TANTRANSCO 66/11 KV Substation, Cherambadi and TN-Kerala border at Choladi	The Nilgiris	Regular	100	Open	DODO	-				30	80	DOL	15	5
352	Bridge. On Ayapakkam TNHB road, between ICMR - National Institute of Epidemiology and Annanur Rail over	Tiruvallur	Regular	100	Open	DODO	_	30	30	900	30	80	DOL	15	5
	bridge. On NH75, between Green Valley School of Excellence, CBSE Kondampalli village and TNEB substation,				-			30	30	900					+ .
353	Morasapalli.	Vellore	Regular	120	OBC	DODO	-	35	35	1225	30	110	DOL	15	4
354	On SH82, between Sri Vidya Matric School, Bavani and Jambai town Panchayat office.	Erode	Regular	80	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
355	On NH83, between Ariyamangalam Police station and Thiruverumbur Police station.	Tiruchirappalli	Regular	150	Open	DODO	-	30	30	900	30	110	DOL	15	5
356	On SH57, between NH48 – SH57 Junction and Oragadam Flyover junction bus stop.	Kancheepuram	Regular	180	Open	DODO	-	35	35	1225	30	80	DOL	15	5
357	On SH140, from NH81-SH140 Junction to Modern Group of Instituion, Mahimaipuram	Ariyalur	Regular	90	OBC	DODO	-	35	35	1225	30	80	DOL	15	4

No.	358	On Vayalur main road, between Bishop Heber College and Holycross matric Hr sec school, Somarasampettai.	Tiruchirappalli	Regular	140	SC	CFS	53.00	30	30	900	-	-	DOL	-	3
PRINCE Name of Large Control of Large	359	On NH83, between NH83-NH36 outer flyover bridge junction and MDR249-NH83 junction at Punnainallur.	Thanjavur	Regular	200	Open	DODO	-	35	35	1225	30	110	DOL	15	5
Page 1997 Page 1997 Page 1997	360	On SH62, between C5 Police station, Mannachanallur and Poonampalayam Miyawaki forest.	Tiruchirappalli	Regular	100	Open	DODO	-	35	35	1225	30	80	DOL	15	5
Section College Section Col	361	On SH165, between Literacy Mission Matric Hr Sec School and SH165-NH81 Junction at Karanampettai.	Tiruppur	Regular	150	Open	DODO	-	35	35	1225	30	80	DOL	15	5
Processor Proc	362		Thanjavur	Regular	160	OBC	DODO	-	35	35	1225	30	80	DOL	15	4
Section Sect		Unjavelanpatti Pirivu	Coimbatore					23.80							-	3
			- ''											_		5
1999 100	365		Kancheepuram	Regular	180	OBC	DODO	-	35	35	1225	30	80	DOL	15	4
Feet 127, Voters - Regular 120 Copen DOCO 15 15 15 122 10 DOC DOC 15 15 16 DOC	366		Thiruvannamalai	Regular	100	Open	DODO	-	35	35	1225	30	80	DOL	15	5
Column C	367		Erode	Regular	110	SC	CFS	23.80	35	35	1225	-	-	DOL	-	3
Part Design A fair from 5 and A Mary PAS Authorities of service A fair from 5 and A Mary PAS Authorities of Service A fair from 5 and		College, Madhanoor to DC Kuppam bus stop.		, ,		'		-								5
172 On MONARA, between Notestand And Real and Good on Section 25 (2016) No. 100								-						_		
1.72 Chi Sing L. Detection Analysis and and Gover Its Sec. School, Rumpinger. Reinspect Regular 130 SEC.CCT CFS 2.386 25 22 22 22 23 20 23 22 23 23	3/0	OII STOM, 4 MIIIS ITOIII STOM-INTLYSM JUIICUOII AL TIAIUF TOWAFOS KIIANUF.	Dilarinapuri	Kegular	100	Open		-	35	35	1225			DOL		
272 Chr. Sin 172, bothwern is from humanic in see Saheal, Trinspoar and Gen modelle school, Naturingslapsym. Triuspoar Regular 110 Otto CCC 1 DODO 55 35 3225 80 110 DOD 15 4 177 DOD 178 178 DOD DOD DOD 178 DOD		· ·				•		-								5
270 Control Section Cont	372	On SH61, between Arakkonam bus stand and Govt Hr Sec School, Kumpinipet.	Ranipet	Regular	130	SC CC-1	CFS	23.80	35	35	1225	-	-	DOL	-	3
375 0.5 SELES between Cont hospital Vanidoreal and Ecological Pulses stations Thorizontal Control Registros Recommend registrate (Registros Recommend registrate) Registrate (Registros Recommend registrate) Registros Recommend registrate (Recommend registrate) Regist	373		Tiruppur	Regular	180	OBC CC-1	DODO	-	35	35	1225	30	80	DOL	15	4
276 Chapter, Personal Preservation Freezing Street Conference Free								-						_		5
Salgere, Personannel. 100 100 1 1 1 1 1 1 1	375		Thiruvannamalai	Regular	100	Open PH	DODO	-	35	35	1225	30	80	DOL	15	5
378 On MORS-868, 3 km from Morbests Neity 3 luminor towards Venergeury, Selem Naval 100 SC CYS 17.80 85 35 1225 25 60 OOL 5 4	376		Thanjavur	Rural	60	<u> </u>	DODO	-	35	35	1225	25	60	DOL	5	4
370 ON MORBASS, & Press from MoRBASS, 4												25	60		5	3
380 On Visian Rood, 3 kmrs from 80m Secours College Sewards Visia. Thankswar Rural 60 Open DODO - 33 33 1275 25 60 DOL 5 4	-							17.30					1			2
Section Sect																
201 201		On Kallankurichi road, between NH136-Kallankurichi raod junction and Sri Rithigaa Nikethan Nursery and	Í			•										3
332 On MDR 108, SHIPM-MORIDB Aunction at Cheminishal and Shemford Futurititis Chool. Ender Rural 100 Open DODO - 33 35 1225 25 60 DOL 5 4	382	On MDR 594, between NH44-MDR594 Junction at Gejjalnayakkanpatti and Govt Higher Sec school,	Salem	Rural	100	SC	CFS	17.30				-	-	DOL	-	2
384 On MDR-713, 2 kms from Panchayat union elementary school – Vagarayampaliyam towards Annur. Coimbatore Rural 90 Open DODO - 35 35 1225 25 60 DOL 5 4	383		Frode	Rural	100	Onen	DODO	_				25	60	DOI	5	4
On MDR754, between Pair Maruthi Matriculation Higher Secondary School and Panchayat union office, spring programmalli. Select Secondary School and Panchayat union office, spring programmalli. Select Secondary School and Panchayat union office, spring programmalli. Select Secondary School Analysis Secondary School Analysi						•		-								4
38	385		Krishnagiri	Rural	65	OBC	DODO	-				25	60	DOL	5	3
387 On MDR13, 12 kms from MDR134. Nms from MDR134. Nm	386		Vellore	Rural	65	Open	DODO	-				25	60	DOL	5	4
388 On MOR 1013, between Government high school Thottiyam (Kallakurichi) and NH79-MOR1013 junction Kallakurichi Rural 90 Open CC-1 DODO - 35 35 1225 25 60 DOL 5 4	387			Rural			CFS	17.30				-			-	2
390 On MDR653, between Grand Anaicut Canal bridge at Ayingudi and Sri Venkateshwara College of Arts and Science for women, Peravurani. 390 On MDR652, between MDR672-SH137 Junction, Eraiyar and Mahamaríamman temple, Vadakurumbur. 401 Alakurichi 402 Alakurichi 403 Alakurichi 404 Alakurichi 405 Alakurichi 406 Alakurichi 406 Alakurichi 407 Open DODO 408C DODO 408 DODO 408 DODO 408 DODO 408 DODO 408 DODO 409 DOD	388	On MDR13, between Govt higher sec school Anaimalai and Govt hospital Vettaikaranpudur.	Coimbatore	Rural	110	OBC	DODO	-	35	35	1225	25	60	DOL	5	3
390 Science for women, Perayurani. Thanjavur Rural 70 Open DODO - 35 35 1225 25 60 DOL 5 4	389	On MDR 1013, between Government high school Thottiyam (Kallakurichi) and NH79-MDR1013 junction	Kallakurichi	Rural	90	Open CC-1	DODO	-	35	35	1225	25	60	DOL	5	4
392 On MDR1077, between Lawrence School, Lovedale and NH181-MDR1077 Junction. The Nilgiris Rural 90 OBC DDDO - 355 35 1225 25 60 DDL 5 3 393 On MDR22, between Suguna Institute of Poultry Management and MDR22-NH83 Junction. Tiruppur Rural 80 Open DDDO - 355 35 1225 25 60 DDL 5 4 394 On MDR95, between Panchayat Union middle school, Kairbetta and Upgraded primary health centre, Kodanadu. The Nilgiris Rural 70 Open DDDO - 35 35 35 1225 25 60 DDL 5 4 395 On MDR22, Anaimalai-Poolankinar Road between Nallamuthu Gounder Nachimuthu Gounder Hr Sec Colmbatore Rural 90 SC CFS 17.30 35 35 1225 25 60 DDL - 2 396 On Nallur Road, between Nallur road – NH648 Junction and Nallur Big Lake. Krishnagiri Rural 65 OBC DDDO - 35 35 1225 25 60 DDL 5 3 397 On Kolipalayam to Karuvalur road, Kovilpalayam hosyntal and Kovai Vidhyashram CBSE school, Kovilpalayam. CSE school, Kovilpalayam. CSE school, Kovilpalayam to MDR70, between Fire Station Chennimalai and MDR70-SH83A Junction at Arachalur. Errode Rural 70 Open CC-2 DDDO - 35 35 1225 25 60 DDL 5 3 398 On MDR34, between Akshara Vidhyashram School (TATA Groups) and TN-Kerala Border at Malakkapara Colmbatore Rural 70 Open CC-2 DDDO - 35 35 1225 25 60 DDL 5 3 399 On MDR354, between Akshara Vidhyashram School (TATA Groups) and TN-Kerala Border at Malakkapara Colmbatore Rural 70 Open CC-2 DDDO - 35 35 35 1225 25 60 DDL 5 3 399 On MDR354, between Akshara Vidhyashram School (TATA Groups) and TN-Kerala Border at Malakkapara Colmbatore Rural 70 Open CC-2 DDDO - 35 35 35 1225 25 60 DDL 5 3 390 On Avaranguppam Road and Ramanaikenpet Road between Sri Puthumariamman temple (Thekkupattu), Tirunathur.	390		Thanjavur	Rural	70	Open	DODO	-	35	35	1225	25	60	DOL	5	4
393 On MDR22, between Suguna Institute of Poultry Management and MDR22-NH83 Junction. Tiruppur Rural 80 Open DODO - 35 35 1225 25 60 DOL 5 4	391	On MDR672, between MDR672-SH137 Junction, Eraiyar and Mahamariamman temple, Vadakurumbur.	Kallakurichi	Rural	60	SC	CFS	17.30	35	35	1225	-	-	DOL	-	2
On MDR995, between Panchayat Union middle school, Kairbetta and Upgraded primary health centre, Kodanadu. 394 On MDR995, between Panchayat Union middle school, Kairbetta and Upgraded primary health centre, Kodanadu. 395 On MDR22, Anaimalai-Poolankinar Road between Nallamuthu Gounder Nachimuthu Gounder Hr Sec Coimbatore Rural 90 SC CFS 17.30 35 35 1225 - DOL - 2 396 On Nallur Road, between Nallur road – NH648 Junction and Nallur Big Lake. Krishnagiri Rural 65 OBC DDDO - 35 35 1225 25 60 DOL 5 3 397 On Koilpalayam to Karuvalur road, Kovilpalayam between KMCH Kovilpalayam hospital and Kovai Vidhyashram CBSE school, Kovilpalayam. 398 On MDR70, between Fire Station Chennimalai and MDR70-SH83A Junction at Arachalur. Erode Rural 70 Open CC-2 DDDO - 35 35 35 1225 25 60 DOL 5 4 399 On MDR35A, between Akshara Vidhyashram School (TATA Groups) and TN-Kerala Border at Malakkapara Coimbatore Rural 70 OBC CC-1 DDDO - 35 35 35 1225 25 60 DOL 5 3 400 On Avaranguppam Road and Ramanaikenpet Road between Sri Puthumariamman temple (Thekkupattu), Tirunathur Rural 120 SCCC-1 CFS 17.30								-								3
Solution	393		Tiruppur	Rural	80	Open	DODO	-	35	35	1225	25	60	DOL	5	4
School, and SH78-MDR22 Junction. School, and SH78-MDR22 Junction. On Nallur Road, between Nallur road – NH648 Junction and Nallur Big Lake. Krishnagiri Rural On Koilpalayam to Karuvalur road, Kovilpalayam between KMCH Kovilpalayam hospital and Kovai Vidhyashram CBSE school, Kovilpalayam. Coimbatore Rural 120 Open DODO Open DODO SC CFS 17.30 35 35 1225 25 60 DOL 5 3 On Koilpalayam to Karuvalur road, Kovilpalayam between KMCH Kovilpalayam hospital and Kovai Vidhyashram CBSE school, Kovilpalayam. School, and SH78-MDR22 Junction. Fired Rural Open DODO Open DODO SC CFS 17.30 SC CFS 17.30 SC CFS 17.30 SC CFS 17.30 SC SC SC SC SC SC SC SC SC S	394	Kodanadu.	The Nilgiris	Rural	70	Open	DODO	-	35	35	1225	25	60	DOL	5	4
On Koilpalayam to Karuvalur road, Kovilpalayam between KMCH Kovilpalayam hospital and Kovai Nidhyashram CBSE school, Kovilpalayam. Coimbatore Rural 120 Open DODO State August 120 Open DODO Open CC-2	395		Coimbatore	Rural	90	SC	CFS	17.30	35	35	1225	-	-	DOL	-	2
Vidhyashram CBSE school, Kovilpalayam. Second Property Combatore Rural 120 Open DODO - 35 35 1225 25 60 DOL 5 4	396		Krishnagiri	Rural	65	OBC	DODO	-	35	35	1225	25	60	DOL	5	3
399 On MDR354, between Akshara Vidhyashram School (TATA Groups) and TN-Kerala Border at Malakkapara Coimbatore Rural 70 OBC CC-1 DODO - 35 35 1225 25 60 DOL 5 3 3 400 On Avaranguppam Road and Ramanaikenpet Road between Sri Puthumariamman temple (Thekkupattu), Tirupathur Rural 120 SC CC-1 CFS 17.30	397		Coimbatore	Rural	120	Open	DODO	-	35	35	1225	25	60	DOL	5	4
Checkpost. Checkpost. Combatore Rural Combatore Sc. CC-1 CFS 17.30 CFS 17.3	398		Erode	Rural	70	Open CC-2	DODO	-	35	35		25	60	DOL	5	4
On Avaranguppam Road and Ramanaikenpet Road between Sri Puthumariamman temple (Thekkupattu), Tirupathur Rural 120 SC CC-1 CFS 17.30 DOL - 2	399		Coimbatore	Rural	70	OBC CC-1	DODO	-	35	35	1225	25	60	DOL	5	3
	400		Tirupathur	Rural	120	SC CC-1	CFS	17.30	35	35	1225	-	-	DOL	-	2

^{*} Rentals shown under 7A are only for CFS type of sites. There will be 2% increase in rentals every year till the period of lease.

[#] Volumes Indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of the potential

^{**} The site should be either owned or on lease with the applicants for minimum 19 years and 11 months or the applicant should have firm offer for the land as on date of application Sites offered against "Rural" type of ROs should not be on National/ State Highways or within Municipal/ Town/ Corporation limits

The site offered should be having depth as indicated above after setting of the designated Right of Way (ROW) and there should not be any other land in between the site offered and ROW

Finance to be arranged by applicants (under column 9A and 9B) is based on MRPL assessment at prevailing rates. The applicants are advised to make their own assessment of the same before applying.

The explanation for the columns is provided in the brochure which also contains the detailed guidelines of selection for dealership along with other relevant details

The brochure can be downloaded from MRPL website at www.mdsp.co.in

The application along with the fees (as applicable) needs to submitted online on the portal www.mdsp.co.in

Any changes or amendments in the advertisement will be published only in corrigendum available in website www.mdsp.co.in

APPLICANTS IN THEIR OWN INTEREST SHOULD CAREFULLY GO THROUGH THE BROCHURE AND UNDERSTAND THE CONDITIONS FOR SLECTION BEFORE SUBMITTING THEIR APPLICATION

Applications should be submitted online on or before 23:59 hrs on 30-10-2023

Category wise non-refundable application fee payable

Type of RO	Category	Application fee in Rs	Type of RO	Category	Application fee in Rs
	SC/ST	3000		SC/ST	2500
REGULAR	OBC	5000	RURAL	OBC	4000
	Open	10000		Open	8000

The tenure of dealership will initially be for a period of 10 years and will be renewable every 5 years there on.

MRPL reserves the right to cancel / withdraw / amend or extend the due date at its sole discretion without assigning any reason. In case of any discrepancy in advertisement published in vernacular dailies vis a vis English Newspaper, the direction / information indicated in English will prevail.